Machine Tools price

PO1.

Linkedin

AYRAIX ,Ap'o

E-mail:eva@mzgtool.cn

Scanning, Contact Us

B N—
Carbide Milling Cutter P1 6

7> N19n097NN M9 1IN/ 7172 N u

External Cylindrical/Inner Hole ani+3 s

P0O2.

0n T3P vInY Segpey——— P1 7.

Cemented Carbide Cutter

Groving / Cut-Off wsw
Grooving/Cut-Off Turning Tool ’,

PO3.

Wpn Nanan 7Iiny EEE——

Extrusion Screw Tap

NIMA M9 1IN/ 0o qlo
End Face/lnner Hole mmm

P04.

CNC 75 n7y9n .
* CNC Turning Tool ;

PO5.

CNC 75 '77n n7uon i ﬁ/@(
* CNC Turning Tool Parts i“

P0G.

Upn Op9''N "
o—— T
,IAlpex ITap ————— P1 9
n71190 TeeS——
SpiralI Grooved Tap PZO
4 1T
nm7mny/upn T 5 N
Hand Tap/CircuIIalr Die =i P21 -

BAP nin ynin nhwr nit N é
BAP Cut right right —

PO7.

s ccwmT.

P22.

S
Machine-Clamped NN qrn JIN'N 7Y ‘gmy &

CNMG.. Machine-Clamped Round Nose Milling Cutter %
P08' , DCMT DNMG.. P23' !M‘]Z.. SEHT.. &239 P3200..
Pog u P24 ININ WU 210 N7V NN ANTEN N90IN 10
) SCMT SNMG.. *  Locking Tooth Type Cutte Insert Type Quick Dr|||

P10.

TPGT.. ‘ TNMG.. P25

opnywn 7> \ﬁf
Boring Tool i." /ﬁ/ﬂ,’?nr

P11.

VNMG..

P26.

Dnywn ' 2'tNn $
Boring Tool Holder

P12.

WNMG..

P27.

ER.. @ ‘FMA/B. . i

P13.

uin
Thread Turning Tool A P28

GSK.v a’-\DS. X APU. ’

P14.

)

D10 D'P7N ND'ON AATN/2MNa/ T ‘ P29
Cut-Off/Grooving/Back Turning Of Small Parts .

CNC parax jp'tnn ' % ‘?i
CNC Tool Holder Accessories o &

P15.

2 1xn P3O
External Cylindrical GroovingCylindrical Grooving Turning Tool -

p'tax nvinn Chuck 3 ; \... 2
Lathe Chuck Accessories nb @ w

.NIXN "7) TIA'Y N IN 1T A7NWN L0101 ,11a'0 ixen
illi Threadingand.Boring Hole Processing Tool Configuration.



mailto:eva@mzgtool.cn

ININ DIOYD TNy

Carbide Milling Cutter

qINNY 2150 9 AINY | JInnY 7150 9y nwina INNY 715 19 NINY 112 INNY 712 NWINI 119X 112 2120 19X 21D 1M
45 nnnn nT79HRC 55 nnnn nT79HRC 58 nnnn nT79HRC 60 nnnn nT79HRC 65 nnnn n179 MHRC
D1IEID Black Coatings Can Cut | Copper Coatings Can Cut Nano Black Coatings Can Cut Nano Copper Coatings Can Cut Nano Blue Coatings Can
L1 L ‘ Steel Below 45 HRC Steel Below 55 HRC Steel Below 58 HRC Steel Below 60 HRC Cut Steel Below 65 HRC
R ~R »R ~R »~R R
omm— ] i AL
P | W J ¢ | 6
A A
L1 21w niPaY 1wy N1IW NI'YR DY ANIN D107 YU K.
Right-Angle Ball End
Milling Cutter Milling Cutter A
D1 L1 DL RL1IDL
1. 0x3xD4x50 | RO. 5x2xD4x50 2.0 2.6 2.7 3.1 4.6 5.1 5.1 57|57
1. 5x4xD4x50  |RO. 75x3xD4x50 2.0 2.6 2.7 3.1 4.6 5.1 5.1 57|57
2. 0x6xD4x50  |R1. 0x4xD4x50 2.0 2.6 2.7 3.1 4.6 5.1 S| 5.7 5.7
2. 5x8xD4x50  |R1. 25x5xD4x50 2.0 2.6 2.7 ] 3.1 4.6 5.1 5.1 5.715.7
3. 0x8xD3x50  |R1. 5x6xD3x50 20| 2.6 2.7 | 3.1 4.6 5.1 5.1 57|57
3. 0x12xD3x75 |R1. 5x6xD3x75 3.1 139 441 5.1 7.1 7.7 7.7
3. 0x15xD3x100 |R1. 5x6xD3x100 3.6 | 4.4 50( 5.6 8.7 8.7 8.7
3. 0x8xD4x50  |R1. 5x6xD4x50 20 2.6 2.7 3.1 4.6 5.1 5.1 5.7 5.7
3. 5x10xD4x50 |R1. 75x7xD4x50 2.0 2.6 2.7 ] 3.1 4.6 5.1 5.1 5.715.7
4. 0x10xD4x50 |R2. 0x8xD4x50 1.712.6]1 341273114944 46] 6.0 6 6.7 5161|5651 [61]57]|57]|76
4. 0x20xD4x75 |R2. 0x8xD4x75 22913.6|50[44]51] 61 711 7.9 66816781 7.7|7.7]8.7
4. 0x25xD4x100 |R2. 0x8xD4x100 3.3141)164]150)5.4]|77 7.6 1 9.0 7.8 19.117.9(19.1]18.7]8.7]10.0
5. 0x13xD5x50 |R2. 5x10xD5x50 3.7 147 6947|5677 8.1(9.3 9.5 [11.6( 9.6 [11.6[10.7]10.7(12.3
5. 0x13xD5x75 |R2. 5x10xD5x75 5361 7.7(7.4(81(91 11.3113.5 13.0113.0]14.7
5. 0x13xD5x100 [R2. 5x10xD5x100 | 6.6 | 7.6 [ 11.0[ 8.9 | 9.6 | 11.1 13.0(15.7 15.3116.3|17.1
5. 0x13xD6x50 |R2. 5x10xD6x50 3.7143)6.4]|147)157]|8.4 8.1[19.3 9.5 111.6] 9.6 111.6[10.7]10.7]12.3
6. 0x15xD6x50 |R3. 0x12xDéx50 3114364475784 7.4]181]93]|94]10.5]9.5(|11.6]|9.6]11.6]110.7]10.7]12.3
6. 0x20xD6x75 |R3. 0x12xD6x75 4.9 (56| 7.1(7.4(8.1([10.0 11.1(12.4 11.4(13.6(11.4(13.6[13.0|13.0(14.7
6. 0x30xD6x100 |R3. 0x12xD6x100 | 6.0 | 7.0 | 10.3| 8.9 | 9.6 | 11.4 13.6[15.0 13.4116.3]113.4116.3(15.3|15.3|17.3
6. 0x30xD6x150 [R3. 0x12xD6x150 | 12.3 | 14.3[18.7[18.7[19.9]23.4 27.6 26.5 26. 6 26.3126.3]129.7
8. 0x20xD8x60 |R4. 0x16xD8x60 5.9 7.6 [10.4( 8.4 (10.0(13.3| 13 [13.9[15 15.3(16.5(15.3(18.4(15.3(18.4[17.6|17.6(20.3
8. 0x25xD8x75 |R4. 0x16xD8x75 8.1(9.4(11.6({11.0(12.4{15.3 17.6119.3 17.7(21.1(17.7(21.1120.0|20.0(22.6
8. 0x35xD8x100 [R4. 0x16xD8x100 | 9.6 | 11.1[14.0[14.0[15.4|19.6 21.412 22.1126.6122.1|26.6125.0]25.0|28.7
8. 0x40xD8x150 |R4. 0x16xD8x150 | 19.0|22.129.0|25.9|27.3|32.3 35.4 37.1 37.1 41.0141.0]45.0
10x25xD10x75 |R5.0x20xD10x75 | 9.6 | 12.7|16.6]115.1]|16.6|21.6|21.4123.3|25.7(24.3|26.2(24.7]30.3(24.7|30.3(27.7(27.7{32.0
10x40xD10x100 |R5. 0x20xD10x100| 14. 6| 16.9 | 21.0]20.3|21.3 | 29.1 30.3(33.1[32.5|34.8(31.3|37.4(31.3|37.4(31.7(31.7(37.3
10x45xD10x150 |R5. 0x20xD10x150| 28. 1 | 32.9 | 41.7]39.4|41.7148.3 56. 1 54.4 54. 4 54.7154.7]163.0
12x30xD12x75 |R6. 0x24xD12x75 | 14.9|17.4122.0121.1|23.3|28.7|28.3]33.1|36.4(32.9|35.5(32.6|39.4(32.7|39.4(37.0(37.0(42.0
12x45xD12x100 |R6. 0x24xD12x100| 19.4 | 22. 6| 28.1(27.7|28.7|37.0 40.4144.5(48.6(52.4143.5|47.3143.6|47.3(47.0147.0153.0
12x50xD12x150 |Ré. 0x24xD12x150| 34. 3 | 40.0 | 50.7]49.3|52.160.3 72.9 70.7 70.7 77.6177.6]85.6
14x35xD14x80 |R7.0x28xD14x80 | 25. 6| 29.7 32.3]34.1 49.3 54.3| 58
14x40xD14x100 R7. 0x28xD14x100| 27. 1 | 31.7 34.6]38.0 52.9 54.4 54.4 61.0|61.0(70.6
14x60xD14x150 |R7. 0x28xD14x150| 49. 6 | 57. 9 64.6] 68.3 95.4 91.2 91.1 100. 6|100. 6
16x40xD16x100 R8. 0x32xD16x100| 35. 7 | 38. 9 51.0153.0 63.6174.0 67.4) 73 [72.8 72.9 78.7(78.7(91.3
16x65xD16x150 |R8. 0x32xD16x150| 63.3 | 73. 9 86.0/91.0 129.0 116.3 116.3 127.6|127. 6[143.0
18x40xD18x100 |R9. 0x36xD18x100| 43. 3 | 50. 4 59.1165.1 89.7 82.3]|87.9188.4 88.4 96.7196.7(111.3
18x65xD18x150 |R9. 0x36xD18x150| 74.9 | 86. 7 101.3]101. 3 148. 1 153.1 153. 1
20x40xD20x100 [R10x40xD20x100 | 52. 7 | 57. 6 73.1175.9 95.3(106.7 93.51102.9|105. 5 105. 4] 115.7|115.7(133. 7
20x65xD20x150 |R10x40xD20x150 | 86. 3 |100. 7 126.11126.1 168. 3 180. 3 180. 3 196. 3]196. 3|1220.0

55 ° nIN 7' 910 NIVY NIVY K7 NIAYY AT 55 ° ANIN 910 1NN 910 N'VITIVO X7 NINWY ATIFY NIN AN QIO NILY YK IXIIY |07 017 NN Q10 910 INIIY YK (07 V017
55° Decimal Point Non-Standard Flat-End Milling Cutter ~ 55° Decimal Point Non-Standard Ball End Milling Cutter 60 nnnn nT79 M7 INHRC 60 nnnn nTY9 A7 INIHRC

e Small Diameter Long Neck Flat-End Milling Cutter Small Diameter Long Neck Ball-End Milling Cutter
mE m ‘ Can Cut Steel Below 60 HRC , Can Cut Steel Below 60 HRC ,
: e y . 4 o
T RL& Efq’ —[D=4mm
S— il o
p— !

(bla1>)4] R DL 2nn 09N R DL 2nn L=50mm

D1. 1-D3. 9xD4x50 4.3 RO. 6-R1. 9xD4x50 4.7 L1 AL 191y
D4. 1-D5. 9xD6x50 6.9 1Y% 09N NN 22 RO. 1mm
D6. 1-D7. 9xD8x60 12.4 "RO.5-R1. 5xD4x75 6.9 0.3 4.6 .3 0.3 |2/3/4 4.6 5.3
D8. 1-D9. 9xD10x75 20.4  R0.5-R1.5xD4x100 7.6 0.4 | 2/3/4/5/6 4.6 5.3 0.4 | 2/3/4/5/6 4.6 5.3
D10. 1-D11. 9xD12x75 29.0  RO.5-R2. 0xD6x50 7.6 0.5 | 2/3/4/6/8 4.6 5.3 0.5 | 2/3/4/6/8 4.6 5.3
7'¥2 0190 NINNA 7 0. fmm RO. 5-R2. 5xDé6x75 10.7 0.6 |2/3/4/6/8 4.6 5.3 0.6 | 2/3/4/6/8 4.6 5.3
D1. 0-D3. 0xD4x75 6.0 RO.5-R2. 5xD6x100 12.6 0.7 |3/4/6/8/10 4.6 | 5.3 0.7 |3/4/6/8/10 4.6 | 5.3
D1. 0-D3. 0xD4x100 6.4 4iyv vron ninA ¥ Ro. 25m 0.8 | 3/4/6/8/10 4.6 5.3 0.8 | 3/4/6/8/10 4.6 5.3
D1. 0-D4. 0xD6x50 6.4 Rax120 20.7 0.9 |3/4/6/8/10 4.6 | 5.3 0.9 |3/4/6/8/10 4.6 | 5.3
D1. 0-D5. 0xD6x75 9.6 R4x200 43.6 1.0 | 6/8/10/12/15/20| 3.9 | 4.6 1.0 | 6/8/10/12/15/20| 4.6 | 5.3
9.190—05. OXD?XWO 1.9 R5x120 32.4 1.5 | 6/8/10/12/15/20| 3.9 4.6 1.5 | 6/8/10/12/15/20| 4.6 5.3
D;XBED)?SIZ)MDH 20 5m 77 R5x200 40. 3 2.0 | 8/10/12/15/20 3.9 4.6 2.0 | 8/10/12/15/20 4.6 5.3
D4x15xD4x50 40 R6x120 42. 6 2.5 | 10/12/15/20 3.9 | 4.6 2.5 | 10/12/15/20 4.6 | 5.3
Déx20xD6x50 6j 9 R6x200 86.9 ggm_nﬁ,n BwalhERnCd IMnY Y15 ANIN 01015 ANIN NI'NV 910 NIVY X 712V VK IRNY [OF V0IP
R8x200 154.7 \c?g-n?a%reger all-En illing Cutter Can Cu Small Diameter Long Neck Round Nose Flat End Milling Cutter
ggﬁgiggi?go ;8171 R10x200 222.9 Stco BolowsoHRE T o G e eut Rl -‘iof
D8X200 43. 6 7IMNY? N3 D101 YXI7 910 NIVY 0IRP-NP'M i + < L1 > E“SOrﬁm *4mm
D10x30xD10x75 20.4 V?A?CT:QPD?aT;;?e'—r';R:\CaI-End Milling Cutter Can Cut R*:. - TD=4mm D1 R L1 ﬂ‘ "
D10x35xD10x75 20.4  SteelBelow 60 HRC n PN =50mm t DR
D10x50xD10x100 26.1 D1 T i) D=4mm ' ' D1RO. 1 4/6/8/10 10.3
D10x45xD10x120 32.4 AL L=50mm [y D1RO. 2 4/6/8/10 10.3
D10x200 64.3 - - D1.5R0. 1| 6/8/10/12 10.3
D12x35xD12x75 27.4 D1.5R0. 2| 6/8/10/12 10.3
D12x50xD12x100 34.7 D2RO. 1 8/10/12/16 10.3
D12x45xD12x120 42.9 0. 3xD4x50 4.6 5.3 RO. 15xD4x50 5.3 5.4 D2RO. 2 8/10/12/16 10.3
D12x200 86.9 0. 4xD4x50 4.6 5.3 RO. 2xD4x50 5.3 5.4 D3RO. 2 12/16/20 19.3
D13xD14x100 54.7 0. 5xD4x50 4.6 5.3 RO. 25xD4x50 5.3 5.4 D3RO. 5 12/16/20 19.3
D15xD16x100 66.7 0. 6xD6x50 4.6 5.3 RO. 3xD6x50 5.3 5.4 D3RO. 5 26/30 24.6
D16x50xD16x100 63.1 0. 7xD6x50 4.6 5.3 RO. 35xD6x50 5.3 5.4 D4RO0. 2 16/20 19.3
D16x200 154.7 0. 8xD8x50 4.6 5.3 RO. 4xD8x50 5.3 5.4 D4R0. 5 16/20 19.3
D20x200 222.9 0. 9xD8x50 4.6 5.3 RO. 45xD8x50 5.3 5.4 D4R0. 5 26/30 24. 6

1'mT,n72n M7 7710 1'K 1'nn 7yn.
['02 1'NN DOV YIT MIEn 17T
2"NIT N7W XIX ,NI7NY 17 W' DX: eva@ngtool.cn htth//WWW-mZg.tW


http://www.mzg.tw

0'In TP vIny

Cemented Carbide Cutter

ANin DIoNd DI/ 7' "X T'N' NX?  3-Edged Taper [002110 212y nin nin
Single- EdgeAcryIlc/AIumlmum M|Il|ng Cutter 77N ATIEAMNT 7>t AT7e - HRC

NT79 jvoaw T-Groove D101 TY
o\ D1 Cutter 55 nnnn 07179 a7 71>'HRC
..< D Tungsten steel T-Groove Side Milling
3-Edged Taper Milling Cutter For Tungsten t—* PI Cutter Can Cut Steel Below 55 HRC
Steel can cut steel underneath - HRC

Duj'%—:-W o2
D1Em— D p— - — -
L1 L D1 a° L1D2D L 3F usD D1 a° L1 D2D L 3F UsD o'TRn 1'An
D1x0. 5°x4LxD1. 07xD4x50Lx3F | 6.9 D4x0.5°x15LxD4. 26xD6x50Lx3F |11.9 D1IR D L usD
D1x1°x4LxD1. 14xD4x50Lx3F 6.9  D4x1°x15LxD4. 52xD6x50Lx3F 11.9 D4x0. 5HxD1. 5xD6x50 | 6.4
D'TAN AL D1x1.5°x4LxD1. 21xD4x50Lx3F | 6.9 D4x1.5°x15LxD4. 79xD6x50Lx3F |11.9 DAx1HxD1. 5xDé6x50 6.4
[EEUCICTNLCIELLIPARNRIN D1 x2°x4LxD1. 28xD4x50Lx3F 6.9  D4x2°x15LxD5. 04xD6x50Lx3F 11.9 D4x1.5HxD1.5xD6x50 | 6.4
D1 L1 DL D1x3°x4LxD1. 42xD4x50Lx3F 6.9 D4x3°x15LxD5. 57xD6x50Lx3F  |11.9 DAx2HxD1.5xD6x50 | 6.4
D1x5°x4LxD1. 7xD4x50Lx3F 6.9 D4x5°x15LxD6. 62xD8x60Lx3F 18.1 D4x3HxD1. 5xD6x50 6.4
D2x6xD3. 175x50 2.0 D1. 5x0. 5°x5LxD1. 59xD4x50Lx3F| 6.9 D4x8°x14. 93LxD8xD8x60Lx3F 18.1 D6x0. 5HxD2. 5xD8x50 | 10. 4
D2x8xD3. 175x50 2.0 D1.5x1°x5LxD1. 67xD4x50Lx3F | 6.9 D4x10°x15LxD9. 29xD10x75Lx3F |28.9 Déx1HxD2. 5xD8x50 10. 4
D2x10xD3. 175x50 2.0 D1. 5x1. 5°x5LxD1. 76xD4x50Lx3F| 6. 9 D4x15°x14. 93LxD12xD12x75Lx3F|39. 6 D6x1. 5HxD2. 5xD8x50 | 10. 4
D2x12xD3. 175x50 2.0 D1. 5x2°x5LxD1. 85xD4x50Lx3F | 6.9 D6x0. 5°x20LxD6. 35xD8x60Lx3F |18. 1 D6x2HxD2. 5xD8x50 10. 4
D2x22xD3. 175x50 2.0 D1. 5x3°x5LxD2. 02xD4x50Lx3F | 6.9 D6x1°x20LxD6. 7xD8x60Lx3F 18.1  D6x3HxD2. 5xD8x50 10.4
D2. 5x8xD3. 175x50 2.0 D1. 5x5°x5LxD2. 37xD4x50Lx3F | 6.9 D6x1. 5°x20LxD7. 05xD8x60LxX3F |18. 1  D8x0. 5HxD3. 5xD8x60 | 16. 9
D2 5x15xD3. 175x50 | 2 0 D2x0. 5°x6LxD2. 1xDAx50Lx3F | 6.9 D6x2°x20LxD7. 4xD8x60Lx3F |18 1 D8xTHxD3.5xD8x60 | 16.9
D2. 5x22xD3. 175x50 2.0 D2x1°x6LxD2. 21xD4x50Lx3F 6.9 D6x3°x19LxD8xD8x60Lx3F 18.1 D8x1.5HxD3. 5xD8x60 | 16. 9
D3. 175x12xD3. 175x50 | 2.0 4.0 4.3 D2x1.5°x6LxD2. 31xD4x50Lx3F | 6.9 D6x5°x20LxD9. 5xD10x75Lx3F 28.9 D8x2HxD3. 5xD8x60 16.9
D3. 175x15 D3- 175x50 2' 0 4' 0 4' 3 D2x2°x6LxD2. 41xD4x50Lx3F 6.9 D6x8°x20LxD11. 62xD12x75Lx3F (39. 6 D8x3HxD3. 5xD8x60 16.9
. KRR > : : : D2x3°x6LxD2. 62xD4x50Lx3F 6.9 D6x10°x17LxD12xD12x75Lx3F 39.6 D10x0. 5HxD4xD10x75 | 24. 6
D3. 175x17xD3. 175x50 | 2.0 | 4.0 | 4.3 py,5ox6l xD3. 05xD4x50Lx3F | 6. 9 DBx0. 5°x25LxD8. 44xD10x75Lx3F|28. 9 D10x1HxD4xD10x75 | 24 6
D3.175x22xD3.175x50 | 3.1 | 4.3 | 47 D3x0. 5°x10LxD3. 17xD4x50Lx3F | 6.9 D8x1°x25LxD8. 87xD10x75Lx3F |28.9 D10x1. 5HxDAxD10x75 | 24. 6
D3. 175x25xD3. 175x50 | 3.4 | 4.3 | 4.7 D3x1°x10LxD3. 35xD4x50Lx3F | 6.9 D8x1.5°x25LxD9. 31xD10x75Lx3F|28. 9 D10x2HxD4xD10x75 | 24. 6
D3.175x28xD3.175x50 | 3.9 | 5.7 | 6.1  D3x1.5°10LxD3. 52xD4x50Lx3F | 6.9 D8x2°x25LxD9. 74xD10x75Lx3F |28.9 D10x3HxD4xD10x75 | 24. 6
D3. 175x32xD3. 175x50 | 4.0 6.4 6.9 D3x2°x10LxD3. 69xD4x50Lx3F 6.9 DB8x3°x25LxD10. 62xD12x75Lx3F |39. 6 D12x0. 5HxD5xD12x75 | 31.9
D3. 175x42xD3. 175x60 | 7.9 9.3 9.7 D3x3°x9. 5LxD4xD4x50Lx3F 6.9 DB8x5°x22.8LxD12xD12x75Lx3F |39. 6 D12x1HxD5xD12x75 31.9
D3. 175x52xD3. 175x70 | 10.3 | 12.1 | 12.6 D3x5°x10LxD4. 75xD6x50Lx3F 1.9 D12x1. 5HxD5xD12x75 | 31.9
D4x12xD4x50 4.7 5.4 6.1 D3x10°x10LxD6. 53xD8x60Lx3F |18. 1 D12x2HxD5xD12x75 31.9
D4x15xD4x50 4.7 | 5.4 | 6.1 D3x15°x13. 06LxD10xD10x75Lx3F|29. 0 D12x3HxD5xD12x75 31.9
D4x17xD4x50 4.7 5 4 6.1 n'm1ao nwﬁsliuo:)lL;R 11:;;8)'nu gw)mégomo n1‘7: grov?7 SIO?—I)RC AW a2 N TYO (VoA
55 nnnn nT79 A7 N utter nnnn NT79 T 72100 nin Chamfer n179 2ta%7 7100
gii%gigiigg g ; g 471 2 21 Tungsten steel Inner R Milling Cutter Tungsten steel Dovetail Groove Milling ga 1707HRC (60 ° /90 ° /120 °)
. . . Can Cut Steel Below 55 HRC Cutter Can Cut Steel Below 60 HRC Tungsten steel Straight Groove
D4x28xD4x50 6.0 7.1 7.9 (Uu Chamfer Cutter Can Cut Steel
D4x32xD4x50 6.4 |86 |93 R-, D S0 4P2 Below 58 HRG(605/90°/120°)
Dax42xDAx60 10.3 [12.1 [12.9 D@-ﬁ—-—"—-’”@ o1} %—ID . (3
D4x52xD4x70 13.3 [17.1 |17.9 —Lt o R ) :
D6x12xD6x50 9.3 [10.0 | 11.4 . . , — eI
D6x15xD6x50 9.3 |10.0 [11.4 n'Tnn 2NN n'Tnn a'nn \ L |
D6x17xD6x50 9.3 [10.0 | 11.4 — K — X KX XX —
D6x22xDéx50 9.3 110.0 [11.4 D4R0. 5xD4x50 6.7 D4x90°xD1. 5x6xD4x50 D'TNn o'y
D6x25xD6x50 9.3 110.0 1 11.4 D4R0. 75xD4x50 6.7  D6x90°xD2. 5x8xD6x50 | 10. 4 D L
D6x28xD6x50 1.1 1121 113.6 D4R1. 0xD4x50 6.7  DBx90°xD3x6xD8x50 16.9  D1xD4x50L 46150
D6x32xD6x50 11.1112.9 114.3 D6R1. 0xD6x50 11.9  D10x90°xD4x10xD10x60 | 24. &6 D2xD4x50L 4.6 5.0
D6x42xD6x60 15.7 (17.7 | 19.3 D6R1. 5xD6x50 11.9  D12x90°xD5x12xD12x60 | 31.9 D3x50L 46150
D6x52xD6x70 20.3 122.3 | 25.7 D6R2. 0xD6x50 11.9 D4x50L 4.6]5.0
D6x62xD6x80 25.0 |132.1 133.6 D8R2. 0xD8x50 20.0 D5x50L 8.6]9.3
D6x72xD6x90 31.4139.3 140.7 D8R2. 5xD8x50 20.0 D6X50L 8.69.3
D8x20xD8x50 19.7 133.3 [ 42.6 D8R3. 0xD8x50 20.0 D8x60L 13.6|14.3
D8x32xD8x50 19.7133.3 | 42.6 D10R4. 0xD10x60 29.1 D10x75L 20.0(21.1
D10x20xD10x50 35.3135.7 149.3 D12R5. 0xD12x60 40. 1 D12x75L 26.9(27.9
D10X32XD1 OXSO 35 3 35 7 49 3 |U02110 N12Y ANIN DI0YD TNI'M n719> nNTEN ATIRI VAR nT79 [LeleRbllv]
D12x20xD12x50 46.9 50.0 53.6 nMaon Nin% NdI9N oI NT79 I NTI71 yiap win'w Chamfer 1irae 7150
D12x32xD12x50 46.9 50.0 53. 6 55 nnnn nT79 na? ;InaHRC 58 nnnn nT79HRC
Special Milling Cutter for Tungsten |00OA1IV NT79 Fixed-point Drill Dual
Spiral-Edged n179 juoxiv Reamer ninTen nT79 00211V NT79 72 |01V Steel Inverted Cone Die Frame Use Of Fixed Point And Chamfer Can Cut
55 nnnn nT79 M7 ;INaHRC Can Cut Steel Below 55 HRC Steel Below 58 HRC
Spiral-Edged Tungsten steel Reamer Tungsten Steel Drills Tungsten Steel Bar
Can Cut Steel Below 55 HRC D1IWID o b
e —
s >ﬁ-§§:$o H i
R k d
Dl L reidSses 3 J "
D1 L1DL
D3x50xD3x100Lx4T | 7.6 prton V'NRE DU SN D4x15xD4x50 4.0
D4x50xD4x100Lx4T | 8.1 UsD DL CEPEETERE  Dx30xD6x100 11.1
D5x50xD5x100Lx6T 1.1 D1.0-D1.5 1.9  D3x100L 2.4] 3.6 D8x30xD8x60 12.1
D6x50xD6x100Lx6T | 13.3  D1.6-D2.0 2.4 D4x100L 3.91 6.0 D10x30xD10x75 20. 4
D8x50xD8x100Lx6T | 21. 1 D2.1-D2.5 2.6 D5x100L 6.1 7.4 D10x45xD10x100 26.1  D1xD4x50L 3.3(3.9
D10x50xD10x100Lx6T | 30. 7 D2. 6-D3. 0 3.3 Dé6x100L 7.4 18.6 D12x35xD12x75 27.1 D1.5xD4x50L 3.3] 3.9
D12x50xD12x100Lx6T | 40. 7 g’;‘. l—gi. g j. g 3%1?8{3'_ 12? i g; :1 D12x50xD12x100 34.7 D2xD4x50L 3.3|3.9
. 0~ 5 . X . .
NT79 JvoxL Ni¥p "W Reamer  pg 1-p4. 5 5 4 D12x100L 31.11 46.9 D16x50xD16x100 57.9 ggi?géfOL 2 f 2 g
55 nnnn aT79 a7 |INHRC D4. 6-D5. 0 6.9 17 w3 779 0% 0 e D4x50L 33|39
ggs\\gm SEiQ:IEé;;uOFESST;ERSéee‘ Reamer gg 16_32 g ; Z Chamfer 58 nnnn n779 a7 1>HRC ggi;gEL 2 (1) 2 Z
I EE——=————uD D6.1D65 11.1 Dril Dual Use Of Fxed bt And - D5x100L 12.1[12.9
D1 L1 L ‘ D6 6_D7 0 12 9 Chamfer Can Cut Steel Below 58 HRC DéX5OL 6 O 6 4
, ; D7.1-D7.5 16.9 5’ D g0 D6x100L 12.1112.9
D'Tn D7. 6-D8. 0 18.9 D8x60L 11.1(12.1
D1 L1 DLT D D8. 1-D8. 5 22. 4 D8x100L 19.0(20.0
D3x50xD3x100Lx4T 6.0 D8. 6-D9. 0 24.7 D10x75L 18.9119.3
D4x50xD4x100Lx4T 6.4 D9. 1-D9. 5 28.3 UBINE D10x100L 27.1128.3
D5x50xD5x100Lx6T 8.9 D9. 6-D10. 0 30.7 D12x75L 25.4(27.1
D6x50xD6Xx100LXx6T 9.6 D10. 1-D10. 5 35.7 D3x100L-DB 7.4 8.1 D12x100L 37.9138.9
D8x50xD8x100Lx6T 14. 6 D10. 6-D11.0 37.4 D4x100L-DB 7.4 8.1 D14x100L 51.4|52. 6
D10x50xD10x100Lx6T | 22. 1 D11.1-D11.5 46.0 D5x100L-DB 14.3115.0 D16x100L 64.0(65.7
D12x50xD12x100Lx6T | 30. 0 D11.6-D12.0 50.0 D6x100L-DB 14.3115.0 D20x100L 94.6|96.9

1T ,n7amn T 270 ')k nn un.
['021'NN NPoY Y7IT MIEn 71T,

2"X1T NYw KIX ,NI7RW 17 W' or: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

YUpPN NaNan 7Ny
Extrusion Screw Tap

vUin nanan YINY IDYUKR xNY'09 x 1IN 0T eI |3|7 IDYUKR xNY'0D xIN

o prT o NNy 127
Extrusion Screw Tap UL L 90

=

(/D'1'Y \197)

M3. 0x0. 35 RH6 | B 71 17.9  M4x1.0 RH8 | B 26.1 | 28.9
M3. 0x0. 5 RH4 | P 4.7 | 5.4 M14x1.25 RH8 | B 26.1 | 28.9
RH4 | B 47 |54  M4x1.5 RH8 | B 26.1 289
RH5 | P 47 |54 M4x2.0 RH8 | B 26.1 |28.9
RH5 | B 4.7 |54 "MI6x1.0 RH8 | B 34.0 | 37.1
A RH6 | P 4.7 | 5.4 Mi6x1.25 RH8 | B 34.0 | 37.1
B e - RH6 | B 4.7 | 5.4 M6x1.5 RH8 | B 34.0 | 37.1
Tin RH7 | P 4.7 | 5.4  MI6x2.0 RH8 | B 34.0 | 37.1
DYUK xNY'09 xMIN ., ; i RH7 B 4.7 | 5.4
e L R e RH8 | B 47 | 5.4  UNFO-80 RH4 | P 57 | 6.1
RH9 | B 4.7 | 54 RH4 | B 57 | 61
MO. 5x0. 125 RH2 | B 11.0 | 11.9
M3. 0x0. 5-80L 8.9 UNCT—64 RA4 | B 57 61
mg %8- }?5 Eﬂg g 3 g ]8 8 M3. 0x0. 5-100L 9.7 [10.4 UNF1-72 RH4 | B 7.4 | 7.9
ho- 0.2 e 23 1100 M3 0x0.5-150L 17.6 | 18.3  TUNC2-56 RH4 | P 57 161
MOI 9x0. %5 RH4 B 6: 7 7: 4 M3. 0x0. 5Lo'1'w J1pnRH6 B 6.7 7.4 RH4 B 5.7 6.1
1. 0x0. 25 RR4 | P 53 [ 60  M3.5x0.6-100L 9 o[04 RHS | P 576t
: : RH4 B 5: 3 6: 0 M3 5x0._4L 01w -\I|-,nRH6 B 6.7 | 7.4 RH5 B 5.7 | 6.1
R 23100 Waoxo.3s RH6 | B 71 [ 7.9 UNC2-56-100L 10.0 | 10.7
: : RH6 | B 71 | 7.9 UNF2-64 RH5 | B 6.7 1 7.9
RH5 | B 5.3 | 6.0 M4.0x0.5
RE RS TR ey | B\t | 475 e mele Tered
T 7075 Eﬂj E ;; Z-g RH6 | P 4.7 | 5.4 UNC4-40 RH5 | P 4.7 |54
- 2x0. : : RH6 | B 4.7 |54 RH5 | B 4.7 | 5.4
Eng E 2 g 2- 8 RH7 | P 4.7 | 54 RH6 | P 4.7 | 5.4
i I 23000 RH7 | B 4.7 |54 RH6 | B 4.7 | 5.4
- - RHS | P 4.7 | 54 RH7 | B 47 |54
m 328- g Enj E ; ; Z- g RHS | B 4.7 | 5.4  UNC4-40-100L 10.0 | 10.7
- 4x0. : : RH9 | B 4.7 | 5.4 UNF4-48 RH5 | P 7.4 | 7.9
E:g E g g 2 8 M4. 0x0. 7-80L 8.9 9.7 RH5 B 7.4 7.9
RH5 | B 53 |60 X
M1. 4x0. 3-80L 9.7 110.4  M4.0x0.7-150L iyes | 18.3 RHS | B s 6.0
e Eﬂj - H ;-Z M4.5x0. 5 RH7 | B 57 169 TUNC6-32 RH5 | P 47 5.4
JOX : : M XY RH6 | B 7.4 183 RH5 | B 4.7 | 5.4
RH4 | B 71 1 7.9 W5.0x0.35 e | B 21 lels N | p R
M1. 6x0. 35 RH4 | P 53160 M5.0x0.5 : ' : '
iR 2471 6.0 N RH6 | P 53 | 61 RH6 | B 4.7 | 5.4
RHS | P 5.3 | 6.0 o E:g E gg 2'1 UNG6-32-100L R B 1% 7o 150 47
W1 640, 35-80L RSN B >3 155 RH7 | B 53 | 61  UNF6-40 RH6 | P 6.7 | 7.4
M. 0.3 cie s U RH8 | B 53 | 61 RH6 | B 6.7 | 7.4
- 7x0. : : 9.3 [10.3 TUNC8-32 RH6 | P 50 |57
M1. 7x0. 35 RH4 | P 53 |60 M5 0x0.8-80L
RH4 | B 53|60 M5 0x0.8-100L 10.0441.0 Rio | B 50 &F
: : -Gl 18.3 [19.3 RH7 | P 50 |57
RH5 | P 53160 M5 0x0. 8-150L w6 | B X8 v | s 2o |2y
RH5 B 5.3 6.0 M5 0x0-8to e o - - ) )
i 802 B2 >3 . 6.0 TOTR7 | B 74 183  UNG8-32-100L 10.0 | 10.7
- B, : : M6. 0x0. 5 RH7 | B 7.4 183  UNF8-36 RH7 | B 7.4 | 8.1
1. 8x0. 35 RH4 | P 5.7 1 6.7 M6.0x0.75 RH6 | P 53 | 6.1  UNS8-40 RHG6 | B 7.4 | 8.1
S Eﬂj E ?? g-; M6. 0x1. 0 RH6 | B 53 |61 TUNC10-24 RH6 | P 53160
- 0x0. - : RH7 | P 53 | 61 RH7 | B 53 |60
12, 0x0. 4 Enj E Z; gz 2:575 E gg 2_1 UNC10-24-100L i | 170.10 181.10
. . . : . . UNC10-24LDn"2'w 190 . .
RH4 | B 47 | 54
9.3 110.3 NF10-32 RH7 P 6.7 | 7.4
RHS | P 47| 5.4 M6.Ox1. 0-80L 160 [11.0 N0 RH7 | B 6.7 | 7.4
RH5 | B 47| 5.4 M6.0x1.0-100L 18.3 [ 19.3  UNF10-32-100L 10.0 | 11.0
RH6 | P 47| 5.4 M6.0x1. 0-150L RH6 | B 7.1 | 81 UNF10-32L o aieaRH7 | B 7.1 | 8.1
Rie | B 47154 W6 OXTOLD™T@ DARH/ | B 9.3 [10.4  UNF12-24 TURH7 | B 5467
RH7 | P 47154 M7.0x0.5 RH7 | B 9.3 [10.4 | iNF12-98 RH7 | B 6.7 | 7.6
wo |5 |47 |54 MLOKTS R8s o “s12-32 7T e a 6y
N . . UXT.
. AL SO M0xs RH7 | B 93 | 10,4 UNG1/4720 RH7 | B 54 |67
M2.0x0.4Lnmw ubnRHs | B | 7.1 | 7.9 me o &° RiZTE 23104 wwer/a20-t00L | 1000
M2. 2x0. 45 RH4 | P 53160 Mg oxt.25 RHO | B 93 |10 4 UNC1/4-20Lpmaw 7'9%47 P 6.7 | 7.6
RH4 | B 53|60 G0l a e UNF1/4-28 o | B R o
M2. 3x0. 4 RH5 | P 47154 N8 0x1.25-100L 18.9 |20.3 RH7 | B 7.1 | 8.1
M2_3x0 ALnmw ubaRio | B 7.1 1 7.9 Ng OxT.25Ln"rw JoAR7 | B 0.4 [12.1  _UNEF1/4-32 RH7 | B 67 |76
M2. 5x0. 25 RH6 | B N X RH7 | B 10.4 |12.1 UNS1/4-36 RH7 | B 9.3 [10.4
M2. 5x0. 35 RH6 | B L9 900,75 RH7 | B 10.4 | 12.1  UNG5/16-18 RH7 | B 1.1 12,6
M2. 5x0. 45 Eﬂj g j; gj M. 0x1. 0 RH7 | B 10.4 | 12.1  UNC5/16-18Ln"1w Yion 13.6 | 15.0
Re | b Lo 2 Weoxt2s RH7 | B 104 [ 12,1 UNC5/6-18-100L  RH7 10.0 | 11.1
i I Lo moxos RH7 | B 10.4 | 12.1 TUNF5/16-24 RH7 1.0 | 13.1
R STTh W0k 75 RH7 | B 10,4 | 12,1 UNC3/8-16 15.3 | 16.7
I Doz woxto RH7 | B 10.4 | 12,1 UNC3/8-16-100L  RH7 | B 13.1 | 14.7
no | e Lol 2y miox12s RH7 | B 10.4 | 12.1 _UNC3/8-16Ln"aw JionH7 | B 11.9 [ 13.9
| B Lo moxis RH9 | B 10.4 | 12.1  UNC3/8-24 RH7 | B 14.6 | 16.4
Rl s 59 24 15.3 | 16.7 _UNC7/16-14 RH7 | B 15.7 | 17.9
a0 | o5 mox1.5-100 203 |21.7  UNF7/16-20 RH7 | B 17.1]19.7
M2. 5x0. 45-80L : - M10x1. 5-150L RH7 | B 12.6 | 14,0 UNG1/2-12 RH7 | B 17.1 | 19.7
M2. 5x0. 45-100L Ho B 3 Z 170'94 M10x1. 5L y1oh RH7 B 1.9 113.9 UNF1/2=20
M2 5x0_45L B3y ID%HS - L — W1x1. 0 RH7 | B 1.9 [13.9 RH6 | P 53|60
M2, 6x0. 45 : : RH7 | B 1.9 113.9  Wi/8-40 RH6 | B 53 |60
Eng : ol g ; m 3;8; §5 RH7 | B 11.9 [13.9 RH7 | B 53 | 6.0
o R ST w0 RH7 | B 11.9 113.9  W5/32-32 RH7 | B 53|60
RH7 | B 47 |54 M12x1. 25 RH7 | B 11.9 113.9  W3/16-24 RH7 | B 54 | 6.7
SIS s RH7 | B 1.9 [13.9  W1/4-20 RH7 | B 9.3 [10.4
M2. 6x0. 45-100L : A M2 75 RH8 | B 11.9 1139 W5/16-18 RH7 | B 11.9 | 13.9
19.7 [21.7  w3/8-16 RH7 | B 14.6 | 16. 4
M12x1. 75-100L 22.9 125.0  W7/16-14 RH7 | B 17.1 119.7
M12x1. 75-150L RH7 | B 14.0 | 16.1 W1/2-12

M12x1. 75LD"1'w 190
1T ,n721n T 7710 'k nn 7yn.

['02 2'NN DOV 71T MiIEn 17T,
7"XIT NYw KIX ,NI7RW 17 W' ox: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

UpPn 079N

YPN 09" IDYUN xNY'0D x IN 20T N 124 . IDYUN xNY'0D x IN 207 Ay [aY
Apex Tap (/D'"M1'Y 190N) (/D'"1'Y N19N)
- — .0x0.5 P2 6.7 1 7.9  UNC1/2-12 P3 13.1 | 15.3
. 0x0.75 P2 6.7 | 7.9 UNF1/2-20 P3 14.6 | 16.4
. 0x1.0 P2 6.0 | 7.4
.0x0.5 P2 6.7 7.9 Wi1/8-40 P1 4.7 | 5.4
. 0x0.75 P3 6.7 1 7.9  W5/32-32 P2 4.7 | 5.4
. 0x1.0 P3 6.7 | 7.9  W3/16-24 P2 4.7 | 5.4
. 0x1.25 P3 6.0 | 7.4 W7/32-24 P2 4.7 |57
P4 6.0 | 7.4 W1/4-20 P2 4.7 | 5.7
DYUR X0 xNIN o0 5y , . 0x1.25-100L 12.6 W5/16-18 P2 6.0 | 7.4
(/D'™M1'Y N190N) ! . 0x1.25-150L 18.3 W3/8-16 P2 7.9 | 9.6
M8. 0x1. 25 canice P4 433 W7/16-14 P3 1.9 [13.9
M1. 0x0. 25 P1 53 160 "M9.0x0.5 P2 83 | 10  Wi/2-12 P2 13.1 | 15.3
M1. OXO. 25 Carbide P2 27. 6
M9. 0x0. 75 P3 8.3 | 10
MT. 2x0. 25 P1 53 | 6.0
M1 220, 25 P2 2o M9.0x1.0 P3 8.3 | 10
e 4X0- e o Tt M9.0x1.25 P3 7.9 | 9.6 PS1/8-28 caice P4 56. 4
M1-4X0- = B 24 L WMox0.5 P2 8.3 | 10 PS1/4-19 carsice P4 91.7
2628tk P2 25 e Mox0.75 P3 8.3 | 10 PT1/8-28 canice P4 62.9
S 05 : M10x1. 0 P3 8.3 | 10 PT1/4-19 caniae P4 95.7
- ax. : M10x1. 25 P3 8.3 | 10
M1. 4x0. 3 cabice P2 22.4
M10x1. 5 P3 7.9 1 9.6
M1.5x0. 3 P2 5.7 6.7 P4 7.9 9.6 NPS1/8-27 carie P4 56. 4
M. 6x0.2 55 &7 | 74 mox1.5-100L 14.6 NPS1/4-18 carsse | ps 91.7
W1. 6x0. 35 = 531 60 mox1.5-150L 19.7 NPT1/8-27 covce | p4 62.9
M1. 6x0. 35-80L 9.3 M10x1. 5 cone P4 51.1  NPT1/4-18 casice P4 95. 7
M1. 6X0. 35 Carbide P2 0. 0 21. 0 - - :
M11x1. 0 P3 10.4 [12.6
MT. 7x0. 35 P2 5.3 | 6.0
M12x0. 5 P2 11.0 [ 13.1
M1. 7x0. 35 corce P2 21.0
e 5 ot M2x0.75 P3 11.0 | 13.1
M1-8X0- 35 P2 27 e M0 P4 11.0 | 13.1
X0 - : M12x1. 25 P4 11.0 | 13.1
M2. 0x0. 25 P2 6.7 | 7.4
o o) I 4 25 P3 11.0 | 13.1
- 0x0. o o 2-4 M12x1. 75 P4 10.4 | 12.6
Pa 47 |2, Wm2x1.75-100L 18.9
A P : M12x1. 75-150L 22.4
Y oxo' 4-100L 93 M12x1. 75 carice P4 62.9
b : M14x1.0 P3 17.1 [19.7
MZ. OXO. 4 Carbide P3 19.7
S 5 77 WMax1.25 P3 17.1 119.7
- X : : M14x1.5 P3 17.1 119.7
M2. 2x0. 45 P2 4.7 | 5.4
M2 5x0 4 P2 e Max2.0 P2 15.7 | 18.3
N2 5X0' 35 P2 o7 171 M16x1.0 P3 19.7 | 22.4
M. 5"0- 45 b7 275, Mext.25 P3 19.7 | 22.4
e P3 27 |2, Mmoext5 P3 19.7 | 22.4
o 22y mex2.0 P4 18.3 | 21
M2. 5x0. 45-80L 8.3 _
M2. 5x0. 45-100L 9.3 T 4 530
M2. 5X0. 45 Carbide P3 19. 7 UNF1 _72 P1 6- 7 7.4
M2. 6x0. 35 P2 6.7 174 “UNC2=56 5 573 3
M2. 6x0. 45 P2 4.7 | 5.4 pa 5 3 6
M2. 6x0. 45-100L 9.3 = i
M3. 0x0. 35 P2 47 |54 ﬂngg_gﬁ (il P2 Z? 74
M3. 0x0. 5 P2 4.0 | 47 “NC3-48 P 573 3
ﬁj j- 8 j— ; UNF3-56 P2 6.7 | 7.4
: : UNC4-40 P2 47 [ 5.4
+0.1 4.7 | 5.4 P3 47 |54
M3. 0x0. 5-80L 8.3 P4 47 |54
M3. 0x0. 5-100L 9.3 UNCA-40-100L 9 6 ;
M3. 0x0. 5-150L 17.1 UNF4-48 P2 67 |74
M3. OXO. 5 Carbide P3 19. 7 UNC5—40 P2 4' 7 - 4
M3. 5x0. 6-100L 9.3 UNGB-40—100L 9 6 :
M4. 0x0. 35 P2 6.7 74 UNCe=32 7 757
M4. 0x0. 5 P2 4.7 | 5.4 P3 47 | 54
M4. 0x0. 7 P2 4.0 | 4.7 1 47 | 54
o S0 |40 unce-32-100L 9.6
0.1 4o | s, _UNF6-40 P2 6.7 | 7.4
: : : UNC8-32 P2 4.7 | 5.4
M4. 0x0. 7-80L 8.3 P3 47 |54
M4. 0x0. 7-100L 9.3 P4 47 |54
M4. 0x0. 7-150L 17.1 UNC8=32-100L 9 6 :
M4. 0x0. 7 carsice P3 19.7 _ i
UNF8-36 P2 6.7 | 7.4
NM5.0x0. 5 P2 47 |57 -
e P2 40 | 2o UNci0-24 P2 4.7 | 5.7
X P3 40 | 2o UNc10-24-100L 9.6
o 20 |2 UNF10-32 P2 4.7 | 5.7
g 4o | 25 _UNF10-32-100L 9.6
M5. 00, 8-80L 4 8 6 : UNC12-24 P2 47 [ 5.7
M5 oxo' 8-100L 96 UNF12-28 P2 6.7 | 7.6
- X : UNC1/4-20 P2 47 |57
M5. 0x0. 8-150L 17.9 P3 47 |57
M5. 0x0. 8 carsice P3 21.0 pa 47 157
M6. 0x0. 5 P2 47157 UNG1/4-20-100L 9 6
M6. 0x0. 75 P2 4.7 | 5.7 B
M6, 0x1. 0 P2 40 | 2o UNc1/a-28 P2 6.7 | 7.6
- Oxt P3 40 |50 UNS1/4-32 P2 6.7 | 7.6
P4 40 | 2o _UNEF1/4-36 P2 6.7 | 7.6
0.1 47 | 25 UNc5/16-18 P3 6.0 | 7.4
M6, Oxcl. 0-80L : 8% : UNC5/6-18-100L 13.1
M6, 0xl. 0-100L 94 UNF5/16-24 P2 7.4 186
Ha. 01 01500 7.9 UNC3/8-16 P3 7.9 [9.6
M. 0x1. 0 can P3 224 IS ]
2 Wl U emiio : UNF3/8-24 P2 9.3 [10.7
UNC7/16-14 P3 1.9 113.9
UNF7/16-20 P3 12.6 | 14.7

1'mT,n721mn T 770 11'k 'nn 7yn.
['02 1'NN POV I7IT MiIpn 17T,
2"XIT NYw KIX ,NI7RW 17 W' Dx: eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

N'71'90

Spiral Grooved Tap

ﬁ'Tj'DO DYUKR xNW'09 x NIN o DYUR x Y09 xIN )\o e DYUKR xNY'09 x X o0 Q% Tin

Spiral Grooved Tap (/D'"1'Y N19N) (/'D"1'Y 197) (/D'"1'Y 719N) '

— M4. 0x0. 7 +0.1] 4.7 [ 5.4 M2x0.5 P2 |11.0[13.1 UNF1/4-28 P2]6.7]7.6

m““"“‘—g P2 | 4 |47 M2x0.75 P2 |11.013.1 P4| 6.7 7.6

SS————— P3| 4 | 4.7 M2x1.0 P2 |11.0|13.1 UNF1/4-28-HTsweers | 1B 7.4
[ P4 4 4.7 P4 111.0(13.1 UNF1/4-28Ln"1'w qWonP2 | 7.4 1 8.3
A M4. 0x0. 7-100L 9.3 M12x1. 0L 'w qiop P2 [ 12.6]14.7 yNEF1/4-32 P2|6.7|7.6
WE- M4. 0x0. 7-150L 17.1 M12x1. 25 P2 [11.0]13.1 |NS1/4-36 P216.717.6
M4. 0x0. 7-AL P2 | 4 4 P4 111.0113.1 UNG5/16-18 P21 6.0|7.4
Tin M4. 0x0. 7-HT snean 1B | 4.7 | 6.1 M12x1. 25L0"w 1 )nPZ 12.6(14.7 P3|6.0]7.4
IDYUN xNY'0D x )N . M4. 0x0. 7Ln"y'w NoaP2 | 4.7 | 5.7 2 P2 111.013.1 P4 6.0|7.4
7T Q%7 Tia 212 ) M12x1. 5 4 111.0113.1
(/D"1'Y I90) M5. 0x0. 5 E3 4-; g h Ez 150100 Unes/1e-18-100L o 163471
. . M12x1. 5L0"1"w 19N ' D UNC5/16-18-AL .

Wi 0x0.25 O PULATIO N a7 ! 0TI O1IS T UNGS/16-18HT s | 1B | 7.9 | 8.3
P3| 53|60 Wo0x0.5lomwo? |57 )07 b3 110 4|1 ¢ UNC5/16-18LDMw Yoik2 | 7.4 8.6
or |25 oo M5.0x0.8 A A bn |10 4|15 % UNF5/16-24 Eﬁ ?-j gg

M1.2x0. 25 P1153|6.0 P3 4 | 4.7 18.9 T 10. 0
P2 153 6.0 P4 4 47 M12x1. 75-100L 2 4 UNF5/16-24-HT sncain 2103 10'4
P3| 53|60 o s | mM2x1.75-150L 0o |77 0 4 UNFEA6-24kau o2 :
P4|5.3] 6.0 Mo.0x0.87100L 179 M12x1. 75-AL I DU B T P2[7.919.6

M1. 4x0. 2 P116.7]7 4 M5. 8Xg g:lsol- P2 4 4 M12x1. 75=HT snean P2 12: 1 14: 7 Ei ; g 3 2

1. 4x0. 3 P1|5.3]60 mg o s—HIf 1B | 4.7 | 6.1 WIZXI75C0"TW 97, [17.1]19. 7 14707
P2 | 5.3 | 6.0 OO s | o) |47 5 7 M14x1.0 P2 |17.1119.7 UNC3/8-16-100L P |83
P3| 5.3 | 6.0 TMEUXUTOCENIYON, T, 5 4 M14x1.25 P2 117.1119.7 UNC3/8-16-AL 1B19 6110 4
pa 53|60 M6 0x0.5 p3 | 4.7 |57 M4x1.5 P2 115.7118.3 UNG3/8-16—HT sneain P2 1961110

M. 5x0. 3 P1167][7.4 P4 | 4.7 | 5.7 WMax2.0 P2 [19.7]22.9 UNC3/8-16LD"1w Y19Np5 | o 3 |10 7

M1. 6x0. 2 P1]67]74 P2 | 5.7 )69 M6x1.0 P2 |19.7|22.9 UNF3/8-24 P4l 93107

M1. 6x0. 35 P1|5.3|6.0 Mo0x0.5LD"W D) | 4 7 |57 Méx1.25 P2 |19.722.9 R PP
P2 | 5.3 | 6.0 M6 0x0.75 P3| 4.7 |57 M6x1.5 P2 |18.3|21.4 UNF3/8-24-HTswa | p2 |11 0]12 6
P3|53|6.0 pa | 4.7 |57 Méx2.0 24l i : :

) ) UNF3/8-24Ln" 2w 19np2 | 9.3 |10.7

M1. 6x0. 35-HT snearn | 1B 6.9 M6.0x0.75LD™y'w Yisn. 1| 4.7 | 5.7 UNFO-80 PI 53] 6 UNC7/16-14 P2 112 6114 7

M. 7x0. 2 PT 6774 M6.0x1.0 P2 | 4 | 5 _UNC1-64 P1 | 6.7 7.4 UNF7/16=20 P2 1131115 3

M1. 7x0. 35 P1|5.3|6.0 P3| 4 | 5 TUNFT=72 PI|53] 6 uNct/2-12 P2 114 6116 4
P2 |5.3]6.0 P4 | 4 | 5  UNC2-56 P2 1 5.3 ] 6 UNF1/2-20 ' '
P3| 5.3|6.0 9.6 P3 | 53| 6
P4 | 53|60 M6 Ox1.0-100L 17.9 P4 (53| 6 w/g=0 S A

NM1.8x0. 2 P16 7] 7.4 M6 0x1.0-150L P2 | 4 | 4 9.6 W5/32-32 47|54

M1. 8x0. 35 Pl | 57|67 M6 0x1.0-AL 1B | 4.7 | 6.1 UNC2-56-100L 1B 161169 wa/i6o4 A

M2. 0x0. 25 PI 6774 M6.0x1.0-HTswean | P2 | 4.7 | 5.7 UNC2Z=56-HTsrean P16 774 womoon S\ e

M2. 0x0. 4 +0.1 5.3 | 6.0 M6.0xT.0Lomyw wpaP2 | 6.7 | 7.9 UNFZ=64 PI 53| 6 wra—0 Y
P14 7054 W ox05 P4 | 67|79 UNC3-48 Pl | 6.7 | 7.4 weis1a P21 6.0 7.4
P21 4.715.4 T p2 | 6.7 | 7.9 "UNF3-56 PIT47]54 yae1s Eg 171' 99 19?; %
P3| 47|54 W7.0x0.75 P4 [ 6.7|7.9 UNC4-40 P2V AT |54 woiie4 P2 |13.1]15.3
Pal 47|54 P2 [7.9]9.3 P3| 4.7 | 5.4 pa'man : :

M2. 0x0. 4-100L 9.3 7. 0x0. 75Lomw Yof2 | 6 | 7.4 P ET |54 e 70

M2. 0x0. 4:AL P14 7147 M7.0x1.0 P2 | 74|86 UNC4-40-100L P2 | 47 PS1/8-28'02 |0 22.4

M2.0x0. 4~HT sweern | 1B | 5.4 | 6.7 P LA EY NGa-d0-AL P2 AT [ 79

Y e . . . . 1 1 :

M2.0x0. 4Ln"'w nm 2; (73-‘71 M7.0x1.0LD" W YIDNS | ) | 55 UNCA-40-HT s Pl | 67|74 PSI/4-18xaanK jjn 9.3

mg gig 4212 P1 14754 W8. 0x0.5 P2 | 6.7 | 7.9 TUNF4=48 P2 [ 4.7 5.4 PS1/4-190 [ 1[31 é

) ] P4 | 6.7 | 7.9 UNC5-40 9.6 1811 :

M2. 3x0. 4 P11 47154 M8 0x0.75 P2 | 79|93 UNCs5-40-100L 16774 PS3/8-18'Nj7 X |7 17.1

M2 3x0. 4Lnmyy yonPl [ 5.7 1 6.7 0o | 67| 7o TONF5=2Z P2 4 715 4 PS3/8-19'01a |7n 19.7

M2. 5x0. 35 o Sl G meox0.7sLomw Yopy | 47 | 7o UNGE-32 P3 | 47|54 PSI/2-14wpmrjgn  |25.0

M2. 5x0. 45 pi a5 MBOxIO P2 [7.9]9.3 P4 | 4.7 |54 PS1/2-14:03 pn iR

i ' +0.1] 6.7 | 7.9 9.6 PS3/4-14 10 59 :
a2 weoxt.oLomw by | 6 | 7.4 UNG6-32-100L P2 |47 et
ol a2y weoxti2s P3| & | 7.4 UNG6-32-AL 18 54|67 peitq 1 " 7.9
03] P4 6 | 7.4 UNC6-32-HT shean P2 |5.716.7 : 7.9

M2. 5x0. 45-100L : 12.6 UNC6-32Ln" 1w I9p P2 | 6.7 | 7.4 10.4

M2. 5x0. 45-AL ?18 g Z 2 ; 18.3 UNF6-40 ] P2 | 4.7 5.4 PT1/16-28'0"M1 |7n 15.7

M2. 5x0. 45-HT sycarn p1 | 57|67 MBOxl.25-100L P2 6 UNC8-32 P3 | 4.7 | 5.4 PT1/8-28'071 |7n 19.7

M2-5x0-45Lam3 1o, |, M8.0x1.25-150L 1B |7.4]7.9 P4 | 4.7 |54 PT1/4-19'0M1 |pn 27.6

M2. 6x0. 35 pi | 47| 54 M8.Ox1.25-AL P2 |7.418.6 9.6 PT3/8-19 0" [N 46.0

M2. 6x0. 45 by | 4o |2y MBOXT.25-HTsww | P2 [ 7.9 [ 9.6  UNG8-32-100L P2 | 4.7 PT1/2=T4072 [0

. . |
P3| 4 7|5 4 M8.Ox1.25Lnmyw YoR2 | 7.9 | 9.6  UNC8-32-AL 1B |5.4|67 pbra/aqama 7m 7.9
or | 4512 w90x0.5 P2 | 7.9|9.6 UNGB-32-HTswan | P2 5.7 6.7 0N i 10.4
o5 M9.0x0.75 P2 | 10 |11.4 _UNC8=32Inmrwyon P2 | 6.7 | 7.4 PTI=11:0Ma |7 15.7

M2. 6x0. 45-100L p1 15767 MLOx10 P2 | 7.9 19.6 UNF8-36 P2 | 47|57 19.7

M2-6x0-45tr e YiopT 4 715 4 M9.0x1.0Lomrw 1onP2 | 8.3 | 10 UNC10-24 P3 | 4.7 5.7 NPT1/8-27'Npm@dlpn | 27-6

M3. 0x0. 35 P2 | 4754 M9.0x1.25 Ei gg 18 P4 32 5.7 NPT1/4-18'xjpnK [ | 460
P3| 4.7 |54 MO0x0.5 i : NPT3/8-18 ‘X7 K |7N

M10x0. 75 P21 10 | 11.4° UNC10-24-100L P2 | 4.7 Ty iala
Ezzl ;1. ; 2 471 X P2 | 83| 10 UNG10-24-AL 1B | 5.4 | 6.7 NPT1/2-14'xp K |pn

M3.0x0.35L0"w Y190 1| 4 7 | 5.4 M0x0. 7L qont? | &3 | 10 UNG10-24-HTswean | P2 | 5.7 ) 6.9 NPT /414 K nw |pim

M3. 0x0. 5 P 4 27 M0x1.0 P2 10 [11.4  yNG10-24LDw Y brP2 | 4.7 | 5.7 NPT1-11.1-2
AR Glas] i weese 0
P3| 4 | 4.7 MOx1.OLD™'WION py | 10 |11 4 9 6 '

P4 4 | 4.7 MOx1.25 0.1 8.3 | 10 UNF10-32-100L 1B 7.4

9.3 P2 |7.919.6 P2 | 7.4 8.3

M3. 0x0. 5-100L 17.1 M10x1. 25L0mw 9p3 | 7 0 | 9 ¢ ~SNEHO=82HTsmr oo
M3. 0x0. 5-150L P2 | 4 |40 mox1.5 : ' UNF10-32L0"2'w 1910 : :

x1. P4 | 7.99.6 P2 | 6.7 (7.6

M3. 0x0. 5-AL 1B|4.7]61 14.6 UNC12-24 P2 | 67|76

M3.0x0.5-HT e | P2 | 4.7 | 5.4 19.7 UNF12-28 P2 | 67|76

M3. 0x0. 5Lo"2'w q1bn 9.3 P2 S|y o TUNEF12=32 P2 147157

M3.5x0.6-100L | P2 | 4.7 |54 miox1.5-100L 1B |9.3| 10 UN12°3¢ P3 | 4.7 5.7

M4. 0x0. 35 P2 | 4.7 |54 Miox1. 5-150L P2 | 96| 11 UNG1/4-20 P4 | 4.7 5.7

M4. 0x0. 5 P3| 4.7 | 5.4 "MI0xT.5-AL P2 | 11 [13.1 9.6
P41 47154 WIOX.5HTown | P2 | 11 1301 UNGI/ATZ0 by | 47
P21 5. 71 6.7 MoOx1.5L0mw Iop P2 | 11 13,1 UNC1/4—20-AL 1B | 5467

M4. 0x0. 5Ln"1'w 1bn M11x0. 5 P2 110.4/12.6 \we/a oo e, | P2 15769

e UNC1/4-20L0"!
M11x1.0 B3 190

MIART. 507210 'T 7710 1'X 'nn 7yn.
['02 1'NN NPOY IT MIEn 71T,

7"RIT N9 KIR ,NITRY Y7 W' DX eva@ngtool.cn http://www.ng.tw



http://www.mzg.tw

nma? 2y /wupn 1

Hand Tap/Circular Die

HT vin w! AR-D 712y nin% j1Dnn 109 x 1IN External 2%
HT Straight Wire Tap (/D AR-D Adjustable Circular Die Diameter
UNF0-80 4.3 UNF0-80 20 11.9
e UNC1-64 P 4.3 UNC1-64 20 10. 4
UNF1-72 P1 5.0 UNF1-72 20 11.9
UNC2-56 P1 4.3 UNG2-56 20 10. 4
UNF2-64 P1 5.0 UNC3-48 20 10. 4
UNC3-48 P1 4.3 UNF3-56 20 11.9
UNF3-56 P1 5.0 UNC4-40 20 10. 4
UNC4-40 P2 4.0 UNF4-48 20 11.9
IDUN x Y09 x NIK - o) 2% P3 4.0 IDUN x NY'09 x )VIX External 2% UNC5-40 20 10. 4
(/D'"1'Y 719N) ! UNF4-48 P2 4.7 (/D'"1'Y 719N) Diameter UNC6-32 20 10.4
UNC5-40 P2 4.0 UNF6-40 20 11.9
M1. 0x0. 25 P1 4.3 UNF5-44 P2 47 M.0x0.25 20 331 NG8-32 2 10,4
M1. 2x0. 25 P1 4.3 - M1. 2x0. 25 20 13. 1 g
UNC6-32 P2 2.0 UNF8-36 20 11.9
M1. 6x0. 35 P1 4.3 o 40 M.4x0.3 20 13.1 RS % 04
M1. 7x0. 35 P1 43 UNF6-40 P> 47 M.5x0.3 20 131 UNF10-32 2 N\
M1. 8x0. 35 P1 4.3 : M1. 6x0. 35 20 13. 1 '
UNC8-32 P2 4.0 UNG12-24 20 10. 4
M2. 0x0. 25 P 4.7 M1. 7x0. 35 20 13.1 8
. 0u0 4 | 50 esss 540 Maoss o | 131 ez 2 | 10
P3 40 “UNC10-24 P2 20  M2.0x0.25 2001 19 UNF1/4-28 20 | 11.9
P4 40 yNF10-32 P2 4.7  M2.0x0.4 2001 104 Ns1/4-32 20 | 11.9
M2.2x0.25 P1 47 TUNCT2-24 P2 20  M2.0x0.4Lpmyw ipn 20 | 119 gNEFY/4-36 20 | 11.9
M2. 2x0. 45 P2 40 ynNF12-28 P2 4.7 M2.2x0.25 2001 119 UNes/16-18 25 | 11.9
mg gig- 315 E1z j—g UNC1/4-20 P2 20 D — ]8-2‘ UNF5/16-24 25 | 131
HOXUE ! UNF1/4-28 P2 4.7 x : UNC3/8-16 25 11.9
M2. 5x0. 35 P 4.7 - M2. 5x0. 35 20 11.9 g
UNF1/4-32 P2 4.7 UNF3/8-24 25 13.1
M2. 5x0. 45 R2 40" "UNC5/16-18 P3 53 M2.5x0.45 20| 104 gNG7/16-14 25 | 11.9
Ei j—g UNF5/16-24 P3 6.1  -M2.5x0.45L0mw mgg ”-Z UNF7/16-20 25 | 13.1
. UNEF5/16-32 P3 6.7 M2.6x0.35 : UNC1/2-12 25 11.9
M2. 6X0. 35 P2 4.7 _ M2 Ax(Q 45 20 10. 4 -
M2. 6x0. 45 P2 4.0 33%?3—%3 Eg g:? M3. 0x0. 35 20 |11 UNF1/270 R
P3 40 UNEF3/8-32 P3 8.1 M3.0x0.5 200 | 104wy /840 20 | 10.4
PR -0 UNc7/16-14 PE [ 9.3 M3-0xO-5LamawTipn 2] 17— W5/32-32 20 | 10.4
M3, 0x0. 5 % 55 UNF7/16-20 P3 10.4  M4.0x0.35 BN o Ws/16-24 20 10. 4
o 03 | 35 UNct/2-13 P3| 93 MAO0x0.5 2 17 w420 20 | 10.4
o S5 UNF1/2-20 P3 10.4 M4 0x0.7 28 15 We/16-18 25 1.9
M3.5x0. 35 P2 4.7 ) M4 Ox0—7torw—Tion 20 1.9 W3/8_16 25 11.9
M3. 5x0. 6 7 33 Tube Tapping M4. 5x0. 5 20 10. 4 W7/16-14 25 11.9
P3 33  PS1/16-28'0ma |pn 6.7 W& 5x0.75 2 o W/22 25 1.9
P4 3.3 PS1/8-27 'Rz 0N |7n 2 ; M5. 0x0. 35 20 11.9
M4. 0x0. 35 P2 4.7 PS1/8-28'0ma | 23, . 20 10.4
M4. 0x0. 5 P2 4.7 PS1/4-14'R7 0K [N 3 ;’fg gxg- SLDHM o 20 11.9
4. 0x0. 7 E% g g PS1/4-18 'Xj7 10X [N 79 e 020‘ - i 50 H Z
; PS1/4-19'0Ma [7n 13.1 X 0 .
P4 3.3 131 M6.0x0.75 20 10. 4
M4. 0x0. 75 P2 4.7  PS3/8-18'XpnK |n 7 Me.ox1.0 20 11.9
M4. 5x0. 5 P2 4.7  PS3/8-19:0ma |yn 171 M6.0x1.0LD"w ibA 25 13. 1
M4. 5x0. 75 P2 3.6 PS1/2-14'RypmnK [N 25 4 M7.0x0.5 25 13. 1
M5. 0x0. 35 P2 4.7 PS1/2-14'0M2 [j7N 38 1 M7. 0x0. 75 25 1.9
B0 | ¢ |5 Pyedoms | S0 et R
. . 3 . UxU. .
PST=TTT"0M2] [7h
P 3 bsin l 6.7 MB.0x0.75 25 | 13.1
M6. 0x0. 35 =) 5.3 o7 ﬂg' 8)(1' 25 %g 13.1
. . . . UXT. .
M6. 0x0. 5 P2 4.7 PT1/16-28'0"1 |7n 184 66 M8. 0x1. 25Ln 'y 19n25 13.1
Mé. 0x0. 75 P2 4.7  PT1/8-28'v' [N 183 M9.0x0.5 25 13.1
M6. 0x1. 0 P2 3.6 PT1/4-19'0"M2 [N 25 0 M9.0x0.75 25 13.1
Ei 32 PT3/8-19'0"2 |7n 41,9 M9.0x1.0 %g ];?
- M9. 0x1. 25 -
. 0x0. 2 i I 1
s | [ | o) Faeompn | o7 MoGl 2 4
M7.0x1.0 P2 5.3  PT1=11'0m |pn 146 M0x1.0 25 13.1
M8. 0x0. 35 P2 7.4 183 M10x1.25 25 1.9
M8. 0x0. 5 P2 6.1 250 M10x1.5 25 13.1
mg 8X(1) 35 E% 2 1 NPT1/8-27 'Rz (71 41.9 M10x1. 5Louyw jion %5 1; ‘17
Y 0§1- 25 05 o3 NPT1/4-18'RgnK [pn M11x1. 0 22 hel
B P3 53 NPT3/8-18'XpnK [N m %xg 55 25 131
M9. 0x0. 5 P3 8.1 NPT1/2-14 %7K [7n W 2§1' 0 25 13.1
M9. 0x0. 75 P3 8.1 NPT1/4-14'R7' N [7n M12x1. 25 25 13.1
M9. 0x1. 0 P3 8.1 NPTI=11.1-2 M1 5 25 11.9
M9. 0x1. 25 P3 6.9 M2t 75 25 13. 1
100 75 bs | &1 W12l 75l b0 35 | 52 g
M10x1. 0 P3 8.1 mi"}- gs 38 | 25.0
M10x1. 25 P3 8.1 Mmi‘.' - 38 23.6
s | ¢ SRy
M11x0.5 P3| 10.4 M12X1' ‘2’5 38 | 25.0
M11x0. 75 P3 10. 4 =N 38 23.6
M11x1.0 P3 10. 4 s o
M11x1.5 P3 9.3 x2.
M12x0. 5 P3 10. 4
M12x0. 75 P3 10. 4
M12x1. 0 P3 10. 4
M12x1. 25 P3 10. 4
M12x1.5 P3 10. 4
M12x1. 75 P3 9.3
P4 9.3
M14x2.0 P3 10.4
M16x2. 0 P3 13.1

1T 072N T 270 'Kk nn un.

['02 1'NN N7OY 71T 'l 17T,
2"XIT NYw KIN ,NI7RW 17 W ox: eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

NnNyn NO0In
Turning Inserts

AXIN NN 015n R AXINn NN 01 on
CCGT060202 CBN1 0.2 6.9
CCGT060204 GBN1 0.4 | 69 6 CNMG120402 CBN1 0.2 | 6.9
CCGT060208 GCBN1 0.8 6.9 CNMG120404 CBN1 0.4 6.9
CCGTO9T302 CBN1 0.2 | 69 h CNMG120408 CBN1 0.8 | 6.9
CCGT09T304 CBN1 0.4 6.9 L g el
CCGT09T308 CBN1 0.8 6.9 . Do o
, CCGT120402 CBN1 0.2 | 69 HE B gnel
niwpi iy 912 CCGT120404 CBN1 0.4 | 6.9 !
12w TI2'Y 01I'0 071010 | CCGT120408 CBN1 0.8 6.9 Q CNMG120402 PCD1 0.2 | 6.9
CNMG120404 PCD1 0.4 | 6.9
CCGT060202 PCD1 0.2 | 69 h CNMG120408 PCD1 0.8 | 6.9
| CCGT060204 PCD1 0.4 6.9 -
- CCGT09T302 PCD1 0.2 6.9 ?‘j;@‘j[j‘, e
4 CCGT09T304 PCD1 0.4 6.9 =
CCGT09T308 PCD1 0.8 6.9 Py
CCGT120402 PCD1 0.2 6.9 *‘ CNMG120404-TM ZG25 0.4 | 2.6
T A CCGT120404 PCD1 0.4 6.9 § S CNMG120408-TM ZC25 0.8 | 2.6
AW T 01O CCGT120408 PCD1 0.8 6.9 R CNMG120412-TM ZC25 1.2 | 2.6
CCGT060202-AL ZK01 0.2 1.1 NT79 YW 1112 1INt
CCGT060204-AL ZKO1 0.4 1.1
CCGT060208-AL ZKO1 0.8 1.1
CCGT09T302-AL ZK01 0.2 1.4 CNMG120408R-X ZG25 0.8 2.6
CCGT09T304-AL ZKO1 0.4 1.4 CNMG120408L-X ZC25 0.8 2.6
CCGT09T308-AL ZK01 0.8 1.4
CCGT120402-AL ZKO1 | 0.2 2.3 R-X L-X.
N2 0I'NIZRINWIND | GCGT120404-AL ZKO1 | 0.4 | 2.3 NT79 7w AYR T2
‘11 TIA'Y 0I'o CCGT120408-AL ZKO1 0.8 2.3
CNMG120404-TM ZC35 0.4 | 2.6
CCMT060204 ZM30 0.4 1.6 CNMG120408-TM ZC35 0.8 | 2.6
CCMT060208 ZM30 0.8 1.6
CCMT09T304 ZM30 0.4 1.7 FEERTEE
CCMTO09T308 ZM30 0.8 1.7 QYR 0799 99 100 T
CCMT 120404 ZM30 0.4 2.4 SE=eT
CCMT120408 ZM30 0.8 2.4 [ -~
TIA'Y nVoINN y - CNMG120404-HA ZKO1 0.4 2.0
o CNMG120408-HA ZKO1 0.8 2.0
)‘;/ RAIRD DI TN
7 \ '22Y TIA'Y DI'o
J ~ \ CCMT060204-FG ZN60 | 0.4 1.7
| S CCMT09T304-FG ZN60 | 0.4 1.9
_ CCMTO9T308-FG ZN60O 0.8 1.9 CNMA120404 ZK50 0.4 | 2.6
CNMA120408 ZK50 0.8 | 2.6
Cermet nT5o "o nraa
Q0 prot v oEtn
PI¥' 7712 79 D''111'2 Draxn
. COMT060202-HQ ZN6O | 0.2 | 1.7
CCMT060204-HQ ZN6O | 0.4 | 1.7 8“”8]%8283 %ﬁgg 3¢ 20
PRI i CCMT09T302-HQ ZN60 | 0.2 1.9 : :
—— COMTO9T304-HQ ZN6O | 0.4 | 1.9
Cermet 1799 115 T'111'a Z1¥' 7172 7w 211'a 1inn
10 ovo7 W' 0'FIn
;f i CNMG120408-HS ZM30 0.8 | 2.6
= -~ CCMT060204-MT ZN60 | 0.4 1.7 ) ,
e COMTO9T304-MT ZN6O | 0.8 | 1.9 112'y 100N
CCMTO9T308-MT ZN60 | 0.8 1.9
Cermet nT99 s v
ob wr o CNMG120404-MA ZM30 0.4 | 2.6
20 oo YN CNMG120408-MA ZM30 | 0.8 | 2.6
; g : CCGT060202EL-U ZN90 | 0.2 4.0
i CCGT060204EL-U ZN90 | 0.4 | 4.0 SRS e o N, 4
i CCGTO9T302EL-U ZN9O | 0.2 4.0 5
CCGTO9T304EL-U ZN9O | 0.4 | 4.0 CNMG120408-MS ZM30 | 0.8 | 2.6
Cermet NT79 |''D
aI1v D07 W' n'P7N
CNMG120404-HQ ZN60 0.4 2.3
e CNMG120408-HQ ZN60 0.8 2.3
CCGT060202ER-U ZN90O | 0.2 4.0 Comet s 1 ot
CCGT060204ER-U ZN9O | 0.4 | 4.0 —
PR CCGTO9T302ER-U ZN9O | 0.2 4.0 j e
| — CCGTO9T304ER-U ZN90 | 0.4 | 4.0 Q CNMG120404-TS ZN60 0.4 | 2.3
A CNMG120408-TS ZN60 0.8 2.3
Cermet NT79 |''D
210 007 W' D'EYN g

1'mT,n72mn M7 7710 'Kk 'nn 7yn.

['02 2'NN DOV 71T MiEn 17T,

7"XIT NYw KX ,NI7RW 17 W ox: eva@mzgtool.cn http:// www.mzg.tw


http://www.mzg.tw

NNyn NS0InN

Turning Inserts

XN NRINN (Ul ]>)a] R uUsD a¥Iin NRINN
DCGT070202 CBN1 0.2 6.9 s
' DCGT070204 CBN1 0.4 | 6.9 Q
Y O 0.1 1679 DNMA150408 CBN 0.8 |69
i DCGT11T302 CBN1 0.2 6.9
DCGT11T304 CBN1 0.4 6.9 NIFL FIt 7772
NI I 9113 DCGT11T308 CBN1 0.8 6.9 3w T Oro Donin
‘99w 711w 01'o npin | DCGW11T308 CBN 0.8 6.9 ,,
5 DCGT070201 PCD1 0.1 6.9
: DCGT070202 PCD1 0.2 6.9 DNMA150404 PCD1 0.4 |6.9
DCGT070204 PCD1 0.4 6.9 DNMA150408 PCD1 0.8 | 6.9
DCGT070208 PCD1 0.8 6.9
DCGT11T301 PCD1 0.1 6.9 Dr o D
DCGT11T302 PCD1 0.2 6.9 e
DCGT11T304 PCD1 0.4 6.9 SR
oIrIaIIRI NN \ =
1w D% oo DCGT117308 PCD1 0.8 | 6.9 W DNMG150404-HA ZKO1 | 0.4 | 4.3
3 g 4'\'5¢f-' DNMG150408-HA ZKO1 0.8 | 4.3
o~ . T Y DNMG150604-HA ZKO1 0.4 | 4.9
(7 Atk W
> DCGT11T302-AL ZKOT | 0.2 | 1.6 R
DCGT11T304-AL ZKO1 0.4 1.6
DCGT11T308-AL ZKO1 0.8 1.6

T332 01Tl N
D08 T Do

DNMG110404-FG ZN60 0.4 |26

DCMT070204-MV ZM30 0.4 1.6
DCMT11T304-MV ZM30 0 .7

Cermet n179 "o nna
21V D''07 W' D'P7N

TIA'y nboInt]

DNMG150404-HQ ZN60 0.4
DNMG150408-HQ ZN60 0.8

b
oo

DCMT11T304 ZM30
DCMT11T308 ZM30

oo

Cermet N7 "o 111
1L Do e opn

TIA'Y n0oIn1]

DCMT070204-FG ZN6O DNMG150404L-VF ZN60 | 0.4 | 2.6

0.4 7
DCMT11T302-FA ZN60 0.2 1.9
DCMT11T304-FG ZN60 0.4 9

Cermet nwp nT?o '3l
L 0VO7 W ORIN

Cermet 0779 |''o nana
210 007 W' 0'pYNn

DNMG150404R-VF ZN60 | 0.4 | 2.6

oy
v il
@’ / DCMT070202-HQ ZN60

- 0.2 1.7
P DCMT070204-HQ ZN&0 0.4 1.7 Cermst N7 NT79 1111112
gminn DCMT11T302-HQ ZN&0 0.2 1.9 a1v 0o W 0PN
DCMT11T304-HQ ZN60 0.4 1.9
Cermet 4179 "' 111
a0 0M 07 W DN
‘ . DCGT11T302FL-U ZN9O | 0.2 | 4.0
— DCGT11T304FL-U ZN9O | 0.4 | 4.0
Cermet n17s m'o
20 007 WORTN
DCGT11T302FR-U ZN90 | 0.2 | 4.0
DCGT11T304FR-U ZN9O | 0.4 | 4.0

cermet NT79 |9
110 0V07 W DN

1'7T,n7211n M1 7710 'k 'nn 7yn.

'02 ' POV N7IT MiIEn 17T, n
2"XIT NYw KIX ,NI7RW 17 W' or: eva@mzgtool.cn http:// www.mzg.tw



http://www.mzg.tw

AXIN NiImn

nIYPI pIY 7572
'YW TIA'W DI'O0 DANIN

SNMG120404 CBN1
SNMG120408 CBN1

NnNyn NO0In
Turning Inserts

S C
© A~

oo
0 0o

Q‘Q

DI'TNRITRI TIYIN
223w TIA'W DI'O

SNMG120404 PCD1
SNMG120408 PCD1

oce
© M

oo
© o

NT79 7w nwp Ty

SNMG120408L-S

2025

0.8

2.6

AXIn niimn

NIYEI ZIx' 77712
'22Y TI2'Y DI'0 D'NIN

05N

TBGT060102 CBN1
TCGT110302 CBN1
TCGT16T302 CBN1
TCGT16T304 CBN1
TCGT16T308 CBN1
TPGT080202 CBN1
TPGT080204 CBN1
TPGT090202 CBN1
TPGT090204 CBN1
TPGT110202 CBN1
TPGT110204 CBN1
TPGT110302 CBN1
TPGT110304 CBN1
TPGT110308 CBN1

Py

SNMG120408L-S

2035

0.8

2.6

NYP NT79 72U nIwp T2y

[

i |

NT79 7w nwp Ty

SNMG120408R-S

2025

0.8

2.6

DINMI7RI NYIN]
‘22 TIA'Y DI'O

TBGT060102 PCD1
TCGT110202 PCD1
TCGT110204 PCD1
TCGT110304 PCD1
TCGT16T302 PCD1
TCGT16T304 PCD1
TCGT16T308 PCD1
TPGT080202 PCD1
TPGT080204 PCD1
TPGT090202 PCD1
TPGT090204 PCD1
TPGT110204 PCD1
TPGT110302 PCD1
TPGT110304 PCD1

COOOOCOOO0O0OO0OOO (OO0

ANADRMNANOANDRANNOANBANRANANORANNN

SOOI OOOO
0 "0 "0 ~0 0 *0 0 0 ~0 0 ~0 0 0 O [ 0 0 0 ~0 0 0 0 0 0 0 0 0 0 0

NYUR NT79 7V nIvp T1IAY

SNMG120408R-S

2035

0.8

2.6

SNMG120408-TM

2025

0.8

2.6

a,

Cermet NT79 |''9 N"11'2
210 D07 W' D'P7N

TBGT060102L ZN90
TBGT060104L ZN90
TCGT110202L ZN90
TCGT110204L ZN90
TPGH080202L ZN90
TPGHO080204L ZN90
TPGH090202L ZN90
TPGH090204L ZN90
TPGH110302L ZN90
TPGH110304L ZN90

COoocooo0o00o0oo

ANDBNAEANBANAN

W WWwWwwwwwww

ABRDMAADADDDADN

N'111'2 DI'1'AI7RI NYIND

SNMG120404-HA
SNMG120408-HA

ZKO01
ZKO01

=5 4
LN

Mo
co

) f.a*’a

Cermet NT79 |''9 N'112'2
210 D07 W' 0'P7N

TBGT060102L-W
TBGT060104L-W
TPGT080202L-W
TPGT080204L-W
TPGT090202L-W
TPGT090204L-W
TPGT110302L-W
TPGT110304L-W

ZN90
ZN90
ZN90
ZN90
ZN90
ZN90
ZN90
ZN90

cCoROoLOoLO
ANANANAN

W W www www
N N AN NN N

'‘23W T1A'Y DI'O

SNMG120408-MA

ZM30

0.8

2.6

TIA'Y nvoiN1

SNMG120404-MS

ZM30

0.4

2.6

CermetNT79 |''® N'111'2
210 D07 W' D'P7N

TCMT090202-HQ
TCMT090204-HQ
TCMT110202-HQ
TCMT110204-HQ
TCMT110208-HQ
TCMT16T304-HQ

TPMT110304-HQ
TPMT110308-HQ

ZN60
ZN60
ZN60
ZN60
ZN60
ZN60

ZN60
ZN60

coocooo

o

(o> AOBANAN

N
ANNNNN

N~

O

SNMG120404-HQ
SNMG120404-HQ

ZN60
ZN60

°&Z
CEN

NN
w w

TIA'Y Nn00oIN1

Cermet n179 "9 nanna
210 D07 W' D'PIN

SCMTO9T304-MT

ZN60

0.4

1.9

N1 DINMITRI NYINI
'22Y TIA'Y DI'o

TCGT090202-AL
TCGT090204-AL
TCGT110202-AL
TCGT110204-AL
TCGT110302-AL
TCGT110304-AL
TCGT16T302-AL
TCGT16T304-AL
TCGT16T308-AL

ZKO1
ZK01
ZKO01
ZKO01
ZK01
ZKO01
ZKO1
ZK01
ZKO01

Ceooooooee
CORANBNENBAN

N~N~NoohRADMPAN

O

1122 DIN'MI7RI NYIND
'‘22W TIA'V DI'o

SCGTO9T304-AL
SCGT09T308-AL
SCGT120404-AL
SCGT120408-AL

ZKO1
ZKO01
ZKO1
ZKO1

oL
[ ENY N

RGN NN
OO DM D

T2y n0cin]

TCMT110204 ZM30
TCMT110208 ZM30
TCMT16T304 ZM30
TCMT16T308 ZM30

e ore
[ NJ NN

NN ==

wwo o

1'nT,n%amn mT 270 'k 'nn 7un.
102 71'NN AROY N7IT miIpn 7T,
i i

7"XIT NYw KIX ,NI7RW 17 W' ox: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

NniNnyn N90In
Turning Inserts

XN niimn

AXIN Nimn

015N

/ \ TNMG160404L—C ZN6O | 0.4 | 1.9
TNMA160402 CBN1 0.2 | 6.9 @\ TNMG160408L-C ZN6O | 0.8 .9
TNMA160404 CBN1 0.4 | 6.9 i
TNMA160408 CBN1 0.8 | 6.9 TNMG160404R-C ZN6O | 0.4 .9
DIYRL e 7771 Cermet 195 1o % n(:;: TNMG160408R-C ZN60 0.8 .9
Ay TNAY oo 2NN 210 ntoY vt nten
TNMG160404L-S ZN6O | 0.4 .9
TNMA160402 PCD1 0.2 | 6.9 TNMG160408L-S ZN60 | 0.8 .9
TNMA160404 PCD1 0.4 | 6.9
TNMA160408 PCD1 0.8 | 6.9 TNMG160404R-S ZN6O | 0.4 9
e e RS, 0o, boS TNMG160408R-S ZN60 | 0.8 .9
22w T DI'e 2 NUaY vt 0EIn
A [ E X
F % e 3 TNMG160404-CQ 2C25 | 0.4 | 2.3 N 4 TNMG160404L-VF ZN6O | 0.4 .9
Jf - % A p 4| TNMG160408-CQ ZC25 | 0.8 | 2.3 g £ TNMG160408L-VF ZN60 | 0.8 .9
CERNNE G 1yyG160404-HQ 2625 | 0.4 | 2.3 ﬁ TNMG160404R-VF ZN6O | 0.4 9
¢ HQ TNMG160408-HQ 225 | 0.8 | 2.3 R-VF  L-VF TNMG160408R-VF ZN60 | 0.8 .9
NT79 7w 112 NN i T Sy
TNMG160404L—S 2625 | 0.4 | 2.3 TNMG160404L-FS ZN6O | 0.4 .9
TNMG160408L—-S 2C25 | 0.8 | 2.3 TNMG160408L-FS ZN60 | 0.8 .9
TNMG160404R-S 2625 | 0.4 | 2.3 TNMG160404R-FS ZN6O | 0.4 .9
R-S L-S TNMG160408R-S 2C25 | 0.8 | 2.3 RFS  L-FS TNMG160408R-FS ZN60 | 0.8 .9
nT79 YW nwp T S e T
TNMG160404L—S ZC35 | 0.4 | 2.3 A ‘
TNMG160408L-S 2€35 | 0.8 | 2.3 2 TNMG160404-HQ ZN6O | 0.4 9
TNMG160404R-S 2635 | 0.4 | 2.3 ULLIEERA AED | 7
TNMG160408R-S 2C35 | 0.8 | 2.3 camet s adla
nwp TJ'?D v nlwn 'nn Y 210 070 W' 0N
g TNMG160404-TM ZC25 0.4 | 2.3 ~
: Q L TNNGT60408-TH 2625 | 08 | 2.3 [ e e 04| 7
gL~ TNMG160412-TM 2C25 | 1.2 | 2.3 — : ;
Cermet nT79 "z mana
NT79 7¢ 111'A N 210 007 W' 0'EIN
TNMG160404-TM 2C35 | 0.4 | 2.3 TNMG160404-TS ZN6O | 0.4 .9
TNMG160408-TM 2C35 | 0.8 | 2.3 W it TNMG160408-TS ZN60 | 0.8 9
g
M2 A Cermet NT79 |9 N'lia
nwp n179 ‘7_w av T 210 Do W' n'pYn
TNMG160402-HA ZKO1 0.2 | 1.9
TNMG160404-HA ZKO1 0.4 | 1.9
TNMG160408—HA ZKO1 0.8 | 1.9
n'a D\']'D\I?NIDUII']]
'23v TIA'V OI'a
TNMA160404 ZK50 0.4 | 2.3
TNMA160408 ZK50 0.8 | 2.3
TNMG160404 ZK50 0.4 | 2.3 '
THMA  TNMG | TNNGIG0408 ZKSO | 0.8 | 2.3 V.. A\ | Teeeoanalp w0 | 0.2 | 3.6
R v et o O; é..) : :
A TNGG160402R-P ZN90 | 0.2 6
TNMG160404-HA ZM30 | 0.4 | 2.3 RP |2 TNGG160404R—P ZNOO | 0 4 V)
TNMG160408-HA ZM30 | 0.8 | 2.3 Cormet ATYD |10
TNMG160404-MA ZM30 | 0.4 | 2.3 b 0"'07 W' 0'@7N
HA MA TNMG160408-MA ZM30 | 0.8 | 2.3
T12'V nLOoIN"
# 1 TNMG160404-MQ ZM30 | 0.4 | 2.3
> _ TNMG160408-MQ ZM30 | 0.8 | 2.3
— y N e TNGG160402L-S ZN90 | 0.2 6
T13'Y NLON' @ : .| TNGG160404L-S ZN90 0.4 .6
H TNGG160402R-S ZN9O | 0.2 6
R-S - TNGG160404R-S ZN9O | 0.4 6
TNMG160404-MS ZM30 | 0.4 | 2.3 Cermet NT79 |19
TNMG160408-MS ZM30 | 0.8 | 2.3 110 007 W' 0'E7n

T12'V Atoin1

1T 072N T 270 'Kk nn un.

|'02 2'NN NPOY 17T AN 17T,

7"XIT NYw KIX ,NIRY 17 W' or: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

NINMynN NO0IN

Turning Inserts

aXIin NRINN V9N R UsD XN NN 019N R UsSD
VBMT110302 CBN1 0.2 | 6.9 R
VBMT110304 CBN1 0.4 | 6.9 -
VBMT160402 CBN1 0.2 | 6.9 e VNMG160404 CBN1 0.4 | 6.9
8 VBMT 160404 CBN1 0.4 | 6.9 VNMG160408 CBN1 0.8 | 6.9
. VBMT160408 CBN1 0.8 | 6.9 BT 21v 912
VCGT110302 CBN1 0.2 | 6.9 2aw T Blro pARin
VCGT110304 CBN1 0.4 | 6.9
VCGT110308 CBN1 0.8 | 6.9
VCGT160402 CBN1 0.2 | 6.9 = SNl 00 0.2 \8%.9
VCGT160404 CBN1 0.4 | 6.9 VNMG160404 PGD1 0.4 | 6.9
YRl 1Nt 973 VCGT160408 CBN1 0.8 | 6.9 VNMG160408 PCD1 0.8 | 6.9
MW Ty 010 Dapin | VCGT160412 CBN1 1.2 | 6.9 RIS
VBGT110301 PCD1 0.1 | 6.9
xggmgggﬁ Egg} 8‘21 2-3 VNMG160404-TM ZC25 | 0.4 | 2.7
i os | &9 VNMG160408-TM ZC25 | 0.8 2.7
VBGT160402 PCD1 0.2 | 6.9
VBGT160404 PCD1 0.4 6.9 NT79 7w '111'a 1Ina
VBGT160408 PCD1 0.8 | 6.9
® J o |01 o wigteoieh 2035 00| 2
VCGT110304 PCD1 0: 4 6: 9 VNMG160408-TM ZC35 0.8 2.7
VCGT110308 PCD1 0.8 | 6.9 1177 110
VCGT160401 PCD1 0.1 | 6.9 , ,
VCGT160402 PCD1 0.2 | 69 —_—
VCGT160404 PCD1 0.4 | 6.9
VCGT160408 PCD1 0.8 | 6.9
DIMIYRI NWINI VCGT160412 PCD1 1.2 | 6.9 VNMG160404-AL ZKO1 0.4 | 2.3
maw 712800 VNMG160408-AL ZKO1 0.8 2.3
VBGT110302-AL ZKO1 0.2 | 1.1 N1 0rTrAIRI NYIN
VBGT110304-AL ZKO1 0.4 | 1.1 22 T2 DI'O
VBGT160402-AL ZKO1 0.2 | 2.0
VBGT160404-AL ZKO1 0.4 | 2.0
VBGT160408—-AL ZKO01 0.8 2.0 VNMG160404 ZM30 0.4 2.7
VNMG160408 ZM30 0.8 2.7
VCGT110302-AL ZKO1 0.2 | 1.1
VCGT110304-AL ZKO1 0.4 | 1.1
VCGT160402-AL ZKO1 0.2 | 2.0 TI2'W DBOITM
VCGT160404-AL ZKO1 0.4 | 2.0
N2 0ITANTRIIYIN
B T2 010 VCGT160408-AL ZKO1 0.8 | 2.0
VNMG160404-HS ZM30 | 0.4 | 2.7
VNMG160408-HS ZM30 | 0.8 2.7
VBMT160404-MV ZM30 0.4 | 3.7 TI1'Y Ao
VBMT160408-MV ZM30 0.8 | 3.7
TR avoeny VNMG160404-MT ZN60 | 0.4 | 2.3
VNMG160408-MT ZN60 | 0.8 2.3
VBMT110304-HQ ZN60 0.4 2.7 CE””E”I"B "o N1t
VBMT160404-HQ ZN6O | 0.4 | 3.4 1lo 0o W opn
Cermet n7%9 ("2 1112
20 0ot e OEn
VBMT160404-MT ZN60 0.4 3.6
Cermet nT179 "o nana
210 0''o? W' 0'pn
T, VBGT110302L ZN90 0.2 | 47
i = | \BGT110304L ZN90 0.4 | 4.7
Cermet nT5o |no
uDo? e opn
//* -
L VBGT110302R-Y ZN9O 0.2 | 47
= VBGT110304R-Y ZN9O 0.4 | 4.7
Cermet nT59 no
o Do e o

1T ,n72mn M7 2710 11'Kk 'nn 7yun.

1 1 ['02 2'NN DOV 71T MiIEn 17T,
7"X1T nYw KIX ,NIPRW 17 W' ox: eva@mzgtool.cn http:// www.mzg.tw


http://www.mzg.tw

NnNyn N90in
Turning Inserts

a¥In niINN a¥In niimn
@ OB oa oo Do &2 WNMGOBO404—MA ZM30 | 0.4 | 2.6
‘ : : WNMGOBO408-MA ZM30 | 0.8 | 2.6
WNMGO80412 CBN1 1.2 6.9
NIWRL I 970
‘23 TIA'Y o nfanin
B0 o Dy | &3 WNNGO80404-MQ ZM30 | 0.4 | 2.6
’ ’ WNMGO80408-MQ ZM30 0.8 2.6
WNMA080408 PCD1 0.8 6.9
DI'I'RITRE TWEIRD
33 TR RO 7'y avont
T
I WNMG080404-CQ ZC25 0.4 2.6 w
@“\ WNMGOB0408-CQ 2625 | 0.8 | 2.6 NIOB0d0a s 20 | 0.4 2.0
el WNMG080412-CQ ZC25 1.2 2.6 ' ’
NT79 7w 111'a 1IN T12'Y nvoIN1
) o
2’7/"‘ l\ P
< ( ) ;& WNMGO80404-HQ ZC25 0.4 2.6 A WNMG080404-HS ZN60 0.4 2.3
WNMGO80408-HQ ZC25 0.8 2.6 L“ WNMG080408-HS ZN60 0.8 2.3
Cermet n179 |5 Tiana
NT79 7w "' N a1 pra w RN
7 N (')
A @ WNMG080404L-S ZC25 0.4 2.6
ﬁ =2 B 0.8 | 2.6 = X WNMGOBO404-HA ZN6O | 0.4 | 2.3
v --.-» WNMGOBO404R-S 2025 | 0.4 | 2.6 e WNNGOBO408~Ha ZNé0 | 0.8 | 2.3
WNMGOB0408R-S ZC25 | 0.8 | 2.6 CormataTis pro ¥
'1179 YU nwp 'nn v 110 ntoY v npn
WNMG080404L-S ZC35 0.4 2.6 / \ WNMG080404L-X ZN60 0.4 2.3
WNMGO80408L-S ZC35 | 0.8 | 2.6 QSS 220 WNMGOBO408L-X ZN6O | 0.8 | 2.3
WNMGO80404R-S ZC35 0.4 2.6 WNMGO80404R-X ZN60 0.4 2.3
WNMGO80408R-S ZC35 0.8 2.6 Cerr;et - mgquTm-: WNMGO80408R-X ZN60 0.8 2.3
nup 11‘79 7v nlwﬂ 'n:'_v 10 0v0% v nrggn
iﬂ_" WNMG080404-TM ZC25 0.4 | 2.6 ‘/\, .
Z508 INNGOS0408-TM 2025 | 0 5 | 26 /O MNG0B0404NT ZN60 | 0.4 | 2.3
WNMG080412-TM ZC25 1.2 2.6 v : :
T™M 2C25 TM ZC35 Cermet n179 |"92 nanna
NT79 7w 1112 1NN 10 0o @' 0'7n
WNMGO80408-CM ZC25 0.8 2.6 WNMG080404-TS ZN60 0.4 283
WNMGO80412-CM ZC25 1.2 2.6 WNMG080408-TS ZN60 0.8 2.3
Cermet NT?9 |9 M'112'2a
110 D07 W' D'P'7N
YR WNMG080402-HA ZKO1 0.2 2.3
S WNMG080404—-HA ZKO1 0.4 2.3
W WNMGO80408-HA ZKO1 0.8 2.3
NI O3 EE7RE IV
'22W TIA'Y DI'O
WNMG080404—-HA ZM30 0.4 2.6
4 WNMGO80408-HA ZM30 0.8 2.6
TI2'V nVOINM]
WNMA080404 ZK50 0.4 2.6
WNMA080408 ZK50 0.8 2.6
X 2172 7w D12 Dravnn
WNMG080404 ZK50 0.4 2.6
WNMGO80408 ZK50 0.8 2.6
PI¥' 712 %w n11'anima

1T ,n7amn MT %720 ')k 'nn 7yn.

['02 1'NN NPOY YT MIEn 71T,

2"XIT n7w KA ,NI7RW 17 W' ox: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

OIN
Thread Turning Tool

aXIin Nimn V19N aX¥In NRINN
o 16ER 050180 ZP10 0.50 | 2.0
Machining 16ER 075150 ZP10 0.75 2.0
16ER 1001S0 ZP10 1.00 2.0 16ER 2TR ZP10 2.0 2.0
16ER 1251S0 ZP10 1.25 2.0 16ER 3TR ZP10 3.0 2.0
16ER 1501S0 ZP10 1.50 2.0 . . .
30 ° 112y "1V D'OIN
16ER 175180 ZP10 1.75 2.0 DIN1SS Ty
1 2 1 2 00 2 0 XN DIZRWN TIA'Y
1668 250150 P10 | 250 | 2.0
DIAI7RI NYIN 16ER 300150 ZP10 3.00 2.0
23y TIA'Y 0o 16ER 3501S0 ZP10 3.50 2.0 16IR 2TR ZP10 2.0 2.0
16ER A60 ZP10 0.5-1.5 | 2.0 16IR 3TR zP10 30 | 20
16ER AG6O PCD1 0.53.0 | 6.9 .
16ER AG6O ZP10 0.5-3.0 | 2.0 e
16ER G60 ZP10 1.5-3.0 2.0 0''n19 0'oIN T
22ER 3501S0 ZP10 3.50 531 ZP10
22ER 400180 ZP10 4.00 5.1 General
— 22ER 500180 ZP10 5.00 5.1 Machining 16ER 11W ZP10 Tinch1 1100th 2.0
BO°'1IN'M MDA 22ER 6001S0 ZP10 6.00 5.1 16ER 14W ZP10 Tinch14100th 2.0
NIDWUX TIA'Y 22ER N60 ZP10 3.5-5.0 5.1 16ER 19W ZP10 Tinch19100th 2.0
16ER 24W ZP10 Tinch24100th 2.0
SER1616H16 - 71 PCD1 16ER 8W ZP10 11nch8Tooth| 2.0
SER2020K16 - 7.1 ek e ’\ 16ER A55 ZP10 0.5-1.5| 2.0
SER2525M16 - 9.3 e 16ER AG55 PCD1 0.5-3.0| 6.9
SER2020K22 - 9.6 ) 16ER AG55 ZP10 0.5-3.0( 2.0
SER2525M22 - 13.1 4 16ER G55 ZP10 1.5-3.0| 2.0
B-SEL SER SER3232P22 - 20.3 ' 22ER N55 ZP10 3.5-5.0| 5.1
B-SEL1212H16 - 9.6 55'11X'N° Y1'
B-SEL1616H16 - 9.6 NIZ1DWN TIA'Y
B-SEL2020K16 - 9.6 ZP10
QNN NI7DYRTIANWY | B-SEL2525M16 - 13.1 it 06IR A55 ZP10 0.5-1.25| 4.7
ZP10 061R A60 ZP10 0.5-1.25 4.7 08IR A55 ZP10 0.5-1.5| 4.1
General 08IR 1501S0 ZP10 1.50 4.1 111R 19W ZP10 Tinch19Tooth 2. 0
Machining 08IR A60 ZP10 0.5-1.5 4.1 161R 11W ZP10 Tinch11700th 2.0
111R 1501S0 ZP10 1.5 2.0 161R 12W ZCO1 Tinch12700th 2.0
111R 2001S0 ZP10 2.0 2.0 PCD1 16|R 14W ZP}O Tinch14700th 2.0
11IR A60 ZP10 0.5-1.5 | 2.0 PN e 6IR 19W ZP10 Tinch197o0ts| 2.0
161R 050180 ZP10 0.50 2.0 13w T2 DI'o 12:5 2(5;25ZE2;81 8 g—; 8 Z 8
161R 0751S0 ZP10 0.75 2.0 .5-3. .
161R 1001S0 ZP10 1.00 2.0 161R AG55 ZP10 0.5-3.0| 2.0
. 16IR 125150 ZP10 1.25 | 2.0 4 16IR G55 ZP10 1.5-3.0| 2.0
DINMI7XRI NYIN 12:5 Sg:gg %mg 1?2 %8 55°'0'19 1IN’ YI'X 22IR N55 ZP10 3.55.0) 5.1
22¥ T2 DI’ 16IR 200150 ZP10 2.00 | 2.0 D2IDYR TIAY
YOS S Al 290 20 : 16ER 12UN ZP10 Tinch12700th 2.0
161R 3001S0 ZP10 3.00 2.0
16ER 14UN ZP10 Tinch14100th 2.0
161R 3501S0 ZP10 3.50 2.0
= 16ER 16UN ZP10 Tinch16700th 2.0
12:2 ﬁggozﬁé& 8 g_;g 2'8 16ER 18UN ZP10 Tinch18Toot 2.0
161R AG6O ZP10 0.530 | 2.0 e — 16ER 20UN ZP10 T1nch20To0t] 2. 0
16IR G60 ZP10 1.5-3.0 2.0 T7I0% T2
22IR 350180 ZP10 3.50 5.1
221R 4001S0 ZP10 4.00 5.1 161R 12UN ZP10 Tinch1 2700ty 2.0
221IR 5001S0 ZP10 5.00 51 161R 14UN ZP10 Tinch14t00th 2.0
60°'M'19 1IN '0UN 22IR 6001S0 ZP10 6.00 5.1 16IR 16UN ZP10 Tinch16700th 2.0
NIZDYUK TIA'Y 221R N60 ZP10 3.5-5.0 | 5.1 16IR 18UN ZP10 Tinch18Tooth 2.0
SROOOSKOEAT2 o 60 ° repu 1039 I 16IR 20UN ZP10 Tinen20To0t 2. 0
"~ - . DTN T
SNRO007J08 - 5.1
SNR0008K08 - 5.1 16ER 11BSPT ZP10 Tinch11700th 2.0
16ER 14BSPT ZP10 Tinch14100th 2.0
SNROO10K11 - 1 16ER 19BSPT ZP10 Tinch 19700t 2.0
SNROO12M1 1 P 5 4 16ER 28BSPT ZP10 |1 1ncn28100ty 2.0
SNROO13N16 B . Bfil‘ﬁn“i?.r‘gﬁﬁﬂiﬁiﬁe
SNROO14N16 - 6.7 -
SNRO016Q16 - 6.7
SNROO20R16 - 7.1 16IR 11BSPT ZP10 Tinch11700th 2.0
SNR0025S16 L\ 1.7 161R 14BSPT ZP10 Tinch14700th 2.0
SNR0032T16 - 20.3 BsPTRAY o Tagor
Tube
SNROO20R22 - 10.7 ”‘l;‘ ’8“2139“01':
SNR0025S22 - 14.3
Fain SNR0032T22 - 22.9
NI7DWUN TIA'Y 16ER 11.5NPT ZP10 Tinen11. Bre| 2.0
16ER 14NPT ZP10 Tinch14t00th| 2.0
TKFT. . o TIP.. 16ER 18NPT ZP10 Tinoh18Tcotn| 2.0
’0 TKFT6001 ZP15 0.5-3.0 | 5.9 NPT T Y
IX'N NIZDWYX TIA'Y
0 B0 Sw Ty TTP6001 ZP15 0.5-3.0 5.9 /g,
007 0'P70 210wk
TP 161R 11.5NPT ZP10 inch11. Btooth 2. 0
o 161R 14NPT ZP10 Tinch14100th| 2.0
TTPR12 - 9.3
g TTPR16 - 11.7 Yax NPT s own
NI7DYX TIAY

1T ,n721n M7 7710 'k 'nn 7yn.
- ['02 1'NN POV YIT MIEn 71T,
2"XIT NYw KIN ,NIRY 17 W' ox: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

DIVP 0O'P7N NO'9N NTh / aNa/m
Cut-Off/Grooving/Back Turning Of Small Parts

a¥Iin NRINN V19N Width USD aX¥In NN V19N Width USD
T16E100 ZP15 1.0 3.0 TKF12R100-S ZP15 1.0 5.9
T16E150 ZP15 1.5 3.0 - TKF12R150-S ZP15 1.5 5.9
T16E160 ZP15 1.6 3.0 TKF12R200-S ZP15 2.0 5.9
T16E200 ZP15 2.0 3.0 ( ) TKF16R100-S ZP15 1.0 6.6
| T16E250 ZP15 2.5 3.0 \ /' mnnop nypn TKF16R150-S ZP15 1.5 6.6
T16E300 ZP15 3.0 3.0 I T2 TKF16R200-S ZP15 2.0 6.6
e TKF12R100-816R ZP15 | 1.0 | 5.9
W oy aniy 0.5-3 mm gy nike 1-2.2 mm apir TKF12R150-S16R ZP15 1.5 5.9
'ANIN [91X] YINNY JN* 129 nin /:\ TKF12R200-S16R ZP15 2.0 509
i ( ) TKF16R100-S16R ZP15 1.0 6.6
\L / TKF16R150-S16R ZP15 1.5 6.6
SER1616H16 7.1 o TKF16R200-S16R ZP15 | 2.0 | 6.6
SER2020K16 7 '] n'Ta TI2'Y D10y D'|7'7I']
SER2525M16 9.3 |
T11N100 ZP15 1.0 | 3.0 ‘ ILGEER] Z21) o
' T11N150 ZP15 1.5 3.0
/ T11N200 ZP15 2.0 3.0 0107 0'FYN N3O AN
) T16N100 ZP15 1.0 3.0
‘ T16N150 ZP15 1.5 3.0
. T16N160 ZP15 1.6 3.0
| T16N180 ZP15 1.8 3.0
T16N200 ZP15 2.0 3.0
T16N230 ZP15 2.3 3.0 KTKFSL1010JX12 - 11.9
T16N250 ZP15 2.5 3.0 KTKFSL1212JX12 - 11.9
‘X0 30 20 0.5-3 mm niy nxi 1-2.2 mm : . A
AR 1912 2R (s 75 A T16N300 ZP15 3.0 3.0 KTKFSL1212JX16 1.9
SNROO10K11 - 5.1
SNROO12M11 - 5.4 KTKFSL. .
SNROO13N16 - 6.1
SNROO14N16 - 6.7
SNRO016Q16 S 6.7 KTKFR0O810JX12 z 1.9
SNROO20R16 - 7.1 KTKFR1010JX12 - 9.4
SNR0025S16 - 1.7 KTKFR1212JX12 - 9.4
KTKFR1616JX12 - 9.4
16° CTP10FR ZP15 1.0 5.9
Taper 7 CTP15FR ZP15 1.5 5.9 KTKFR1010JX16 9.4
e \“ CTP20FR ZP15 2.0 5.9 KTKFR1212JX16 9.4
( ) CTPA10FR ZP15 1.0 6.6 KTKFR1616K16 9.4
' / CTPA15FR ZP15 1.5 6.6 KTKFR. . KTKFR2020JX16 - 10.7
CTPA20FR ZP15 2.0 6.6
N'TA TIA'Y Doy D'f."?n
CTP10FRN ZP15 1.0 5.9
X CTP15FRN ZP15 1.5 5.9
aTh vt 201 %2 FVC1604R150 ZP15 1.5 | 4.3
D07 0PN CTPA20FRN ZP15 2.0 6.6 FVV1604R300 ZP15 3.0 4.3
STRELVER]
CTPSL10 - 10.7
CTPSL12 > 1.9 D'19 '22Y TIA'Y DI'0
CTPASL10 - 10.7
CTPASL12 - 11.9
CTPSL
CTPASL. . CTPASL16 - 14.3
CTPRO8 - 1.9
CTPR10 - 9.4 SVQCR2020K16-NJ - 11.9
CTPR12 - 9.4
CTPR16 - 9.4
CTPR20 - 10.7
CTPAR10 - 9.4
CTPAR12 2 9.4
CTPAR16 o 9.4
CTPR/CTPAR. . CTPAR20 - 10.7
CTPAR25 - 14.3
VC1604R250 ZP15 2.5 4.3
VC1604R300 ZP15 3.0 4.3
TTB6001 ZP15 - 5.9
D'19 "2V TIA'Y DI'O
D0P O'P7N N3'90 ATN
TBPR10 - 9.4
TBPR12 o 9.4 SGIVFR16Q16 - 14.3
SGIVFR20Q16 = 14.3
TBPAR10 - 9.4 SGIVFR25R16 - 16.7
TBPAR12 - 9.4
TBPAR16 - 9.4

SGIVFR. .

1T ,n%72mn T 270 12'k 'nn 7yn.
i .
102 1'NN NFOY N7IT miIgn T

7"XIT NYw KIX ,NI7RW 17 W' ox: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

2192 1¥'N TN
External Cylindrical Drag tool

AXINn NNINnN

'R y'an anin 0.3-3.2mm
'op?0 JIN'n pniy 0.8-4 mm
2121 795 nin
AXIN NN NIfRY

019510 Width USD

TGF32R050 ZP15
TGF32R080 ZP15
TGF32R100 ZP15
TGF32R110 ZP15
TGF32R120 ZP15
TGF32R125 ZP15
TGF32R130 ZP15
TGF32R140 ZP15
TGF32R150 ZP15
TGF32R160 ZP15
TGF32R170 ZP15
TGF32R180 ZP15
TGF32R190 ZP15
TGF32R200 ZP15
TGF32R210 ZP15
TGF32R220 ZP15
TGF32R230 ZP15
TGF32R250 ZP15
TGF32R260 ZP15
TGF32R270 ZP15
TGF32R280 ZP15
TGF32R290 ZP15
TGF32R300 ZP15

bl % Lt

-
O\OCD\IO\LDW!\)AOOCD\IO\W#@&I\)—\OWU'!

WNNNNNNPONNN = =S =
NP RNNDNNDRPNNDNNDNNDNNNDNNDND

(o3 e e e e e e e Nlo e e NN e e e e e N Mo e N

'070 11NN iy 0.8-4 mm

AXIn NN

‘u
| )
'®m ynann 0.3-3.2mm

213995 nin
n¥IN NN NIrnY

019N Width USD

TGF32L050 ZP15
TGF32L080 ZP15
TGF32L100 ZP15
TGF32L110 ZP15
TGF32L120 ZP15
TGF32L125 ZP15
TGF32L130 ZP15
TGF32L140 ZP15
TGF32L150 ZP15
TGF32L160 ZP15
TGF32L170 ZP15
TGF32L180 ZP15
TGF32L190 ZP15
TGF32L200 ZP15
TGF32L210 ZP15
TGF32L220 ZP15
TGF32L230 ZP15
TGF32L250 ZP15
TGF32L260 ZP15
TGF32L270 ZP15
TGF32L280 ZP15
TGF32L290 ZP15
TGF32L300 ZP15

NN = Y =)

O\OCO\IO\(ﬂ(AJI\)—\O\OCO\IO\U'!b(AJEN—\OmU'\

PR = =R ==
MRV NN RPN D DR N ESN
eNFoNI'< NI N N NYe NYe Yo NFoNFe ' NI’ Ni'e Ni'e N NYe NYe o NFe N NI NEe N

KTGFR1010H16 - 6.9 KTGFL1010H16 ~ 6.9
KTGFR1212H16 - 6.9 KTGFL1212H16 - 6.9
KTGFR1616H16 - 6.9 KTGFL1616H16 - 6.9
KTGFR2020K16 - 6.9 KTGFL2020K16 - 6.9
KTGFR2525M16 - 9.0 KTGFL2525M16 - 9.0
KTGFL.
KTGFR1010H16F - 6.7 KTGFL1010H16F - 6.7
KTGFR1212H16F - 6.7 KTGFL1212H16F - 6.7
KTGFR1616H16F - 6.7 KTGFL1616H16F - 6.7
KTGFR2020K16F = 6.7 KTGFL2020K16F = 6.7
KTGFSL1010H16 - 6.9 KTGFSR1010H16 - 6.9
KTGFSL1212H16 5 6.9 KTGFSR1212H16 . 6.9
KTGFSL1616H16 > 6.9 KTGFSR1616H16 v 6.9
KTGFSL2020K16 - 6.9 KTGFSR2020K16 - 6.9
KTGFSL2525M16 - 9.3 KTGFSR2525M16 - 9.3
KTGFSL. . KTGFSR.
S16N-KTGFL16 - 9.3 S16N-KTGFR16 - 9.3
S20Q-KTGFL16 - 1.0 S20Q0-KTGFR16 - 1.0
S25R-KTGFL16 - 13.1 S25R-KTGFR16 - 13.1

S. . —-KTGFL.

S. . -KTGFR.

1'7T,n7211n M1 770 11'Rk'nn 7yn.
'02 ' POy YT MiIEn 17T,

2"NIT N7w KIN,NI7RW 17 v ox: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

A DIV WA Ty PR TN Groving 175 n1on

External Cylindrical/lnner hole hole Turning Tool

a¥Iin NRINN Width USD

GBA43R250 ZP15
GBA43R300 ZP15
GBA43R350 ZP15
GBA43R400 ZP15
GBA43R450 ZP15

Phwwn
oouvowm
oocooo

‘X' ynanin 1.0-4.8mm
2'070 1NN iy 2.0-5.0 mm
7120995 in
n¥IN NN NIrnY

CGBR. .
CGBR1616H43 - 9.3
CGBR2020K43 - 13.1
CGBR2525M43 - 16.4
CGBSL2020K43 - 12.4
CGBSL2525M43 - 19.0
SGBR1616H43 - 6.7
SGBR2020K43 - 6.7
SGBR2525M43 - 9.0
SGBSL..
SGBSL2020K43 - 10.7
SGBSL2525M43 - 14.3
GBA43L250 ZP15 2.5 6.1
GBA43L300 ZP15 3.0 6.1
GBA43L350 ZP15 3.5 6.1
GBA43L400 ZP15 4.0 6.1
o GBA43L450 ZP15 4.5 6.1
-
-2
"' ynann 1.0-4.8mm
a'up0 yInn iy 2.0-5.0 mm
215' 1795 Anin
XN NN NIy
CGBL.
CGBL1616H43 = 9.3
CGBL2020K43 - 13.1
CGBL2525M43 - 16.4
CGBSR2020K43 = 12.4
CGBSR2525M43 - 19.0
SGBL1616H43 - 6.7
SGBL2020K43 - 6.7
SGBL2525M43 - 9.0
SGBSR2020K43 - 10.7
SGBSR2525M43 - 14.3

aXIN NN 075N Width USD

23 TIA'Y

QA'ANN N

GER100-A ZP15
GER150-A ZP15

SIGER0606A-EH
SIGERO808A-EH
2'aNN NT79
SIGERO808A-EHT
179

RGN
oo

bl
~N~

19.0
1.9

1.9

22 TIAY

QA'ANN N

GER100-B ZP15
GER150-B ZP15
GER200-B ZP15
GER250-B ZP15
GER300-B ZP15

SIGER1010B-EH
SIGER1210B-EH
2'aANN NT79

178 |GER1010B-EHT
SIGER1210B-EHT

DN = =
ocuvwouwo

e
ENENENENEN

av 7Y

u
2A'AXRN N

GER100-C ZP15
GER150-C ZP15
GER200-C ZP15
GER250-C ZP15
GER300-C ZP15
GER350-C ZP15

SIGER1412C-EH
SIGER1616C—-EH

2'ANN NT79

1781 GER1412C~EH

WWNN ==

oo ouoo

PRARMN
NNNNNN

6 SI1GER. .

23 TIAY

e SIGER. .

QA'ANN N

GER100-D ZP15
GER150-D ZP15
GER200-D ZP15
GER250-D ZP15
GER300-D ZP15
GER400-D ZP15

S1GER2020D-EH
S1GER2525D-EH
79

AN~

oo Uouo

goao oo
G RO

o>
~w

L
—

'3V TIAY

7GR100 ZP15
7GR150 ZP15
7GR200 ZP15

SNGR08J07
SNGR10K07
21AXN NT79
SNGR10K07

N — —

[@N¢, Ne)

Ho NI
oo o

.
oo

—

A3 TIA'Y

SNGR.. 2'aXN N

8GR200 ZP15
8GR300 ZP15

SNGR10K08
SNGR12M08
2'aNN NT79
SNGR10K08

m79

wnN

oo

~O O

©
oo

'‘22W T2V

9GR100 ZP15
9GR200 ZP15
9GR250 ZP15
9GR300 ZP15

SNGR12M09
SNGR16Q09
SNGR20R09

whN =

oo o

wwww
cococo

A.A
w=22
-0 °

I'mT,n72n M7 7710 1'Kk 1'Nn 7un.
['02 1'NN DOV 17IT MIpn 17IT.

2"XIT NYw KIX ,NIYRW 17 W Dx: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

Groving / Cut-Off naio "
Grooving/Cut-Off Turning Tool

ax¥In NRINN 015N Width USD a¥Iin nRINN 015N Width USD

oem e MGMN150 CBN 1.5 | 6.9
Ve MGMN200 CBN1 2.0 | 6.9 MRMN200-G ZP30 RILO | 1.6
MGMN250 CBN1 2.5 | 6.9 MRMN200-M ZP30 R1.O | 1.6
MGMN300 CBN1 3.0 | 6.9 MRMN300-M ZP30 R1.5 | 1.6
MGMN400 CBN1 4.0 | 6.9 -G -M MRMN400-M ZP30 R2.0 | 2.0
MGMN500 CBN1 5.0 6.9 A2'217A T1Ara
TYL) NT7D RN T P90
SR MGMN150 PCD1 1.5 | 6.9 NPT
3 MGMN200 PCD1 2.0 6.9 13w TIA'WY DI'0 DFININ
MGMN250 PCD1 2.5 | 6.9 -
MGMN300 PCD1 3.0 | 6.9 MRMN40O CBN1 R2.0 | 6.9
MGMN400 PCD1 4.0 | 6.9

g B
( || MGGN300 ZP15 3.0 | 1.6 MGEHR1010-1.5 15 |90
?\I/ MGGN400 ZP15 4.0 | 1.7 MGEHR1010—2 20 |90
. , MGEHR1212-1. 5 1.5 | 9.0
NN 4G 1RO TI2'Y MGEHR1212-2 20 | 9.0
) - MGEHR1212-3 3.0 | 9.0
( '| MaeN200-Q ZP15 2.0 | 1.7 MGEHR1616-1.5 1.5 | 6.7
’\I | MGGN300-Q ZP15 3.0 | 1.7 MGEHR1616-2 2.0 | 6.7
8" Taper MGEHR1616-2. 5 2.5 6.7
TIA'W T2 MGEHR1616-3 3.0 | 6.7
) S\ MGEHR1616~4 4.0 | 6.7
( /| MGGN200 ZKOT 2.0 | 1.7 MGEHR2020-1. 5 1.5 | 6.7
. N ¥ MGGN300 ZKO1 3.0 | 1.9 MGEHR2020-2 2.0 | 6.7
1 oy MGGN400 ZKO1 4.0 | 2.3 MGEHR2020-2. 5 2.5 | 6.7
TITEN S TG TIAY MGEHR2020-3 3.0 6.7
MGEHR2020~4 4.0 | 67
MGGN150 ZP30 1.5 | 1.7 MGEHR2020-5 50 | 6.7
g 2.0 | 1.7 MGEHR2020-6 6.0 | 8.3
“‘ “‘ MGGN250 ZP30 2.5 1.7 MGEHR2525-1. 5 1.5 9.0
\\ /9 MGGN300 ZP30 3.0 1.7 MGEHR2525-2 2.0 9.0
MGGN400 ZP30 4.0 2.0 MGEHR2525-2. 5 2.5 9.0
mn /nikoina 1avy | MGENS00 ZP30 5.0 2.7 MGEHR2525-3 3.0 9.0
MGGN150R-8 ZP30 1.5 | 1.7 R e r L
— MGGN200R-8 ZP30 20 | 1.7 5 Ne | 9.0
" MGEHR2525-6 6.0 | 10.7
' ( || MGGN250R-8 ZP30 2.5 | 1.9 e 50 | 164
: J /| MGGN300R-8 ZP30 3.0 | 2.0 WY 50 | 164
8° Taper i | MGGNAOOR-8 ZP30 4.0 | 2.4 N 70 | «ld
T W MGGN500R-8 ZP30 5.0 | 3.1 Inn /A2 e so MY
MGEHR3232-6 6.0 | 17.9
o~ e ol KN 779 MGEHR1010-1.5T12 | 1.5 | 10.7
7B | MeGN250L-8 ZP30 55 | 19 MGEHR1010~2T12 2.0 | 10.7
{ | - b
\ N s 3o | 29 MGEHR1212-1. 5T12 1.5 | 9.6
8° Taper\ / MGGN400L-8 ZP30 4.0 2.4 MGEHR1212-2T12 2.0 9.6
. ' ' MGEHR1616-1. 5T13 1.5 | 9.0
MGEHR1616-2T16 2.0 | 9.0
MGEHR1616-2. 5T18 2.5 | 9.0
MGMN150-G ZKO1 1.5 1.7 MGEHR1616-3T12 3.0 9.0
MGMN200-G ZKO1 2.0 1.7 MGEHR1616-3T20 3.0 9.0
MGMN200-M ZKO1 2.0 1.7 MGEHR1616-4T20 4.0 9.0
MGMN300-M ZKO1 3.0 1.7 MGEHR2020-1. 5T13 1.5 9.6
= MGMN400-M ZKO1 4.0 2.0 MGEHR2020-2T16 2.0 9.6
'1|1'\lcnopfi ?LJTLL:T:\U:'HH 1y MGEHR2020-3T20 3.0 9.6
- MGEHR2020~4T20 4.0 | 9.6
o MGEHR2525-3T20 3.0 | 11.0
MGMN200-G ZN6O 20 | 1.4 LS MGEHR2525-4T20 4.0 | 11.0
MGMN300-M ZN60 3.0 1.7
MGMN40O-M ZN60 4.0 2.0 MGEHL1010-1.5 1.5 | 9.0
MGMN500-M ZN60 5.0 2.7 MGEHL1010-2 2.0 | 9.0
SelmSt w03 | A MGEHL1212-1.5 1.5 | 9.0
QRN MGEHL1212-2 2.0 | 9.0
MGMN200-T ZP30 2.0 1.6 MGEHL1616-1. 5 1.5 6.7
MGMN300-T ZP30 3.0 1.6 MGEHL1616-2 2.0 6.7
MGMN400-T ZP30 4.0 2.0 MGEHL1616-2. 5 2.5 6.7
MGEHL1616-3 3.0 | 6.7
Hoon T MGMN300-H ZP30 3.0 | 1.6 MGEHL 1616-4 4.0 | 6.7
ST/ T A TIA MGEHL2020-1. 5 1.5 6.7
. MGEHL2020~2 2.0 | 6.7
MGMN200-G ZP20 2.0 | 1.6 MGEHL2020-2. 5 2.5 | 6.7
MGMN250-G ZP20 2.5 1.6 MGEHL2020-3 3.0 6.7
s MGMN250-M ZP20 2.5 | 1.6 MGEHL2020-4 4.0 | 67
v M MGMN300-M ZP20 3.0 | 1.6 MGEHL2020-5 50 | 6.7
NT9 Groving MGMN400-M ZP20 4.0 2.0 MGEHL2525-2 2.0 9.0
T, MGEHL2525-2. 5 2.5 | 9.0
MGMN150-G ZP30 1.5 | 1.6 e 3.0 190
MGMN200-M ZP30 20 | 1.6 Al Lise 40 | 9.0
MGMN200-G ZP30 20 | 1.6 MGEHL 2525-5 50 19.0
MGMN250-M ZP30 25 | 1.6 ALz zo=0 0:9%1 10.7
MGMN250-G ZP30 25 | 1.6 A Loz 3.0 | 16.4
MGMN300-M ZP30 3.0 | 1.6 MGEH 32304 4.0 | 16.4
G M MGNN400-M ZP30 40 | 2.0 MGEHL3232-5 50 | 16.4
nwR nTYo ) ’ =
i MGMNS00_M ZP30 50 | 27 NN/ 217 MGEHL3232-6 6.0 | 17.9

TIQ'Y N7

1T ,n721n MT 7713 1'K 2'Nn 7yn.
['02 1'NN NPOoY YIT MiIEn 17T,
2"XIT n7w XIX ,NI7RY 17 W' Dx: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

N1'A 'S 1IN/ nno Q10
End Face/lnner hole hole Turning Tool

XN NRINN Width USD XN NRINN 019N Width USD
MGIVR2016-1. 5 1.5 9.3
MGIVR2016-2 2.0 9.3
MGHH320R-35/48 3.0 19.0 MGIVR2016-2. 5 2.5 9.3
MGHH320R-48/66 3.0 19.0 MGI1VR2016-3 3.0 9.3
MGHH320R-64/100 3.0 | 19.0 MGIVR2520-1.5 1.5 11.0
MGHH320R-98/160 3.0 19.0 MG1VR2520-2 2.0 11.0
MGHH320R-160/400 3.0 19.0 MGI1VR2520-2. 5 2.5 11.0
MGHH325R-35/48 3.0 | 28.6 MGIVR2520-3 3.0 11.0
MGHH325R-48/60 3.0 | 28.6 MGIVR2520-4 4.0 11.0
MGHH325R-60/75 3.0 28.6 MGIVR3125-1.5 1.5 13.1
MGHH325R-64/100 3.0 | 28.6 MGIVR2925-2 2.0 13.1
MGHH325R-100/140 3.0 | 28.6 MGIVR3125-3 3.0 13.1
MGHH325R-160/400 3.0 28.6 MGI1VR3125-4 4.0 13.1
MGHH325R-200/800 3.0 | 28.6 MGIVR3125-5 5.0 13.1
MGHH420R-48/60 4.0 19.0 MGIVR3732-3 3.0 26. 1
MGHH420R-60/75 4.0 19.0 MGI1VR3732-4 4.0 26.1
MGHH420R-64/100 4.0 19.0 MGIVR3732-5 5.0 26.1
MGHH420R-98/160 4.0 |19.0 7w aw Ty MGIVR3732-6 6.0 26. 1
MGHH420R-160/400 4.0 19.0 21N 'N'9 1IN
MGHH425R-48/66 4.0 28.6
MGHH425R-64/100 4.0 | 28.6 ,
MGHH425R-100/140 4.0 |28.6 KA D79
MGHH425R-160/400 4.0 28.6
MGHH425R-200/800 4.0 | 28.6
7ayn v av Ty
NP 19 7y 3112 MG|VR2520-3T8 3.0 15. 4
21aKN NT79 MG | VR2520-4T8 4.0 15.4
MGHH320R13-30/50 3.0 21.9
MGHH320R15-50/80 3.0 21.9
. MGHH320R17-80/160 3.0 21.9
L MGHH320R18-160/400 3.0 21.9
N MGHH325R18-160/400 | 3.0 | 23.9 7¢ 123V T2
MGHH420R15-30/50 4.0 21.9 11n 'n'1d 1in
MGHH420R18-50/80 4.0 21.9
_ MGHH420R20-80/160 4.0 | 21.9 MGIVL2016-1.5 1.5 1 9.3
MGHH425R15-30/50 4.0 | 23.9 MGI1VL2016-2 2.0 1 9.3
MGHH425R18-50/80 4.0 | 23.9 MGIVL2016-2. 5 2.5 1 9.3
MGHH425R20-80/160 4.0 | 23.9 MGIVL2016-3 3.0 | 9.3
MGHH425R20-160-400 | 4.0 | 23.9 MGIVL2316-3 3.0 | 9.3
7ayn v av Ty MGIVL2520-1. 5 1.5 11.0
N¥pP 19 7u 2172 MGIVL2520-2 2.0 11.0
1aRA N9 MGIVL2520-2. 5 2.5 |11.0
MGIVL2520-3 3.0 11.0
MGIVL2520-4 4.0 11.0
MGIVL2925-2 2.0 13.1
MGIVL3125-3 3.0 13.1
MFH216R08-20/140 2.0 16.7 MGIVL3125-4 4.0 13.1
MFH320R10-25/140 3.0 21.4 MGIVL3125-5 5.0 13.1
MFH325R10-25/140 3.0 24.6 b , MGIVL3732-3 3.0 26.1
MFH420R12-25/140 4.0 | 21.4 Y v Ty MG IVL3732-4 4.0 | 26.1
MFH425R08-25/140 4.0 | 24.6 R MGIVL3732-5 50 |26.1
MFH425R10-25/140 4.0 24. 6
22yn 7w "1av Ty
n¥p 19 7y aNa
MGEVR1616-2 2.0 8.6
MGEVR1616-2. 5 2.5 8.6
MGEVR1616-3 3.0 8.6
MGEVR1616-4 4.0 8.6
MGEVR2020-2 2.0 8.6
MGEVR2020-2. 5 2.5 8.6
MGEVR2020-3 3.0 8.6
MGEVR2020-4 4.0 8.6
MGEVR2525-3 3.0 1.0
a2
MGEVL1616-2 2.0 8.6
MGEVL1616-2. 5 2.5 8.6
MGEVL1616-3 3.0 8.6
MGEVL1616-4 4.0 8.6
MGEVL2020-2 2.0 8.6
MGEVL2020-2. 5 2.5 8.6
MGEVL2020-3 3.0 8.6
MGEVL2020-4 4.0 8.6
MGEVL2525-3 3.0 1.0
72 112

1'7T,n721n M1 770 'k 'nn 7yn.
['02 ' POV Y7IT MiIEn 17T,

2"X1T NYw KIX ,NI7RW 17 W' Dr: eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

CNC %5 n7von

CNC Turning Tool

axXin nnimn XN niimn

5.4
5.3
5.4
6.0
8.3
3232 | 14.7 KTGFRIL..
4040R | 21.9 ZQ.. 210 Cut-off 17> NI 210 Groove '73 N7U9N
1616H 6.7 SPB226, 11.9 KTGFRI/L.. 1010 11.9
2020K 6.7 SP.. SPB326 11.9 210 Groove '72 N7yon 1212 1.9
2525M 8.6 Y\ SPB426 11.9 1616 11.9
3232p | 14.7 - SPB232 14.3 - 2020 | 131
4040R 29.0 SPB332 14.3 - 2525 15.4
SPB432 14.3
SPB.. 210 Cut-off '72 N119 2'ANN NT79
1616H 6.7 SLTBN.. 1616 | 22.6 1010 7.1
2020K 6.7 ; 2020 22.6 1212 7.1
2525M | 8.6 o= 2525 | 22.6 1616 7.1
3232P 16.4 - 3232 29.7 2020 7.1
4040R 32.4 2525 9.3
KTGFSRIL..
w7 n7yon 7t a0 110 Groove '72 N7y9n
1616H 9.3 MGEHR/L.. 71NN 210 1010 7.1 1616 6.7
2020K 9.3 /N1 1212 7.1 2020 6.7
) 2525M | 11.0 1616 6.4 N 2525 8.9
o9 3232P 14. 6 2020 6.4
4040R 36.0 MGMN.. 2525 8.9
3232 16.4 SGBRIL..
D'75 n7y9n 771 210 210 Groove '72 N7y9n
SN'M'19 N0INN 75 210 S06K 5.4 MGEHR/L.. 71NN 210 1010 9.6 1616 9.0
SO7K 4.6 /MM 1212 9.6 2020 9.0
2 S08K 4.6 1616 8.9 2525 11.9
=5  S10K 4.6 MGMN... 2020 9.6
S12M 5.0 2525 11.0
S14N 5.4 , SGBSRI/L..
g}gg 231 21NN TS 110 Groove '72 N7y9n
. 1616 8.6
S20R | 6.4 2020 | 86 ;8;8 193- 31
S2558 | 9.7 2525 | 11.0 2525 | 16.4
S32T 14.6 .
MGEVRIL.. CGBRIL..
210 Groove '70 N'7¥9n 210 Groove '72 N7VY9n
ST'M'I9 VNN ') AL S07 5.4 2'2AXN NT79 16 9.3 1616 11.9
‘ S08 5.4 20 11.0 2020 14.3
S10 5.4 25 13.1 2525 17.9
S12 6.9 32 25.7
S16 8.6 40 54.3
520 9.7 MGIVRIL. Type Inner Hole RIEL) G CGBSRIL..
2'aXN NT7P a7 1Y 20 15.4 210 Groove 72 N7¥90n
HT'M'19 AVANNA 7D A10 S06 14.6 CGWSR/L.. 11NN 210 1616H 9.6 QE..R/L.. 1INN 110 1616H 9.3
S07 14.6 /MM 2020K 10.7 /N1 2020K 1.0
S08 14.6 2525M 12.6
$10 16. 4 3232P 20.0
S12 18.1 .
S14 20.0
S16 21.7
S18 34.6 1616 10.3 DGTRIL. NN 210 1616 | 15.3
S20 43.6 2020 10.3 /MM D } 2020 | 16.9
S25 65.0 GY2M.. 2525 11.9 ‘ 2525 | 20.4
DGN.
NN NN INT?9 GEHRL.. 1INN 210 ;
/N1M2A 7D
cN'M"9 nvINN 7D 210 C04G 19.0 KGMR/L.. 1NN 210 1010 10.3 FGHH..R/L. . 1616 28.6
C05G 19.0 /N7y 1212 10.3 [ 2020 28.6
C06J 19.0 1616 9.3 2525 32.4
CO7K 19.0 2020 11.0
CO8K 22.6 GMN.. 2525 12.9 FMN.. W'Yy
C10K | 26.1 GMG.. 3232 20.0 OX9 910 |ja%1 Ny
C12M | 33.3 A T
C14N | 52.4 TTER/L.. 71NN 210 1010 10.3 N 1616 | 35.7
c1eQ | 69.0 MM 19D 1212 | 10.3 2020 | 38.1
c18Q | 81.0 1616 9.3 2525 | 42.9
C20R | 95.3 2020 | 11.0
€258 204.7 2525 12.9
T2 vIny B Ty 3232 20.0 OX9 910
1IN YJ TINY
S16Q 8.3 TTIR/L.. Type Inner Hale 16 14. 3 . 1616 23.9
S20R 8.6 ORRPRTE 20 16.7 y 2020 | 21.9
233? 12-2 25 19.0 o= 2525 | 23.9
S40T/U | 28.9 ROMN. %
\ S50V 72.1
S.M.71'M'19 N0INN 72 AIg 1:ANN ATY9 Ho_\’t?_ﬂ'_\om

17,072 M1 2710 'k 'nn yn.
['02 'NN NPOY YIT MiIEn 17T,
2"XIT NYw XKIX ,NI7XW 17 W' Dr: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

CNC "% '7n nyon

CNC Activation Tool Parts

AXIn NRINN Size

a¥Iin NN Size

MC0903 0.4 M-210 clamp HL1810 0.4
“ MC1204 | 0.6 HL1814 | 0.4
MG1604 1.1 HL1917 0.4
£ MC1904 1.6 HL2114 0.4
e 2217 | 04
HL22175%%5 1.0
C-TI70 Shim HL2414 0.4
- MD1103 0.4 M-i7 TR A711 210 ML520 0.3
. i MD1504 | 1.0 ML620 0.3
’ MD1506 A ML625 0.3
ML630 0.3
ML830 0.8
D-T770 Shim
MS0903 0.6 w-210 Clamp WT16 0.4
> MS1204 0.6 Wwwos 0.4
MS1504 1.1
g MS1904 1.6
S-T770 Shim
MT1603 0.3 W-?Tnn ania alo WC0525E 0.4
MT1604 1.1 WC0625E 0.4
& MT2204 | 11
T-T1770 Shim
MV1603 0.6 D-A10 Clamp DC12 1.0
DD15 1.0
DT16 1.0
DV16 1.0
DW08 1.0
V-T2 Shim
! MWO0603 0.4 D-j7TNN 2112 210 DL525 0.7
- Mwo804 0.6 . DL625 0.7
W-TT7T Shim
STM16R 0.3 DDC12 0.5
- STM16L 0.3 DDD15 0.5
STM22R 1.0 DDT16 0.5
STM22L 1.0 DDV16 0.5
DDW08 0.5
STM—'r‘vnn Shim D-T7{70 Shim Screw
CTM510 0.2 L-'M'19 1190 nwiwn o | L1.5 0.2
CTM513 0.2 L2.0 0.2
CTM613 0.2 L2.5 0.2
CTM617 0.2 L3.0 0.2
CTM619 0.2 L4.0 0.2
CTM515-T 0.2 L5.0 0.3
CTM618-W 0.2
CTM0822 0.3 . ; TL1. 1.0
a2 | 0.7 T-'N"19 1190 NYIYN 110 TLz.g e
CTM1022 0.3 TL2.5 1.0
CTM1022":5| 0.7 TL3.0 1.0
TL4.0 1.0
TL5.0 1.0
A '9 ™IN
M2. 0X5 0.1 AT N2 AT T6 0.2
M2. 2X5 0.1 T7 0.2
M2. 5X5 0.1 - T8 0.2
M2. 5X6 0.1 T10 0.2
M2. 5X8 0.1 T15 0.2
M3. 0X8 0.1 T20 0.2
M3. 5X10 0.1
M3.5X12 | 0.1 227 N2 AT 16 0.8
M4. 0X8 0.1 17 0.8
M4. 0X10 0.1 T8 0.8
M4. 5X12 0.1 T10 0.8
M5. 0X10 0.1 T15 0.8
M5. 0X12 0.1 120 0.8
T-D'9'TY NNON 110 TT6 1.0
TT7 1.0
TT8 1.0
TT10 1.0
TT15 1.0
TT20 1.0
2112 70 N9 Ty

1 'nT ,n%721mn mT 770 'k 'nn 7yn.

|'02 2'NN NPOY 17T AN 17T, 20
7"X1T NYw KIX ,NI7RW 17 W' or: eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

MY NIT YIN'N NAIDN NYIT

Machine-Clamped Right-Angle Milling Cutter

S¥IA T AN von USsD qNIN DI0TD 910 DY N'IT [WN 210 N7'V) JNIN D107 qi0 W' nut znn Toolholder
— " Locking Tooth Type Right-Angle End Milling Cutter Discarded Right-Angle End Milling Cutter Toolholder
S——
: APKT113502 CBN1 0.2 | 69 D} 7 o b ¢
APKT113504 CBN1 0.4 6.9 ‘ T !
e APKT113508 CBN1 0.8 6.9 o o0 —
o'anin HUWI)’JIWIX'VT“I:\ dxDxL USD
BAP300R C10-10-120-1T 3.3
APKT160402 CBN1 0.2 6.9 BAP300R G10-11-120-1T 3.3
APKT160404 CBN1 0.4 6.9 V9N BAP300R C12-12-130-1T 3.3
APKT160408 CBN1 0.8 6.9 DxTxM gﬁggggg g}i—}i—lgg—g i-g
e na —14- = .
DN ORI LTI 7T BAP3-11-1T-M5 23.9 BAP300R C14-14-150-2T 4.6
e R 053 BAPOOR C15-15-150-2T 4.6
APKT113502 PCD1 0.2 6.9 : BAP300R C15-15-200-2T 5.4
APKT113504 PCD1 0.4 6.9 ~ BAP3-16-2T-M8 286 BAP30OR C15-16-150-2T 4.6
by ina APKT113508 PCDT 0.8 | 6.9 | BAPSH7-2T-MB 280 BAP3OOR C15-16-200-2T 5 4
niami nein S 510 BAPSOOR C15.6-16-150-2T | 4.6
o 2121 : BAP300R C15.6-16-200-2T | 5.4
i RS 223 BAPSOOR C16-16-120-2T 4.6
A APKT160402 PCD1 0.2 6.9 o. BAP300R C16-16-150-2T 4.6
APKT160404 PCD1 0.4 6.9 BAP3-26-2T-M12 333 BAP300R C16-16-200-2T 5.4
APKT160408 PCDT 0.8 | 69 [NEEaEuliaHE 333 BAP3OOR G16-16-250-2T 9.6
YW N BAP3-26-4T-M12 35.7 _17-190—
. BAP300R C16—-17-120-2T 4.6
—— BAP4-25-2T-M12 333 BAP30OR C16-17-150-2T 4.6
B 2e21 2 3577 BAPSOOR C16-17-200-2T 5.4
APKT1135PDER-AL ZKO1 | 0.8 1.4 = ) BAP300R C16-17-250-2T 9.6
DT o G| BAPSOOR C16-18-150-2T 5.4
APKT1604PDER-G2 ZKO1 | 0.8 1.9 BAPA-32-3T-M16 40 4  BAPSOOR C16-18-200-2T 6.1
w1 BAP4-35-3T-M16 42' 9 BAP300R C19-20-150-2T 5.4
QU Al 7 TeAn : BAP300R C19-20-200-2T 6.1
BAP naw' n'iit n 179 BAP300R C20-20-120-2T 5.4
: Junamin o e 7 BAP300R €20-20-150-2T 5.4
APKT1604-AL ZKO1 0.2 19 End Milling Cutter BAP300R C20-20-200-2T 6.1
T : : BAP30OR C20-20-250-2T 9.6
. BAP300R €20-21-120-2T 5.4
wanta — —_ —°
BAPGOOR 0202120021 | ¢ 1
A BAP300R C20-21-250-2T 9.6
APMT1135-TG ZN60 0.8 1.4 BAP300R (C24-25-150-3T 10.3
BAP300R ($24-25-200-3T 11.9
APMT1604-TG ZN60 0.8 1.9 BAP300R ($24-25-250-3T 14. 3
Cermet niT79 |"o T2 BAP300R (C24-25-300-3T 20.4
210 007 ¥' 0'p7n BAP300R C25-25-150-3T 10.3
BAP300R ($25-25-200-3T 1.9
(U l>)a] BAP300R (25-25-250-3T 14.3
APMT1135PDER-M2 ZP25 | 0.8 1.1 DxdxT BAP300R (€25-25-300-3T 20. 4
BAP300R 40-22-4T 11.9 BAP300R (C25-25-150-2T 7.4
APMT1604PDER-M2 ZP25 | 0.8 1.9 BAP300R 50-22-4T 15.3 BAP300R (C25-25-200-2T 8.9
BAP300R 63-22-6T 20. 4 BAP300R ($25-25-250-2T 1.9
BAP400R 40-22-3T 10.3 BAP300R (25-25-300-2T 19.0
BAP400R 50-22-4T 10. 3
APMT1135PDER-H2 ZP25 | 0.8 1.1 BAP400R 63-22-4T 11.9 gﬁgiggs g%i—%g—;gg—%; ; Z
BAP400R 80-27-6T 20. 4 —29-200~ .
APMT1604PDER-H2 ZP25 0.8 1.9 BAP400R 100-32-6T 32.4 BAP400R C24-25-250-2T 11.9
BAP400R 125-40-7T 51.0 BAP400R ($24-25-300-2T 19.0
n'11'a na'x¥n BAP400R 160-40-8T 61.1 BAP400R (25-25-150-2T 7.9
Sroon R oo B
= BAP400R 250-40-12T 187.1 —Z297 20U~ .
= APMT1135PDER-XM ZP25 | 0.8 1.1 BAPAOOR 30040141 g EQEZ{SSE ggg_gg_?gg_g . 79_90
_ BAP400R 50-25. 4-4T 1.9 —20-150— .
g APMT1604PDER-XM ZP25 | 0.8 1.9 BAPAOOR 63-25. 44T 15,3 gﬁgiggs ggg_gg_ggg_%¥ 191%
"% 101N Ty Do Goo25. 48T 7 BAPAOOR 025-26-300-2T | 190
BAP400R 100-31. 75-6T 35.7 P i 10- ;
APMT1135PDER ZM9O 0.8 2.0 AL-BAP n107> n'1d 10 "Y' DT DIN'AITR BAP40OR G25-30-200—2T 11 9
AL-BAP Aluminum Right-Angle End Milling Cutter BAP400R C25-30-250-2T 16.9
APMT1604PDER ZM90 0.8 2.7 BAP40OR (25-30-300-2T 20.4
BAP400R (€32-32-150-3T 13.6
NN DIN'YE TIA'Y HRC 62 BAP400R €32-32-200-3T 15.3
BAP400R (€32-32-250-3T 18.9
s 4 APMT1135PDER ZP20 0.8 1.6 BAP400R (€32-32-300-3T 23.9
- . ] BAP400R ($32-32-350-3T 27.1
" S APMT1604PDER ZP20 0.8 2.3 BAP400R (€32-32-400-3T 35.7
e . BAPAOOR C32-35-150-3T | 136
95 AIna TIaY D BAP400R €32-35-200-3T 15.3
BAP400R (32-35-250-3T 19.7
A BAP40OR €32-35-300-3T | 23.9
APMT1135PDER ZP30 0.8 1.6 BAP400R ©32-35-350-3T 27.1
AL-BAP400R 50-22-4T 16.9  BAP40OR ¢32-35-400-3T 35.7
APMT1604PDER ZP30 0.8 2.3 AL-BAP400R 63-22-4T 22.1 BAP400R C32-40-150-3T 15.3
90 InIna T AL-BAP400R 80-22-6T 30.7 BAP400R C32-40-200-3T 17.6
- AL-BAP400R 100-22-6T 54.6 BAP40OR €32-40-250-3T 22.1
q APMT1135PDER ZP60 0.8 1.4 AL-BAP400R 125-27-7T 85.0 BAP400R C32-40-300-3T 25. 4
AL-BAP400R 160-27-8T 953 BAP400R C32-40-350-3T 30.7
- APMT1604PDER ZP60 0.8 1.7 AL-BAP400R 200-27-10T 204.0 BAP400R C32-40-400-3T 39.0
AL-BAP400R 250-32-12T 272.1 BAP400R C32-50-150-4T 221
9 901N TIAY AL-BAP40OR 300-32-14T | 340.3  BAP4QOR €32-50-200-4T 27.1

1'T,n721n 'MT 2710 11'k 'nn 7yn.

['02 1'NN NPOY YIT MiIEn 17T,
2"XIT N7w XIX ,NI7XY 17 W' Dr: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

Machine-Clamped Jnin qxn JIn'n 71y

Machine-Clamped Round Nose Milling Cutter

n7'1 U a0 ANIN D107 Q10 XN §10 10N Toolholder

XN Ninn Locking Tooth Type Round Nose End Milling Cutter Discarded Round Nose End Milling Cutter Toolholder
b u} - ...__._.__._Id
RDMW1204MOT—PM ZP30 | Ré 1.7 ;HL |
—| 0190 a'nn
RDMW1605MOT—PM ZP30 | RS 2.4 ; S .
773 MIny T ENR C10-4R10-120-1T 3.3
= N EMR C12-4R12-130-1T 3.3
A EMR C12-4R13-130-1T 3.3
= =4 EMR C16-4R16-150-2T 5.0
\ RPGT1003-AL ZKO1 R5 1.9 EMR C16-4R16-200-2T 6.1
EMR G16-4R17-200-51 29
¥ A 019N a'nn a DALy :
L EIR §1o-4R20-200-T &0
Eﬂﬁﬁi‘l?‘ﬂ‘ﬂﬁ gg-g EMR C20-4R20-150-2T 6.1
= 7=21 . EMR C20-4R20-200-2T 6.9
n RPM1003M0  ZN60 RS | 1.6 EMRR4-20-2T-M10 31.0  EMR G20-4R20-250-2T 1.9
RPMI1003 ZN60Owen crarerng| -~ RS 1.3 EMRR4-21-2T-M10 31.0  EMR C20-4R21-150-2T 6.1
p— RPMT1204MO0 ZN60 Ré 1.9 EMRRA—25-2T—M12 333 EMR G20-4R21-200-2T 6.9
CermetNT79 |''© N'111'2 EMRR4-26-2T-M12 33.3 EMR C19-5R20-150-2T 6.1
110 D''07 W' 0'Z7N EMRR4-25-3T-M12 35.7 Ems g;g:gg%g:fgg:g Z-?
p EURRS 2021410 o R BT,
RPMTO8T2-JS ZP25 R4 1.1 Emsgg_%_g_mg 3; g EVR C20-SR20-250-21 o
~2=21 ) EMR C20-5R21-200-2T 7.4
RPNT10T3-JS ZP25 RS 1.4 EMRR5-26-2T-M12 33.3  EMR C20-5R21-250-2T 11.9
EMRR5-30-2T-M16 38.1  EMR C20-5R25-150-2T 7.9
- EMRWR5-30-3T-M12 40. 4 ~5R25-250~ :
EURIRS-32-3TW1¢ 04 iR Gaskoisost | 10
' RPMT1204M0 ZM9O RO | 2.0 ENRWR6-25-2T-M12 333 JEEEE %0
- ncle L monemn L)
' ' —oU=Z 1~ . = = = 7.
0N132 NIDIYH TI1'Y HRO 62 EMRWR6-32-2T-M16 38.1  EMR C25-5R25-200-2T 9.6
FIRIRG™35-3T16 27 HR i oroe 0001 | 190
RPMT1204M0 ZP30 R6 | 1.7 e il I
EMR C25-5R26-250-2T 13.6
, . EMRDIOND YX¥IP 910 N¥7 712V NT79  EMR (25-5R26-300-2T 19.0
775 anina Tty EMR Steel Round Nose End Milling Cutter EMR C25-5R30-150-2T 10.3
P
1 EMR C25-5R30-300-2T 19.0
- RPMT1204MO0 ZP60 R6 1.7 EMR C32-5R35-150-3T 13.6
E— EMR C32-5R35-200-3T 15.3
EMR C32-5R35-250-3T 18.9
1793 1N TIA'Y EMR C32-5R35-300-3T 23.9
EUR Coo-oRaedo03T | 00
[ ” EMR C32-5R40-150-3T 15.3
Al RPMT1204-XM ZP25 R6 1.3 EMR C32-5R40-200-3T 18.9
v EMR C32-5R40-250-3T 20. 4
EMR C32-5R40-300-3T 23.9
795 Anina Ty EMR C32-5R40-350-3T 30.7
e same e
EMR C32-5R50-200—4T 27.1
05N EMRW C25-5R25-150-2T 7.9
RPMW1003MO ZM90 RS 1.7 DxdxT D EMRW C25-5R25-200-2T 9.6
N2 NIN'EYF T11%Y HRC 62 I aReo aaer 503 EMRW G25-5R30-200-2T 11.9
: EMRW C25-5R30-250-2T 16.9
EMR 5R100-32-6T 32.4 ENRW ¢32-5R35-150-3T 13.6
A 2 i ] 510" ENRW €32-5R35-200-3T 15.3
RPMW1003M0 ZP20 R5 1.3 EMR 5R160-40-8T 61.1 EMRW C32-5R35-250-3T 18.9
N EMR 5R50-25. 4-4T 1.9 EMRW C32-5R35-300-3T 27.1
EMR 5R63-25. 4-4T 15.3  EMRW C25-6R32-150-2T 10.3
%% Anina TIay EMR 5R80-25. 4-6T 23.9 EMRW C25-6R32-200-2T 11.9
EMRW 6R50-22-4T 10.3 ~6R32-300~ :
i iz |00 S QREEEON |
RPMW1003M0 ZP30 RS | 1.3 Em 25?8525621 gg-j EMRW C32-6R32-250-2T 18.9
=32~ : EMRW C32-6R32-300-2T 23.9
EMRW 6R125-40-7T 51.0 EMRW C32-6R32-350-2T 27.1
'772,a01N Ty EMRW 6R160-40-8T 611 EMRW C32-6R32-400-2T 30,7
_ EMR 6R200-40-10T 119.0  EMRW C32-6R35-150-2T 15.3
§ EMR 6R250-40-12T 187.1 Emsw gg%—gsgg—%gg—g ; 83
:” EMR 6R300-60-14T 238.1 ~6R35-250~ .
\ . i GIL 25 RS | 1.3 25 4- 1o EMRW G32-6R35-300-2T 27. 1
ENRI 6R50-25. 4-4T ' EMRW C32-6R32-350-2T 28.9
R e e e 7o ENRW C32-6R32-400-2T 32.4
'73401N T2y EMRW 6R100-31. 75-6T 35.7 ST 46.9
EMRW C32-6R40-250-3T 22. 1
RPMW1003-XM ZP25 RS | 1.3 [reAvovel19MAeRP. Inseris EVRI G32-6R40-380-31 307
: RC../RD..7RW NIX ,790nI q'0In! EMRW C32-6R40-2400-3T 39 0
The Above Y1910 Are RP. lagets. . EMRW C32-6R50-150-4T 23.9
||7|73 '17]]1']3 'Il:l'l) . . Inserts an andle, please Inquire EMRW 032_6R50_200_4T 27 1

1T 072N T 270 'Kk nn un.
i .
102NN AROY YNIT MIgn YT

2"XIT NYw KIN ,NI7RW 17 W ox: eva@mzgtool.cn http://www.mzg.tw

N
N



http://www.mzg.tw

1NN 0OI0Nd 1NIN NidnN

Machine-Clamped Milling Cutter

Product Product Product Product

079N 079N 079N

uUsD uUsSD

Pictures Pictures Pictures Pictures
L AR T P3200-R4 ZP10 7.4
a DENEYZ-DRNRINI P3200-R5 ZP10 8.3 LNMUO303ZER-MJ 800-08A
; ’ SEHT1204AFFN CBN1 | 7. 1 RI2004Re3ZRI0 5
) P3200-R10 ZP10 11.9
y 2Uama Pratle Fine Miling of Eg%gg:g]é' §Pﬂ§‘° §? 13 PNMUO905GNEN-MJ 800-08T308M-C-G
! | Copper and Aluminum 955 9010 | P3200-R16 zP10 40.3
SEHT1204AFFN PCD1 | 7.1 e henaiat i I
ZPFG120 ZM55 17.1 PNMUO905XNER-GM 800-08T308M-1-G
= (705 it
b Copper and Aluminum ZPFG250 ZM55 32.4
| | SEHT1204AFFN ZKO1| 1.7 ézz?::gﬂfvsmcss 51.4 SNMU130508EN-GM 800-09T308H-P-G
BNM120 ZM55 17.1
BNM160 ZM55 18.6
. BNM200 ZM55 23.9
79 NI TIAW BNM250 ZM55 32.4 WNMUOBOGOBEN-SM R390-11T308-PM
1795 1niIn BNM300 ZM55 4.0
SECA1204AFTN ZP30| 3.1
nITI N7 W Ao ggﬂ}ggggggzm
T RSy ATV TR o] Locking Tooth Type Spherical End Milling Cutter 3PKT190608R-M SCMTO9T308-MM
295 nin v 3.1
|| SEHT1204AFSN ZM90 XJMG1204 é S-R215. 44-15T364M
NN M nnipn 4
: 2 HNGX0906-FF S8 |naN3102c
275 in v
SEKT1204AFTN ZM90
T2139M-5R-M5 . WNMX060312ZNN-MM m GRIP3003Y
T2139M-6R-M6 31.0 WNMXO9T316ZNN-MM GR1P4004Y
T2139M-8R-M8 33.3
KMD'19 ININ N1'NV ° 45 nTY9 {%}ggmjgf*gglﬁn 33;{
KM Steel 45° Face Milling Cutter T2139M-15R-M16 40.4 6NGUO60408R-M LNKX1506-G
- 6NGU090508R-M
175 D107 DI'O NITD NNIYN —_
Discarded Spherical End Milling Toolholder CNHX100508T "‘- WXCU080612T
0T g = =7d CNHX131108T P 4
| |
L LNKX1005-Y
AXMT060208R-EM LNKX1206-Y
vIoNn E. LNKT1507
dxDxLxT
C10-4R-100-1T 8.9
C12-4R-130-1T 8.9 BLMPO603R-M - $229. 0300. 32
C16-4R-150-1T 10.7
[ 1)) C10-5R-120-1T 8.9
DxdxT C12-5R-150-1T 8.9
C16-5R-150-1T 10.7 BLMPO904R-ML SOEX090408-13
KM12-50-22-4T 72139 C12-6R-130-1T 8.9
KM12-63-22-4T 153 12139 C12-6R-150-1T 8.9
KM12-80-27-5T 25.4 g}gg g]g—g%—;gg—ﬂ 1(2). 7
KM12-100-32-5T 35.7 —6R-200— 12.6
KM12-125-40-6T 51,0 %}gg 81 2_35_% SS‘H 1? 8 BLMP1205R-M ° HNPJ130720ANSN-HD
KM12-160-40-6T 61.1 —OR—ZU0= -
KM12-200-40-8T 136 0 12139 C20-8R-200-1T 16.7
KM12-250-40-10T S04 0 12139 C25-8R-250-1T 19.7
KM12 300-60-12T 555 0 12139 G20-10R-150-1T 13.9 BLMP1306R-M SP1RH5-LT-L
: 12139 C20-10R-200-1T 16.0
KM12-50-25. 4-4T 13.6° 12139 €25-10R-250-1T 19.7
K1 2-80-25.4-51 %0 T3 a1y aRao T
—80-25. 4— . T 5-12. 5R-150-1T 16.7 LT
KM12-100-31. 75-5T 390 12139 €25-12. 5R-200-1T 19.6 TNGXZ207PNTN - SPIRHSLTD
T2139 €25-12. 5R-250-1T 22.1
KM Aluminum 45° Face Milling Cutter T%}gg g%g—] % 5R—:3388—} T 25.0
o T —12. 5R-300-1T 27.9
KM Aluminum 45 FaceDM\ng Cutter 12139 632-15R-150-1T 8 3 ZNHU080-08 - APMT1003-NN
T2139 €32-15R-200-1T 21.0
. T2139 €32-15R-250-1T 23.9
T2139 €32-15R-300-1T 26.7 3
12139 ©32-15R-350-1T 30.4 SNMX1205XTN ( } SEKN1203AFTN-NN
T2139 €32-16R-150-1T 18.3
T2139 €32-16R-200-1T 21.0
T2139 C32-16R-250-1T 23.9 —
12139 €32-16R-300-1T 26.7 f
12139 032-16R-350-1T 30 4 SOMT050204-DP SEKR1203AFTN-NN
Insert:ZPFG.. SOMT060204-DP
C16-8R-150 23.9 SONT070306-DP
cieo i oy
-10R- 7 TPUN160308-NN
620-10R-200 37.6 S
C25-12. 5R-150 39.7
G25-12. 5R-200 49.6
DxdxT et 8%31%5?3550 ig: ‘7‘ Q AXMT123508PEERG u APKT150412-PM
AL-KM12-50-22-4T 16.9° ABPF €32-15R-200 51.7
AL-KM12-63-22-4T 22.1 ABPF (C32-15R-250 59.6
AL-KM12-80-22-5T 30.7 ABPF (€32-15R-300 79.3
AL-KM12-100-22-5T 54.6 InsertBNM.. | RPHX1204M6EN-M31 SPMT120408-PM
AL-KM12-125-27-6T 85.0 EWE gg—gs—gg—ﬂ Hg 4
AR oo eT i BNML C16-8R-150-1T 15.0
AL-KM12-250-32-10T 272.1  BNML G16-8R-200°1T 17.9 XNEX0B0608-MD15 ONHU060408-PH
: BNML C20-10R-150-1T 21.0 ONHUO8T508-PM
e 00ns 22 9403 BNML G20-10R-200-1T 23.9
Qt—mg-gg-gg- f{-ﬂ ;g? BNML G25-10R-250-1T 29.7
i —63-25. 4~ . BNML C25-12. 5R-150-1T 25.0
AL-KM12-80-25. 4-5T 32.4  BNML 025-12. 5R-200-1T 29.7 u ROUXISCE0S IS ’ 8.8
AL-KM12-100-31. 75-5T 54.6 BNML C25-12. 5R-250-1T 33.3

1T ,n72n mT 270 'k nn un.
['02 1'AN DPOY YIT MiIpn 17T,

7"XIT N7w KIX  NI7RY 17 W' ox: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

n'NN NNTEYN N90IN A10

Insert Type Quick Drill

ANIN DI0ND 10 "MW N'IT |[Wn al0 n7'wa

NI N7 W aio

Locking Tooth Type Right-Angle End Milling Cutter | ocking Tooth Type Spherical End Milling Cutter AELERNENEY AL & =
WCMX030208 ZP25 0.8 1.4
WCMX040208 ZP25 0.8 1.4
\M \ M WCMX050308 ZP25 0.8 1.7
WCMX06T308 ZP25 0.8 1.9
x - 79 T AT WCMX080412 ZP25 1.2 | 2.6
N & SLLEETILE
ert R3901T. p WCMX030208 ZP30 0.8 | 2.3
-
— — xR —— WCNX06T308 ZP30 0.8 | 2.6
R39011-16-2T-M8 28.6  BNM-10-R5-M5 . 7¢ TIAY DT WCMX080412 ZP30 1.2 3.7
R39011-17-2T-M8 28.6 BNM-12-R6-Mé 35.7 e
R39011-20-2T-M10 31.0 BNM-16—-R8-M8 38.1 SPMG050204 ZP25 0.4 1.4
R39011-21-2T-M10 31.0 BNM-20-R10-M10 38.1 SPMG060204 ZP25 0.4 1.4
R39011-25-2T-M12 33.3 BNM-25-R12. 5-M12 40. 4 SPMGO7T308 ZP25 0.8 1.7
R39011-26-2T-M12 33.3 - SPMG090408 ZP25 0.8 1.9
R39011-30-2T-M16 35.7 7¢ TV TR SPMG110408 ZP25 0.8 | 2.3
R39011-32-2T-M16 35.7 793304
R39011-33-2T-M16 35.7 SPMG050204 ZP30 0.4 2.7
R39011-35-2T-M16 42.9 SPMG060204 ZP30 0.4 2.9
SPMGO7T308 ZP30 0.8 2.9
ANIN D101 10 MY N'HT WA 210 001 17D VLY TA1 NT79 VOV SPMG090408 ZP30 0.8 | 3.3
Locking Tooth Type Right-Angle End Milling Cutter ~ Tungsten steel anti-vibration tool rod |7W TIA'y n|'|'l|7 ggmgllgigg %Egg 8 g g 2

A ﬂlnlull') alimBalinl

WC ANTPNn NY'an ndoin alo
WC Insert Type Quick Drill

Insert: JDMTO0702..

015N A
DxTxM us
JOMTO7-11-2T-M5 35. 8 12| xcMTodo104 | 61.7[ 91.4| - | -
JOMTO7-12-2T-M5 35. 10 12 | XCMT050204 | 57.1| 85.0| - | -
JDMTO7-12-2T-M6 35. 12 16 | XOMT060204 | 47.1| 65.3| - -
JDMTO7-13-2T-M6 35. 14-14.5 | 20 | WCMX030208 | 25.3| 32.9 | 37.6| 67.1
JDMTO7-14-2T-M6 35. 15-20 25 | WCMX030208 | 25.3| 32.9| 376 67.1
JDMT07-16-3T-M8 42. vlon a'nn 20.5-24.5| 25 WCMX040208 35.3] 42.6 50.3| 72.9
JDMT07-17-3T-M8 42. dxDxLxM usD 25 32 WCMX050308 35.3] 42.6 50.3| 72.9
_08—100— 25.5-30 32 WCMX050308 42.6| 45.3 52.9 1 80.0
AU, = o0 30.5-31 32 WCMX050308 57.6| 59.6 72.9 ] 100.4
—10-100— 31.5-40 32 WCMX06T308 57.6| 59.6 72.9 | 100.4
P R Ay 32 | WOMX06T308 | 69.0| 76.7 | 960|125 7
ANIN DI0YD 10 NIY! N'IIT [WN 210 N2 ; 42 40 WCMX06T308 69.0] 76.7 96.0| 125.7
Locking Tooth Type Right-Angle 1IN JNIN 910 —19-100—| ) 43-45 40 WCMX080412 69.0| 76.7 96.0| 125.7
N2 2o 50 4650 40 | WOMX080412 | 75.4| 93.3 | 102.9| 1371
MEL12-12-200-M6 1357 51-55 40 | WOMX0B0412 | 85.0| 109.7| 130.3| 148.6
M ) 56-57 40 WCMX080412 89.0| 112.4| 171.4] 165.7
58-59 40 WCMX06T308 89.0| 112.4| 171.4| 165.7
MFL15-15-150-M 131.0
LS oo e 178 6 60-63 40 | WCMX06T308 | 93.3| 123.3| 197.9| 201.1
MEL16-16-100-M8 a5 6465 40 | WCMX06T308 | 1003 137.1| 224.0| 231.0
9 AL i 31 66768 40 | WCMX06T308 | 101 7 151.0| 228 6| 240.0
Insert: AXMT0602.. MFL16-16-200-M8 1 78 6 69-70 40 WCMX06T308 102. 160.0 240.0| 262.9
MFL16-16-250-M8 2261
SP Insert N1'NN NNTPN 10 L~
AXMT06-11-2T-M5 357 MFL19-19-150-M10 204.7 sp Insert Type Quick Drill
AXMTO6~12-2T-M5 357 MFL19-19-200-M10 273.9
AXMT06-12-2T-M6 357 MFL19-19-250-M10 326. 1 d
AXMT06-13-2T-M6 357 MFL20-20-100-M10 154. 7
AXMTO6~16-3T-M8 429 MFL20-20-150-M10 204.7
AXMT06-17-3T-M8 429  MFL20-20-200-M10 273.9
MFL20-20-250-M10 326. 1 :
Locking oot Type FastJNIN AMIN 10 AR 3739 "43-14.5 | 20 | SPMGO50204 | 30.4| 35.7| 44.7| 78.6
QNN DIOND DI'O AN [UA 210 N7V A AEA_ 15 25 SPMG050204 30.4] 35.7 44.7 | 78.6
o2 2759 15520 | 25 | SPMGO60204 | 30.4| 357 | 4.7 /8.6
; MFL24-24-250-M12 450' 0 20.5-21.5| 25 SPMG060204 41.9| 47.6 60.7 | 83.3
% A V0245 | 25 SPMGO7T308 | 41.9| 47.6| 60.7] 83.3
LA . 5357 95-97.5 | 32 | SPMGO7T308 | 50.3| 54.7| 654 91.4
MFL25-25-150-M12 273.9 2 - \ - -
MFL25-25-200-M12 376 1 28-30 32 SPMG090408 50.3| 54.7 65.4| 91.4
Q MFL25-25-250-M12 450' 0 30.5-33.5| 32 SPMG090408 66.9| 72.9 88.1] 108.6
. 34-40 32 SPMG110408 66.9| 72.9 88.1| 108.6
MFL25-25-300-M12 535.7
MFL25-25-350-M12 7500 41 32 SPMG110408 79.0] 88.1 105.4] 137.1
g-\Tg?/I jl;?Dn . 42-45 40 SPMG140512 79.0] 88.1 105.4] 137.1
I —_29_90N_| 46-50 40 SPMG140512 88. 1 98.9 125.7] 148.6
AJX06-16-2T-M8 31.0 W a0 2007 Mo bLa3 75155 40 | SPMGO7T308 | 94 3| 111.0| 144.0] 171 4
AJX06—-17-2T-M8 31.0 MFL32-32-300-M16 916- 7 56 40 SPMGO7T308 98.9| 123.9| 208.1| 228.6
AJX08-20-2T-M10 33.3 MFL32-32-350-M16 1159' 6 57-59 40 SPMG090408 98.9| 123.9| 208.1| 228.6
AJX08-21-2T-M10 33.3 MFL32-32-400-M16 1428l 6 60-63 40 SPMG090408 103.3 136.9| 250.0| 271.4
AJX09-25-2T-M12 35.7 ) 64-66 40 SPMG090408 111.0 161.9] 280.0| 300.0
AJX09-26-2T-M12 35.7 . | 95 L 67-68 40 SPMG110408 111.0 161.9] 280.0| 300.0
AJX09-28-2T-M12 35.7 %‘,Zﬁf“?” K70 170 210 el '””'gg—m 40 | SPMG110408 | 114 4 173.9| 290 0| 328 6
AJX12-30-2T-M16 40.4 ' IR LEXG D19R TG nJD0|‘7§WD><T /GPMT ... 7INWUY 'T> D'X2N 02102 ,NININO NIINON 1'AN 'R 2IC
AJX12-32-2T-M16 40.4  « Lock teeth type tool stock Specifi cation are complete h '
AJX12-35-2T-M16 47.6  piease inquire for DDA not listed. Plus WDXT../GPMT... Type Stock Quick Drill Commodity, Welcome To Inquire!

1T ,n7amn T %70 ')k 'nn un.
['02 1'NN NPoY Y7IT MIEn 71T,

2"NIT N7w KIN,NI7RW 17 wr ox: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

Dnywn '

Boring Tool

a¥In NN AL I R R NBH2084 Dnywn > T HBOR DOVYN [TV |11
(DNYWN N1Y:8-280mm) " TV 12112 71*T) )NIN 0.002mm)
NP W7 WY MABHIOC |LBK1| 19-25 | 28.6 ' = _
AnNn onywn 0901NkBH25C  |LBK2| 25-33 28.6 i f-
Rounr Borime cuier | RBH32G  |LBK3[ 32-42 | 31.0 W \\ y
e RBH40C |(LBK4| 40-55 40. 4 NBH2084 Boring Tool (\ HBOR Fine-Tuning Boring \\
S ooz |mo| w20 et ooyen nuosgeomt Recuracy 0.003mm)
RBH68C |LBK6| 68-92 | 83.3  ftineduningAccur :
RBHO0C |LBKG| 90-172 | 1004 Range D
RBH120C |LBK&| 120-164 | 119.0 _
RBH160C | BST | 160-204 | 135.7 ~ DPYWN 23 'TNn HBOR25 Boring Cutter
RBH200C | BST | 200-310 |273.9  SBJ2008-32 811 8.6  HBOR25M (29-38) Boring head 29-38 | 666.7
RBH300C | BST | 300-410 |544.0  SBJ2010-40 10-13 8.6  HBOR25M(29-38) ack Boring 29-38 | 666.7
Insert:CCMT RBHA00C | BST | 400-510 |583.3  SBJ2012-53 12-17 | 8.6  BT30-HBOR25P 857.1
; - - 20. 4 - :
7N 0BH20 |LBKT| 2026 |135.7 53202083 20130 | 54  SKAO-HBOR25P 857. 1
PLTARID DnyYn CBH25  |LBK2| 25-833 1154.7  gBy2020-125 20-130 | 20 4  HSK63A-HBOR25P 976.1
21T Boring Cutter | CBH92  |LBK3| 132742 11163. 1 5B y2020-150 20-130 | 23.9  CA0602-09Tcarbise oring 2-3.2 | 59.6
! 9 CBH40  |LBK4| 40-55 |181.0
CBH52 LBK5 572-75 204 7 SBJ2020-200 20-130 28. 6 CA0603-16Tcarbide Boring 3-4.2 59.6
- — . — Carbide Boring —0. .
CBH100 |LBK6| 100152 273.9  sgy5075-150 25-135 | 23.9  CA0606-32Tcamide oring 6-7.2 | 59.6
CBH150 |LBK&| 150-202 |323.9
o200 | BsT el o140 3 SBJ2025-200 25-135 | 28 6  CB06050-21 ( CC03) 5-6 123.9
CBH300 | BST | 300-410 (821 4 $py5030-173 105G Chocosael  coon | e | 129
- - 23.9 5 = :
CBH400 | BST | 400-510 1919.0  $BJ2030-200 30-140 | 28 6  CB06065-31 ( €C03) | 6.5-7.5 | 123.9
CBH500 BST | 500-610 |1023.9 ggjﬁg%g_h—m 120-280 8 6 ©B06070-31 ( ©C04) 7-8 123.9
EWN20 | CK1 | 20-36 [123.9 - 1207400 | 23.9 'LBOR32 Boring Cutter
B oGl e 1155 onventamn HBOR32M (36-52) sornoneas | 36-52 | 800
EWN41 CK4 M-74 1631 NBH2084&0ring head 8-280 138.1 HBOR32M (36-52) gack Boring 36-52 800
Fine-Tuning » R8-NBH2084-8P 8-280 | 233.3 )
Accuracy 0.01mm Ewmgg gEg 6583—19550 1;3 2 NT30-NBH2084-8P 8-280 | 233 3 HBORA4O0 Boring Cutter
EWNTOO | K6 | 100-203 |214 3 ~ NT40-NBH2084-8P 8-280 | 233.3  HBORAOM (44-68) Boring head 44-68 | 833.3
T v g;ig—mgngggj—gg 8-280 | 309.6  HBOR4OM (44-68) Back Boring 44-68 | 833.3
T 2| EWN1-1 20-25 | 13.1 - - 8-280 | 233.3 ,
0NYYN 175 Clamp | CBH1-2 25-31 | 131  BT50-NBH2084-8P 8-280 | 2739 HBORS0 Dnvwn:7>7Tia
CBH1-3 30-36 | 13 1 SK40-NBH2084-8P 8-280 | 278 6 HBOR50BM (57-90) soringhead | 57-90 | 742.9
CBH2-1 25-33 13.1 SK50-NBH2084—-8P 8—28() 309. 6 g?gg5gggr‘(’gg—(gg) 3;3:; Boring 567—9900 ;g% ‘1?
ggﬁ%_% gg_ig 12 1 NBJ16 DNYWN 7 BT30-HBOR50 (06-90) -14P 690 |1190.4
CBH3-1 32-42 13.1 (DNYwn NiY:8-50mm) BT40-HBOR50 (06—90) 6-90 857.1
CBH3-2 21-51 |13 1 / BT48-HB8R58 Egg—ggg-mp 6-90 | 1190.4
_ a ' BT50-HBOR50 (06~ 6-90 | 904.7
o e 1131 NBut6 Boring Tool ////ﬁ \\\\:\§§ BT50-HBOR50 206—903—14P 6-90 |1273.9
z - - ' (DNYWn NiY: 8-50mm) SK30-HBOR50 (06-90) -14P 690 |1273.9
/ {: ggﬁj_é 2(1)_(7)2 121 Fine-Tuning Accuracy 0.01mm SK40-HBOR50 (06-90) —14P 6-90 1273.9
= CBH5-1 53-70 | 13 1 SK50-HBOR50 (06-90) 6-90 | 904.7
CBH5-2 65-82 | 13 1 015N SERE SN SK50-HBOR50 (06-90)-14P | 6-90 | 1273.9
CBH5—3 78—95 13 1 nnywn 'I73 p'rnn HSK63A—HBOR50 (6_90) _14P 6_90 1309 6
CBHO-1 16080_110503 B 1 SBJ1606-24 6-9 8.6 HBOR63 Dnywn 75 174N
CBH6-2 94-126 | 131 SBJ1608-32 8-11 8.6 HBOR63BM (70~110) soringhead| 70110 | 804. 7
126-179 | 13 1 SBJ1610-40 10-13 | 8.6 HBOR63BM(110-150) corngreee | 110-150 | 804. 7
CBH6-3 118-150 13.1 SBJ1612-53 12-15 8.6 HBOR63BM (70—1 10) Back Boring 70-110 804.7
P 150-203 | 13 1 SBJ1614-60 14-17 8.6 HBOR63BM (110-150) saccsoing | 110-150 | 804. 7
: SBJ1616-68 16-21 8.6 NT40-HBOR63 6-150 |1071.4
BEO9A M5 167 SBJ1620-83 20-26 8.6 NT40-HBOR63 (6-150)-15P | 6-150 | 1381
BE10. 5A M5 167 SBJ1620-150L 20-26 | 23.9  NT50-HBOR&3 6-150 | 1119
onywn 7 BE12A Mo 167 SBJ1620-200L 20-26 | 28.6  NT50-HBOR63 (6-150)-15P | 6-150 |1428.6
- BE14A M6 16 7 SBJ1625-90 25-31 8.6 BT40-HBOR63 6-150 | 1071.4
BE16A M6 167 SBJ1625-150L 25-31 23.9  BT40-HBOR63 (6-150) 15P 6-150 | 1381
BE18A W0 167 SBJ1625-200L 25-31 28.6  BT50-HBOR63 6-150 1119
BE20A W0 16 7 SBJ1630-90 30-36 8.6  BT50-HBOR63 (6-150) 15P 6-150 |1428.6
BE22A Wo 167 SBJ1630-150L 30-36 | 23.9  SK40-HBOR63 (6-150) 15P 6-150 | 1381
BE24A 10 167 SBJ1630-200L 30-36 | 28.6  SK50-HBOR63 (6-150) 15P 6-150 |1428.6
BE26A W10 167 SBJ1635-90 35-41 8.6  HSK63A-HBOR63 (6-150) 15P| 6-150 |1452. 4
BE28A M10 16 7 SBJ1635-150L 35-41 23.9 Bor.\ng Accessories
BE30A M10 16.7 SBJ1635-200L 35-41 28. 6 Boring Accessories
BE32A 10 190 SBJ1640-90 40-46 8.6 BR1606-21 (WBGT0601. . L) 6-9 23.9
BE34A Wo 190 SBJ1640-150L 40-46 | 23.9  BR1608-28 (TBGT0601. .L) 8-11 23.9
BE36A Mo |23 9 SBJ1640-200L 40-46 | 28 6  BR1610-35(TBGT0601..L) | 10-13 | 23.9
BE38A W10 239 SBJ1645-90 45-51 8.6  BR1612-42(TP..09..L) 12-15 | 23.9
BEAOA Wo 239 SBJ1645-150L 45-51 23.9  BR1614-50(TP..09..L) 14-17 | 23.9
- SBJ1645-200L 45-51 | 28.6  BR1616-60 ETP. . 09. . L; 16-20 | 23.9
¢ DOnnn 71NY EG _ BR1620-65(TP. . 11. . L 20-24 23.9
Eg]gﬁ’g - ]j- g onywn 75> A Tan BR1624-68 (TP. . 11..L) 24-28 | 23.9
EC Conversion Sleeve EC1612 _ 14 3 BM5 35.7
EC1614 S 45 NTaosasieses-12p o Rl U 2838 | 357
: - —55— — . RTP3652 (TP. . 09. . L 36-52 | 35.7
. NT50-SBJ16-65-12P 8-50 | 233.3  SRTP4468(TP..09..L 44-68 | 41.7
|°D°r:;$n“:;9 ST08-W5-100L M5 59.6  BT30-SBJ16-55-12P 850 | 2333 BM8 ( ) A
Turgsten Steel STI0-WO=110L | M6 69.0° BT40-SBJ16-55-12P 8-50 | 309.6 SRTP70110(TP..11..L) 70-110 | 47.6
Boring Bar ST12-W6-120L M6 88. 1
ST12-46-150L M6 107 1 glgg:ggj}gzggjgg g—gg %gg g SRTP110150 (TP. . 11..L) | 110-150 | 47.6
e | O[14WOTOO0L | M6 119.0 SK40-SBJ16-60-12P 8-50 | 278.6
ST1eMo-1g0L| Mo |13 SKSOSBUIEES-1P | 850 | 309.6

1'aT,n%amn mT 270 'k v'nn un.

25 1'02 ' APOoY N7IT MiIpn 17T,
7"XIT NYw KIX ,NI7RW 17 W' Dx: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

Dnywn '7D

Boring Tool

BSA 1nNn nmyﬂm ANNN DNYYN 0901NN Holder BST/NBH ) 7'tn LBK Toolholder CK'"?D
Rough Boring Cutter Holder LBK Toolholder CK Toolholde
BSA Rough =N BST/NBH
Boring Cutter .'\ | o Toolholder /
vr/ 015N ‘Q a'Nn U'\.‘)D a'nn ‘
TBS910-36-L | TP09| 11.9  BT30-NBH2084 35.7 Ny
ToSo3at [fo11| 119  Na0-NaHzoma %

_ \ -65-L | TP . - . L BK1— _OK{—
BT40-BSA25-120 | 47.6  IBSSR7OSTh | IFHTI 110 \rA0 Ntoo84 32, BT30-LBK1-55 21.0  BT30-CK1-55 35.7
BT40-BSA30-150 | 47.6  1pZl078em- | ol 1 NT50-NBH2084 714  BT30-LBK1-70 21.0  BT30-CK1-70 35.7
BT40-BSA38-165 50.0 TBS919-70-L TC16 19' 0 SK40-NBH2084 35.7 BT30-LBK2-80 21.0 BT30-CK2-80 35.7
BT40-BSA42-165 | 50.0 e : SK50-NBH2084 71.4  BT30-LBK3-80 21.0  BT30-CK3-80 35.7
BT40-BSA50-165 | 53.6 %23}3_3& %2 1328 BBT48:NBH§884 ;?3- 7 BT30-LBK4-70 21.0  BT30-CK4-70 35.7
BT40-BSAG2-180 | 63.1  TBS919-105-L |TC16| 23 9  ERIS0NEHZ08M .-} BT30-LBK5-70 21.0  BT30-CK5-70 35.7
BT40-BSA72-180 | 71.4  TBS925-100-L |TC16[31.0  GAT50-NBH2084 05 o BT30-LBK6-60 21.0  BT30-CK6-60 35.7
BT40-BSA90-180 89.3 TBS925-135-L |TC16| 38.1 HSK63A-NBH2084 154.7
BT50-BSA25-135 | 81.0 — HSK100A-NBH2084 214.3  BT40-LBK1-75 21.0  BT40-CK1-75 35.7
BT50-BSA30-165 | 81.0 vl TesoR] S040-NBH2084 46.4  BT40-LBK1-105 | 21.0  BT40-CK1-105 35.7
BT50-BSA38-180 | 83.3 ——— (5050 MNEtigoo4 927 BT40-LBK1-130 | 28.3  BT40-CK1-130 44.7
BT50-BSA42-210 | 83.3 020-NEtiaped 017 BTAO-LBKI-165 | 357 BT40-CK2-75 35.7
BT50-BSA50-180 | 86.9 TBS910-36-R | TPO9| 11.9 MT4-NBH2084 47,9  BT40-LBK1-195 59.6  BT40-CK2-115 35.7
BT50-BSA50-240 | 92.9  TBS910-45-R |TP09| 11.9  MT5-NBH2084 50.4  BT40-LBK2-85 21.0  BT40-CK2-130 4.7
BTS0-BSA62-195 | 95.3  TBS913-48-R |TPi1| 119  NTE-NBHa0B4 667 BTO-LBK2-115 | 21.0  BT40-CK3-80 35.7
BT50-BSA62-270 | 107.1  TBS913-65-R | TP11| 11.9 - -9 BT40-LBK2-130 | 28.3  BT40-CK3-100 35.7

40— MTBA4-NBH2084 42.9 oo rac

BT50-BSA72-195 19351. 30 %ggg}g_gg_g {EH l.g MBS _NBHa0ad 257 BTA0-LBK2-165 | 357  BT40-CK3-135 44.7
BT50-BSA72-285 : TBS9T680R TR 119 NTBe-NBH2084 24 7 BT40-LBK2-200 | 59.6  BT40-CK3-155 44.7
BT50-BSA90-210 | 164.3  IBSSI8770°R 110101 19.0° Re-Nmioosa 357  BT40-LBK3-95 21.0  BT40-CK4-75 35.7
BT50-BSA90-300 | 208.3  13370d7J7R |01 170 BTAO-NBH2084-100L | 59.6  BT40-LBK3-125 | 28.3  BT40-CK4-100 35.7
BT50-BSA105-195| 2976 18S019-105-R | 1016|239  DIAONBH2084-150L | 904 BT40-LBK3-165 | 35.7  BT40-CKA-150 44.7
BT50-BSAT05-285| 381 0 TBS925-100-R |1016| 31 0  ClagoNS2084-200L | 1190 BT40-LBK3-210 | 59.6  BT40-CK4-170 53.6
BSA nnn DnUwn 050inn  TBSIZ5-135-R |TC14| 38 1 Brag Nosged—igol | oo 4 BTAO-LBKA-85 | 21.0  BT40-CK5-60 35.7
BT50-NBH2084-200L | 119.0 BT40-LBK4-115 21.0  BT40-CK5-100 35.7
BSA Rough . BT50-NBH2084-250L | 145.9 BT40-LBK4-130 | 28.3  BT40-CK5-150 44.7
Boring Cutt?""’" - BT40-BST—70 56,7  BT40-LBK4-150 | 28.3  BT40-CK6-65 35.7
\ V19N BT40-BST-100 66.7  BT40-LBK4-175 | 35.7  BT40-CK6-100 35.7
BT40-BST-150 77.4  BT40-LBK4-22 59.6  BT40-CK6~1 44.7

Ay '] BT40-BST-200 85.7 BT48—LBK5—750 21.0 e
0BS910-36-L 9 Br2o-bei—1o8 6] BT40-LBK5-125 | 28.3  BT50-CK1-115 | 75.0
CBS910-45-L 9 BT50-BST-200 833 BT40-LBK5-175 | 35.7 BT50-CK1-145 82.1
BSA30-42-LBK2 | 27.4 9 BT50-BST-250 107.1 BT40-LBK5-235 | 59.6  BT50-CK1-200 95.3
BSA38-52-LBK3 | 28 6 9 BT50-BST-300 119.0  BT40-LBK6-65 21.0  BT50-CK2-105 75.0
BSA50-65-LBK4 | 33.3 -9 E}gg;gg}j‘gg ]gg g BT40-LBK6-115 | 21.0  BT50-CK2-135 82.1
BSA62-90-LBK5 | 41.7 : g B120-BST—450 io0 % BT40-LBK6-150 | 28.3  BT50-CK2-165 78.6
BSA72-110-LBK6 | 51.1 0 BT50-BST-500 738 1  BT40-LBK6-165 35.7  BT50-CK2-235 95.3
"0 SK40-BST-100 929 BT40-LBK6-240 | 59.6  BT50-CK3-110 75.0
BSB 1NNnN DNywn 0501Nn 9 g&gg_gg¥_} 88 1922399 BT50-CK3-140 82. 1
Bomng Cur 0 Sewesis0 | 29 Grsoliekous | oo ¢ B130-03-290 | 140 7
N SKB0_BST_250 155 7 BT50-LBK1-200 | 80.4  BT50-CK3-300 140.7
\ —— BT50-LBK2-110 | 53.6  BT50-CK3-350 189.3
LBKTIN N2NN .a BT50-LBK2-140 | 59.6  BT50-CK4-100 75.0
LBK Extension Rod _ | BT50-LBK2-175 | 654  BT50-CK4-160 78.6
CBS908-23-R 0 _____ BT50-LBK2-235 | 108.3 BT50-CK4-205 101.0
019N CBS908-30-R 9 BT50-LBK3-125 | 53.6  BT50-CK4-270 140.7

_ _ 47 R 9 e 710 BT50-LBK3-140 | 59.6  BT50-CK4-300 140.7
Eﬁg_ggggg_}gg 47 2 R o HER 119 BT50-LBK3-155 | 59.6  BT50-CK4-350 189.3
BT140-BSB50-125 | 53.6 R 9 LBK3-3-30 14.3  BT50-LBK3-185 | 65.4  BT50-CK5-90 75.0
BT40-BSB62-180 | 62.6 R .9 LBKa4-45 145 BT50-LBK3-215 | 75.0 BT50-CK5-165 | 78.6

' R .9 LBKa-4-60 190 BT50-LBK3-255 | 91.7 BT50-CK5-210 | 101.0
BT40-BSB72-165 | 71.4 R o LBK5-5-60 19.0 :
BT40-BSB90—-180 89.3 R 0 LBK5-5-90 21.4  BT50-LBK3-290 108.3 BT50-CK5-270 140.7
BT50-BSB25-135 | 80.4 R ) LBK6-6-60 21.4  BT50-LBK3-300 | 108.3 BT50-CK5-300 140.7
BT50-BSB38-180 | 81 9 R o LBKe-6-100 214 BT50-LBK3-350 | 148.9 BT50-CK5-350 | 189.3

: - LBK6-6-120 29.7 —LBKS- —CKS-
BT50-BSB50-180 | 86 4 5-R Ry T ey BT50-LBK4-115 | 53.6  BT50-CK6-95 75.0
BT50-BSB50-240 | 92.4 CBS925 100-R .0 BT50-LBK4-145 59.6  BT50-CK6-155 78.6

_ _ \ CBS925-135-R 1 @ BT50-LBKA-160 | 65.4  BT50-CK6-215 101.0
BT50-BSB62-195 | 95.3
BT50-BSB62-270 | 107. 1 — - X BT50-LBK4-205 | 75.0  BT50-CK6-250 140.7
RTS0-RSR72-195 | 104 3 [1ese. \@hes LBK Conversion Slee BT50-LBK4-255 | 91.7 BT50-CK6-300 | 140.7
BT50-BSB72-285 | 140.0 - S BT50-LBK4-305 | 108.3 BT50-CK6-350 189.3

’ 019N bl BT50-LBK4-350 148.9
BL50-BSB90-210 | 163. 2 LBK2-1-36 310 BT50-LBK5-105 | 53.6 CKTIA nanan
BT50-BSB90-300 | 208.3  TBS410-45 TPO9| 1.9 LBK3-1-41 31.0 :
BT50-BSB105-195| 297.9 TBS410-50 TPO9| 11.9  LBK3-2-37 310 BT50-LBK5-180 65.4  CK ExtensionRod
BTS0-BSB105-285| %63 1 (RRNETSS |11 Lbka-2s0 %7 BIoO-LbKo200 | 106
- . -2- .7 BT50-LBK5-300 | 108.3 i
BSB-LBK JNNN DNYWYN 090INTBS419-90 TC16| 19.0 LBK4-3-50 35.7  BT50-LBK5-350 148.9 _ |
BSB-LBK Rough %gﬂgj%g %812 ;Z (1) tgﬁg:;:gg ig: j BT50-LBK6-95 53.6 —
Boring Cutter ' LBK5-2-74 40.4  BTS0-LBK6-155 | 65.4
LBK5-3-47 404 BT50-LBK6-170 | 65.4
LBK5-3-72 40.4  BT50-LBK6-230 | 75.0  CK1-1-30 29.7
tgﬁg—j—g 38- j BT50-LBK6-290 108.3  CK2-2-30 29.7
Vg -4 BT50-LBK6-350 | 148.9  (K3-3-30 29.7
CBS408-30 9 LBK6-1-70 46 4
- LBK6-2-63 46.4 CK4-4-45 35.7
A 7 IBK6-2-93 500 HSK63A-LBK1-105| 148 9  CKa-4-60 35.7
BSB25-52-LBK2 | 27-4  (BS410-50 o LBK6-3-56 46,4  HSK63A-LBK2-115| 148.9  CK5-5-60 38.9
BSB38-70-LBK3 | 28.6 _ ' LBK6-3-96 56.0  HSK63A-LBK3-125| 148.9  GK5-5-90 44.7
CBS413-60 -7 LBK6-4-51 46. 4
BSB50-90-LBK4 32.9 CBS416-75 9 LBKa—4—-101 5o o HSKE3A-LBKA-115| 148.9  CK6-6-60 38.9
BSB62-90-LBK5 | 41.7  CBS#19-115  [CC12[ 190 [BKe 5-a1 700 HSK63A-LBK5-125| 148.9  CK6-6-100 44.7
BSB72-135-LBK6 | 59.6  CBS425-130  [CC12|38. 1  [BKe-5-91 540 HSK63A-LBK6-115| 148.9  CK6-6-120 59.6

1T ,n720n M1 27 'Kk nn un.
'02 ' APoY 7T MiIEn 17T,

2"XIT NYw KIX ,NIZRW 17 W' or: eva@mzgtool.cn

N
(@)

http://www.mzg.tw


http://www.mzg.tw

725 7'thn CNC

CNC Tool Holder

ER VY177 Toolholder — ER VY1 FMB 7'TAN '72 DI01) D19 "UN
ER Collet Toolholder NO. xColletxA/MxL ER Extension Collet FMB_Metric Face Milling Tool Holder
R8-ER25 17.1 vnon
R8-ER32 17.1 MY, sehdb D
R8-ER40 19.7 BT30-FMB22-45 14.6
MTB3-ER20 16.0 BT30-FMB22-60 14.6
mgg—gsgg 1(77 <1) BT30-FMB22-100 18.6
-~ . . . BT30-FMB27-45 14.6
MTB4-ER25 17.1 [N LA BT30-FMB27-60 14.6
MTB4-ER32 18.6 SRS N S BT30-FMB27-100 18.6
05N " MTB4-ER40 22.4 BT30-FMB32-45 16.0
NO. xColletxA/MxL 1} MTB5-ER40 26.4 BT30-FMB32-60 16.0
NT30-ER25 17.1 BT40-FMB22-45 17.1
BT30-ER11-70 16.0° NT30-ER32 17.1 BT40-FMB22-60 17.1
BT30-ER11-100 16.0 NT30-ER40 19.7 BT40-FMB22-100 18.6
BT30-ER16-70 18.6  NT40-ER25 17.1 BT40-FMB22-150 22.4
BT30-ER16-100 18.6  NT40-ER32 17.1 glig—mggg—ggg 3.1
BT30-ER16-150 19.7 __NT40-ER40 19.7 -FMB22- .
BT30-ER20-70 18. 6 1S020-ER16-35MS 40. 4 . BT40-FMB22-300 61.0
== 15025-ER20-35MS 404 DK/ D3 nmen BT40-FMB22-350 74.0
BT30-ER20-100 18.6 il
BT30-ER20-150 107 IS030-ER32-42 27.4 &R wrench/Nuts BT40-FMB27-45 17.1
: 1S030-ER32-60 27.4 BT40-FMB27-60 17.1
BT30-ER25-70 186 TTHSK32E-ER16-050MS 82.1 BT40-FMB27-100 18.6
BT30-ER25-100 18.6 " HSK32E-ER20-050MS 82. 1 ( V ’ BT40-FMB27-150 23.9
BT30-ER25-150 19.7 HSK32E-ER20-060MS 82.1 b BT40-FMB32-60 17.1
BT30-ER32-70 18.6 ~ER25- 821 " P BT40-FMB32-100 171
BT30-ER32-100 18.6  BT30-GER16-70 21.4 BT40-FMB32-150 23.9
BT30-ER32-150 19.7 BT30-GER16-100 21.4 BT40-FMBA40-60 19.7
BT30-ER40-80 17.1 BT30-GER20-70 21.4 05N Wrench BT40-FMB40-100 21.1
BT30-ER40-100 17 1 BT30-GER20-100 21.4 Collet BT40-FMB40-150 26.4
' BT30-GER25-70 214 ER8A/M 2.6 4.0 BT50-FMB22-60 39.7
I BT30-GER25-100 214 ER11A/M 14 1.7 BIS0ghME 225100 3.7
BT40-ER11-70 21.1 BT40-GER16-70 M4 : : BT50-FMB22-150 50.3
BT40-ER11-100 21.1 o _ ' ER16A/M 1.7 1.7 BT50-FMB22-200 61.0
BT40-GER16-100 214 ERooA/M 17 g BTo0 iz 200 oy
BT40-ER16-70 21.1 BT40-GER20-70 23.9 : : -
BT40-ER16-100 21.1 - - ER25UM 2.6 2.6 BT50-FMB22-300 100. 4
. BT40-GER20-100 23.9
BT40-ER16-150 22.4  BT40-GER25-70 23.9  ER32UM 3.1 3.1 BI50gEME 228850 119.0
BT50-FMB22-400 132.4
BT40-ER16-200 37.1  BT40-GER25-100 23.9  ER40UM & 40 BT50-FMB22-450 153.3
BT40-ER20-70 21.1 BT40-GER32-70 23.9 ER50UM 15.3 BT50-FMB22-500 185.3
BT40-ER20-100 21. 1 « BN ER 239 BT50-FMB22-550 211.7
BT40-ER20-150 22.4 ER'DN2NIN V7P BT50-FMB22-600 238.1
BT40-ER20-200 37.1 ER ColletExtension Toolholder FMB 7'TNN '72 DI0NY' Y1'X BT50-FMB27-60 39.7
BT40-ER25-70 21.1 Collet . i BT50-FMB27-100 39.7
& _ o e FMB Inch Face Milling Tool Holder BT50-FMB27-150 529
BTA0-ER25-100 2 D NO BT50-FMB27-200 63.6
Ell etz opilol 2.4 / o BT50-FMB27-250 84.7
BT40-ER25-200 37.1 AW \ L e BT50-FMB27-300 103. 1
BT40-ER32-70 21.1 ‘ : BT50-FMB27-350 119.0
BT40-ER32-100 21.1 019N BT50-FMB27-400 145.4
BT40-ER32-150 22. 4 DxColletxA/MxL BT50-FMB32-60 42.4
BT40-ER32-200 37.1 C10-ER8-100 _ BT50-FMB32-100 45.0
e T b = O
BT40-ER32-300 74.0 ~ER8- : ~FMB32- :
BT40-ER40-80 19.7 C12-ER8-150 10. 4 BT50-FMB32-250 87.4
BT40-ER40-100 19.7  G127ER117100 67 a0 Flibaa 300 Y
BT40-ER40-150 239 G16-ER11-100 67 BT50-FMB40-100 45.0
BT40-ER40-200 39.7 C16-ER11-150 6.7 015N BT50-FMB40-150 58. 1
C16-ER16-100 6.7 NO. xdxL BT50-FMB40~200 68.9
BT50-ER16-100 39.7 C16-ER16-150 6.7 R8-FMA25. 4 17.1 BT50-FMB40-250 90.0
BT50-ER16-150 50.3  C16-ER16-200 119 R8-FMA31.75 171 g%g-mggg-ggo 1 81 2-70
BT50-ER16-200 63.6  C16-ER16-250 16,0 020-FMB25. 4 17 1 ~FMB6O- :
BT50-ER20-100 39.7  H6ERa0100 &7 NT50-FWA31.75-75 43 6 DIOOTTHBSOTI0 s
BT50-ER20-150 50.3 ¢ FR20-200 9 NT50-FMA38.1-75 436 R8-FMB22 16.0
BT50-ER20-200 610 ()0-ER20-100 67 NT50-FMA47. 625-75 92.6  R8-FMB27 16.0
BT50-ER20-250 81.9 i i NT50-FMA50. 8-75 55.4 R8-FMB32 17.1
C20-ER20-150 6.7
BT50-ER20-300 100. 4" 620-ER20-200 11,9 BT40-FMA25. 4-60 17.1  R8-FNB40 19.7
BT50-ER25-70 39.7 C20-ER20-250 16.0 BT40-FMA25. 4-100 19.7 G20-FMB22 16_ 0
BT50-ER25-100 397 G20-ER16-100 6.7 BTAO-FMA31. 75-60 18.6 oo Fhe 150
BT50-ER25-150 50.3  C20-ER16-150 6.7 BT40-FMA31. 75-100 19.7  coaea? o
BT50-ER25-200 61.0  C20-ER16-200 1.9 BTAO-FMA3S. 160 1907 ooariaas 7
BT50-ER25-250 84.7  C20-ER16-290 160 BT40-FMA38. 1-100 211 C25-FMB32 17.1
BT50-ER25-300 100.4  GZ0-ERTIZ100 23 BT50-FMA25. 4-60 424 C32-FWB22 18.6
e 39.7 ER25- ' BT50-FMA25. 4-100 42.4  C32-FMB27 18.6
T C20-ER25-100 10.4 : : ¥
BT50-ER32-100 39.7 o i C32-FMB32 18.6
C20-ER25-150 10. 4 BT50-FMA25. 4-150 52.9 WT3-FMB22 17 1
BT50-ER32-150 50.3 (25-ER16-100 6.7 BT50-FMA25. 4-200 63.6  MISTFME2 i
BT50-ER32-200 61.0 (25-ER16-150 6.7 BT50-FMA25. 4-250 84.7 | \r3irvmes 1
BT50-ER32-250 81.9  C25-ER16-200 119 BT50-FMA25. 4-300 111 MTa-FMB22 1907
BT50-ER32-300 97.9 C25-ER16-250 17.1 BT50-FMA31. 75-60 43. 6 MT4-FNB27 19 7
- 126.9 e 67 BT50-FMA31. 75-100 43,6 NT4-FNB32 19.7
BT50-ER32-400 158.9  C25-ER20-150 67 BT50-FMA31. 75-150 56.9  NT30-FNB22 18.6
BT50-ER40-100 42,4 C257ER20-200 109 BT50-FMA31. 75-200 67.4  NT30-FMB27 18.6
EUSm L 529 (025-ER25-150 119 BT50-FMA31.75-250 87.4  NISO-FMBS2 180
BT50-ER40-200 636 (5 FR25-200 17.1  BT50-FMA31. 75-300 119.0 0
BT50-ER40-250 874 25-ER25-250 197 BT50-FMA38. 1-60 424 NIAOFMEZ7 e
BT50-ER40-300 105.7 " 25-ER32-100 14.6  BT50-FMA38. 1-100 45.0  NT40-FMB40 211
BT50-ER40-350 1296 625-ER32-150 17.1  BT50-FMA38. 1-150 59.6  NT50-FMB22 42.4
BT50-ER40-400 158.9 G32-ER32-100 4.6 BT50-FMA47. 625-75 84.7  NT50-FMB27 42.4
BT50-ER50-150 81.9 032-ER32-200 18.6 BT50~-FMA47. 625-200 198.3  NT50-FMB40-75 43.6
BT50-ER50-200 92.6 C32-ER32-250 22.4 BT50-FMA50. 8-75 55. 4 NT50-FMB32-150 52.9
BT50—-ER50-250 121.7 ~ GAO-ER40-100 19.7 0 i : NT50-FMB32-200 63.6
BT50-FMA50. 8-100 68.9
BT50-ER50-300 158 ¢  C40-ER32-100 17.1 : : NT50-FMB60-75 92.6
: C32-ER40-100 18. 6 BT50-FMA50. 8-150 79.3

1T ,n72mn M1 %70 'R 'nn 7un
- |'02 1'NN POy 71T MmiEn 17T,
2"XIT N7w KA ,NI7RW 17 W' ox: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

725 7'tnn CNC

CNC Tool Holder

GsSK I nNNida nin'an

21'T NNIAA Toolhol
BT A Joginglder

High ?1'T Toolholder

(¢} UI7I|7 ?TN Toolholder SDC Back-Pull U‘7||7 Toolholder SLN A10 V127 TX Toolholder

SDC Back-Pull Collet Toolholder

gy W

@ C Powerful Collet Toolholder SLN Side Fixed Type Toolholder

AL/VL

|
x

NO. xCol letxL

BT30-GSK10-60 20.3
g;gg:ggmg:zg %g g v1oN a'nn v1oN a'nn
BT30-GSK16-90 20'3 NO. xCol letxL usD NO. xCol letxL UsD vION
BT40-GSK10-60 23: 9 R8-C32 63. 6 BT30-SDC6-90 9.6 NO. xdxL
BT40-GSK10-100 23.9  NT30-C25 63.6 BT30-SDC8-90 -6 BT30-SLN12 16.
BT40-GSK16-60 23.9 mig:ggg 3.6 BT30-SDC10-90 596 BT30-SLN16 16.
BT40-GSK16-100 23.9 036 BT30-SDC12-90 59.6 " BT30-SLN20 16.
Collet SK10 7.1 mg:gg% (05", Br4o-spcg-90 636 BT30-SLN32 16.
colet SK16 90 o-cs2 1904 BT40-5DC10-90 3.6 BTAO-SLNO6-75 2.
Bearing Spanner 154 NT50-G32-105 92.6 | BT40-SDCO-120 /9.3 BT40-SLN10-75 21.
BT40-SDC8-120 79.3 _ i
NT50-C42-115 119.0 B E R 705 BT4O-SLN12-75 17.
MTA/B O IN Taper Toolholder BT30-C20-80 61.0 BT40-SDG12-120 79' 3 BT40-SLN16-75 17.
T vorse Taper Toolholder BT30-C25-80 61.0 B - BT40-SLN20-75 17.
BT30-C32-105 61.0 BT40-SLN20-150 25.
MTA ~ MTB Bra0-c20-90 610 Collet SDCO6 119 BT40-SLN25-100 17.
\\
_ BT40-C25-90 61.0  Collet SDCO8 1.9 BT40-SLN25-150 25.
- BT40-C32-105 55.4  ColletSDC10 131 BT40-SLN32-100 17.
; BT40-C42-100 105.7  Collet SDC12 13.1 BT40-SLN32-150 o5
vI9N il BT50-C20-105 92.6 BT40-SLN40-100 19.
NO. xMT. . xL usD BT50-025-105 92.6 Torsional tapping N1AN Toolholder BT50-SLN06-105 46.

BT50-C32-105 92.6

0
0
0
0
0
1
1
1
1
1
1
3
1
3
1
3
7
1
BT30-MTA2-75 16.0 - - Torsional Tapping Protection Toolholder BT50-SLN08-105 46. 1
BT30-MTA3-75 16,0 g0 ee2 1% 1055 BT50-SLN10-105 46.1
BT30-MTA4-75 16.0 BT50-032-200 145 4 BT50-SLN12-105 39.7
BT40-MTA1-120 26.4 BT50-C32-250 171.9 BT50-SLN16-105 39.7
BT40-MTA1-45 18.6 BT50-C32-300 224.7 J BT50-SLN20-105 39.7
BT40-MTA2-120 25.3 BT50-C42-115 119.0 BT50-SLN25-105 39.7
BT40-MTA2-60 16.0 BT50-C42-135 132. 4 BT50-SLN32-105 39.7
BT40-MTA3-135 25.3 BT50-C42-165 145. 4 BT50-SLN40-105 42.4
BT40-MTA3-75 16.0 BT50-C42-200 171.9 BT50-SLN40-150 52.9
BT40-MTA4-165 31.7 BT50-C42-250 211.7 BT50-SLN40-200 63.6
BT40-MTA4-90 17.1 BT50-C42-300 259. 3 BT50-SLN40-250 92.6
BT50-MTA1-120 55. 4 SK50-C32-110 171.9 BT50-SLN40-300 105.7
BT50-MTA1-45 43. 6 JT50-C32-110 171.9 NO. xCo ! | etxL UsD BT50-SLN50. 8-120 55.4
BT50-MTA2-135 52.9  ColletC20 3.6
BT50-MTA2-60 39 7 Collet C25 3.6 BT50-J4112 119.0 ©10-SLN4-100 22. 4
BT50-MTA3-150 5.9  ColletC32 3.6 | BTS0-Ja124 132.4° " (10-SLN4-150 22.4
BT50-MTA3-75 39.7  ColletC42 7.6 BT40-J4112 793 610-SLN6-100 22.4
BT50-MTA4—180 66. 1 Wrench G20/25/32/42 3.9 BT40-J4124 92. 6 C10-SLN6-150 22 4
BT50-MTA4-90 39.7  IRY YD mi_jﬂ 1% ;3 0 C12-SLN4-100 22. 4
BT50-MTA5-105 43.6  pX'¥ 727N Dixny N! MT5-4124 100 ‘1 G12-SLN4-150 22.4
BT50-MTA5-210 90.0 oo : g}%—gtug—}gg %% j
NT40-MTA2 18.6 ke —SLN6— .
NT40-MTA3 18.6 bl chuck Tap Collets C12-SLN8-100 22.4
NT40-MTA4 18. 6 GT312 China Standard 16.0 C12-SLN8-150 224
NT50-MTA1-45 43 6 GT312 Japanese Standard 18.6 C16-SLN10-100 22 4
NT50-MTA2-60 42 4 GT24 China Standard 19.7 C16-SLN10-150 22.4
NT50-MTA3-75 424 . GT24 Japanese Standard 22.4 C16-SLN6-100 22.4
NT50-MTA4-90 42.4 : . , ) C16-SLN6-150 22.4
NT50-MTA5-105 43.6 . Qi 10PN AN 7Y TN 19 0101 G461 Ng-100 22.4
U - 0 Side Milling Tool Holder of Saw Blade 01 6_SLN8_150 22.4
BT40-MTB1-120 26)4 [ I S 20-SLN10-100 25.3
BT40-MTB1-45 186 BT30-APU0S-80 37 1 €20-SLN10-150 25.3
BT40-MTB2-60 16.0 BT30-APU16-100 39.7 C20-SLN6-150 25.3
BT40-MTB3-135 25.3 BT40-APU08-100 371 C20-SLN8-100 25.3
BT40-MTB3-75 16.0 BT40-APU13-100 371 €20-SLN8-150 25.3
BT40-MTB4-165 31.7 BT40-APU16-120 39.7
BT40-MTB4-90 17.1 BT50-APU13-110 58.1 NT40-SLN12 19.7
BT50-MTB1-120 55.4  BT50-APU13-180 79.3 N0 Uc‘?ln . NT40-SLN16 19.7
BT50-MTB1-45 43.6  BT50-APU16-130 62.1 .ol lebx NT40-SLN25 19.7
BT50-MTB2-135 52.9 BT50-APU16-180 84.7  BT40-SCA22-90 65. 4 NT40-SLN32 19.7
BT50-MTB2-60 39.7 NT30-APU13-100 39.7  BT40-SCA25. 4-90 65. 4 NT50-SLN12 4.4
BT50-MTB3-150 52.9 NT40-APU13-100 39.7  BT40-SCA25. 4-120 83.3 NT50-SLN16 42.4
BT50-MTB3-75 39.7 NT30-APU16-120 42. 4 BT40-SCA27-90 65.4 NT50-SLN20 42.4
BT50-MTB4-180 66. 1 NT40-APU16-120 424 BT40-SCA32-90 65. 4 NT50-SLN25 4.4
BT50-MTB4-90 397 X' ¥ 720N nixny nyy1-1319.7 NT50-SLN32 2.4
BT50-MTB5-105 43,6 pNX ¥ '720n Dixny nmyy1-1623- 9 AprTan 'y Aty 175 maon NT50-SLN40-105 43.6
BT50-MTB5-210 90.0  C20-APU13 gl g Machine Tool Spindle Test Rod NT50-SLN42-105 47.6
NT40-MTB2 18.6  C20-APU16 g r —— \ NT50-SLN50. 8-120 55. 4
NT40-MTB3 18.6 C32-APU13 317
NT40-MTB4 18.6  RB-APUI3 343 1S020~11. 3-Probe 40.4
NT50-MTB1-45 43.6 WS 30 4 15025-11. 3Probe 40.4
NT50-MTB2-60 42.4  MISTAEHAS 30 4 15025-20~Probe 40.4
-MTB3-7 42.4 i BT30 92.9
NTS0-HTB4-00 42,4 (SR 1 B0 92,9  HSK32E-11.3Probe 82. 1
NT50-MTB5-105 13 6 IR 19 _ BT50 131.0

17,0721 mT 270 'k 'nn 7yn.
['02 "N NPoY Y7IT MIEn 17T,

2"NIT N7w KIN,NI7RW 17 wr ox: eva@mzgtool.cn

N
oo

http://www.mzg.tw


http://www.mzg.tw

CNC orax p'tnn 7>

CNC Tool Holder Accessories

72 7'TNN CNC Puller Bolt 72 [7'TNN CNC Lockset 22 7'TNN CNC Lockset
CNC Tool Holder Puller Bolt CNC Tool Holder Lockset CNC Tool Holder Lockset

tid

BT DIN69872 1S

7D 7'TNN CNC Lockset
CNC Tool Holder Lockset

m on 3
BT30-45° 1.4 NBT30 14.3 15020 59.6 BT30 17.9
BT30-60° 1.4 18025 59.6 BT40 19.0
BT30-90° 1.9 HSK25 59.6 BT50 38.1
BT40-45° 1.4 HSK32 59.6
BT40-45° ~in 0T 1.9 HSK40 71.4
BT40-60° 1.9 HSK50 71.4
BT40-90° 1.9 HSK63 83.3
BT50-45° 3.1 HSK100 119.0
BT50-45° N 7 32
BT50-60° 30 z-Axis Setter CNC Edge Finder TN M 'Y NADN 790
BT50-60° "in nT 3' 6 Z-Axis Setter CNC Edge Finder Machine Tool Spindle Cleaning Rod
BT50-90° 3' 6
DIN69872-30 3' 6
DIN69872-40 6. 0
DIN69872-50 4' 6
1S07388-30 4' 6
1507388-40 6. 0
1507388-50 3' 6
J186339-30 3' 6
J156339-40 50 .
J156339-50 3- 6 Photoelectric arn 70 NI'VIAN'VIXCeramic Photoelectric
MAZAK-BT40 6. 0
MAZAK-BT50 ’
Photoelectric Z-axis Setter | 61.9 220 type 2.4 BT30 3.9
ann Z-axis Setter 66.7 NI'VIAN'VIN type 3.6 BT40 3.9
mAp VAN type 10.7 BT50 5.4
Photoelectric type 13.3

1T ,n72mn M1 270 'k 'nn 7un.

29 ['02 1'NN POV YIT MiIEn 71T,
2"XIT NYw KIX ,NI7RW 17 W' or: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

D'7T'AxX nvnn Chuck

Lathe Chuck Accessories

PxX'x 7172 Sihn
Chuck T Block n'Tnn uUsD
inch 10.7
6 inch 11.9
8 inch 15.4
10 inch 19.0
12 inch 22.1
[I7'M No7n X" X
4 JAS 'nn Chuck Jaw Fixing Plate n'Tan ']LJQDD
4 inch SBL-204 | 435.3 | SB-204 | 435.3 | SBS-204 | - 5 T 61.9
5 inch SBL-205 | 435.3 | SB-205 | 435.3 | SBS-205 | 482.9 ,ﬁ & inch e
WnctaTa R’y |6 inch SBL-206 | 492.9 | SB-206 | 492.9 | SBS-206 | 561.9 i 2 8 el 107'1
8 inch SBL-208 | 544.0 | SB-208 | 544.0 | SBS-208 | 629.7 - D ot :
10inch SBL-210 | 697.6 | SB-210 | 697.6 | SBS=210 | 800.0 inc 115.4
Hollow Hydrautic Chuck| 12inch SBL-212 | 1190.4| SB-212 |1190.4| SBS-212 |1326.1 - T
R R T SBL-215 | 2642 9| SB-215 | 2642 9| SBS=215 |3000.0 'O TI7'X 723 pXIn
ooy 16 inch 2DTK-206 | 647.6 | 3DTK=206 | 647. 6 | 4ADTK=206| 714.3  solid Hydraulic D'Tnn
e Anorre |8 inch 2DTK-208 | 782.1 | 3DTK-208 | 782. 1 | 4DTK-208 | 869.0  Rotary Cylinder .
Hollow Hydraulic Chuck | 10inch 2DTK-210| 935.7 | 3DTK-210| 935.7 | 4DTK-210 | 1038. 1 i g !ncmgg;g;
WMWY (4 inch 3JDB—206 | 988. 1 E ne 131.0
N |8 inch 3JDB-208 | 1121. 4 , 8/10inch(1225) 150.0
Hollow Hydraulic Chuck 10inch 3JDB—210 1258. 3 12 InCh(1530) 1976
Si59n 5 inch SBL—205KQ| 595. 3 | SB=205KQ | 547. 6 |SBS—205KQ| 666. 7  ===rmio
s nomiae |6 inch SBL-206KQ 631 0 | SB-206KQ | 611 9 |SBS-206Ka| 714 3 170N 70
Hollow Halt-Through |8 inch SBL—208KQ| 714. 3 | SB-208KQ | 681.0 |SBS—208KQ| 788.1  toliow Hydraulic D'Tnn
Preumatic Chuck | 10inch SBL-210KQ| 785.7 | SB=210KQ| 750. 0 |SBS-210KQ| 908.6  Rotary Cylinder .
4 inch INL-04 | 428.6 | JN-04 | 401 1 g !ncﬂ(ﬁgg%
5 inch INL-05 | 452 4 | IN-05 | 409 6 inch(1036) 1273,
o ey |6 inch INL-06 | 500.0 | JIN-06 | 459 6 6 inch(1246) |306.0
IR TINAT X8 inch INL-08 | 547.6 | JIN-08 | 511.9 8 inch(1552) |357.1
Solid Hydraulic Chuck | 10pch INL-10 | 714.3 | JIN-10 | 666.7 10 inch(1875) |647.6
12inch INL-12 [1119.0] JN-12 | 1088. 1 12 inch(2091) 11309.6
15inch INL-15 IN-15 | 2309. 6 70T AR XY
5 inch| 1L-05 | 547.6| 2L-05 | 511.9 | 3L-05 | 595.3 !
v e ey |6 inch| 1L-06 | 595.3 | 2L-06 | 544.0 | 3L-06 | 642.9 Seck Connecting Disc S
~Long Stroke 8 inch| 1L—08 619.0 2L-08 542.9 3L-08 666.7 4 inch
Solid HydravlicGhuck 1 10jnch| 1L-10 | 833.3 | 2L-10 | 750.0 | 3L-10 | 881.0 5 el 214
ﬁlﬁnj‘;rxxwrr?:}7x'x 6 !nch JLS-206 | 892.9 6 inch 21.4
o St 8 inch JLS—208 | 940. 4 8 inch 357
Hollow Hydraulic Chuck | 10inch JLS-210 | 1038. 1 10 inch 47.6
12 inch 71.4

IRATA PRTXY 1Y nY7 NOY

Hard Jaw For D'mTan
Hydraulic Chucks
5 inch

6 inch 119.0

8 inch 131.0

». 10 inch 163.1

4uais | 2'nn 12 inch 204.7
15 inch 369.0

X'9

XTI K 6 inch| 3GB-06 | 720.3
YN 7IRT PR Y X . '
cbmpenSafisn'Solia |8 inch| 36B-08 | 839. 3 IRYT PR XY 112y no7n N 1|n
Vertical 5 inch JYL-05 | 738.1 [JY-05 | 714.3 [JYS—05 | 833.3  Fan Softyaw For D'TN USo
2090 IRATA PR Y 6 inch JYL—Oé 785.7 JY—06 761.9 JYS—Oé 904.7 Y 5 inch
Vertical Hollow 8 inch JYL-08 928.6 | JY-08 904.7 | JYS-08 976.1 6 inch
Hydraulie Chuck 1 {0 nch JYL-10  [1023.9|JY-10 | 988.1 | JYS-10 |1107.1 - Inc b
| Inc
. 5 inch SBL-205KQL| 714.3 | SB-205KQL | 690.4 |SBS-205KQL| 785.7 10 inch
20 Y 10NINID 1IN 6 inch SBL-206KQL| 773.9 | SB-206KQL | 750.0 |SBS-206KQL| 857.1 .
Hollow Half-Through |8 inch SBL-208KQL| 904.7 | SB-208KQL | 881.0 |SBS-208KQL| 952.4 12 inch
Vertical Pneumatic Chuck| 10inch SBL-210KQL| 976.1 | SB-210KQL | 952.4 |SBS-210KQL| 1071.4 15 inch
"IKAT'A PR X 12V 101 NoY
a°=120° a°=120° a°=120° a°=120° a°=120°
Soft Jaw For at/ 5 T R 'Yy ' vk 6 "2xaTn R 'Y 1w 'y 8 7T pr 'Y 1w ' Yk 10 "7 XY Ay 1 YR 12 "2 pr 'Yy 'y

Hydraulic Chucks \\‘/\\‘/ \

5 Inch Soft Jaw For Hydraulic Chucks 6 Inch Soft Jaw For Hydraulic Chucks 8 Inch Soft Jaw For Hydraulic Chucks 10 Inch Soft Jaw For Hydraulic Chucks 12 Inch Soft Jaw For Hydraulic Chucks

A
D'TAN H  MNNR pipn H  MNDR pipn v MNDR pipn W ovnn
usbD usb usb usbD

5H40 40 | 13.6 6H50 50 | 17.1 8H40 40 | 204 10H50 50 | 23.9 12H60 60 | 346

5H50 50 | 17.1 6HB0 60 | 20.4 8H50 50 | 204 10H60 | 60 |27.4 12H70 | 70 | 404
5H60 60 | 20.4 6H70 70 | 23.9 8H60 60 | 239 10H70 | 70 [31.0 12H80 | 80 | 4756

XATA FX ¥ A1 71 107 (71 5H70 70 | 23.9 6H80 80 | 28.9 8H70 70 |27.4 10H80 | 80 [34.6 12H90 | 90 |59.6

Standard  Soft Jaw For Hydraulic Chucks SH80 80 |39.3 6H90 90 |32.4 8H80 80 |31.0 10H90 | 90 |41.7 12H100 | 100 |73.9
5H90 90 |45.3 6H100 | 100 |37.6 8H90 90 | 35.7 10H100 | 100 | 50.0 12H120 | 120 | 80.0
5H100 | 100 | 51.1 6H120 | 120 |51.1 8H100 | 100 |42.9 10H110 | 110 | 54.7 12H150 | 150 | 94.0

4 inch 23 1103 6H130 | 130 | 56.0 8H120 | 120 | 51.1 10H120 | 120|596 "~ "o=iopf

5 inch 30 103 6H150 150 | 61.9 8H130 130 | 54.7 10H130 | 130 | 68.1 12mSM'W;NHymmlfmls Y

inch | 60° | 36 | 119 8H140 | 140 | 654 10H150 | 150 | 80.0

g 'i';‘;h o0° | 38 | 139 8H150 | 150 | 69.0 10H170 | 170 [102.4

10 inch |120°| 42 | 16.1 8H200 | 200 1135.7 10H180 | 180 11096 J5H100 | 100 [154.7

12 inch 50 | 274 “ 15H120 | 120 |170.3

15 inch 62 | 67.9 15H150 | 150 |257.1

1'nT,n72mn mT 770 'k 'nn 7yn.
i .
101 7'NN NPOY T N T

7"XIT NYw KIX ,NI7RW 17 W' ox: eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

AYRAIX ,Ap'o

Dongguan Ming Ze Hardware Machinery Co., Ltd.

Operation Center: No.42-1,# Article,Changrong International Machinery Hardnery Hardware Plaza,No.56,
Wusha Zhen'anzhong Road,Changan town,Dongguan city,Guangdong Province, China

TEL: +86-013929492387

(Wechat/Facebook/Twitter/Whatsapp/Linkedin)

FAX: +86-769-85359513

Website: http://www. mzg. tw
E-mail: eva@mzgtool. cn



	1: Machine Tools Price
	2: P1.Caibide End Mill
	3: P2.Cemented Carbide Cutter
	4: P3.Extrusion Screw Tap
	5: P4.Apex Tap
	6: P5.Spiral Grooved Tap
	7: P6.Hand Tap/Circular Die
	8: P7.CCMT/CNMG..
	9: P8.DCMT/DNMG..
	10: P9.SCMT/SNMG/TCMT/TPGH..
	11: P10.TNMG/TNGG..
	12: P11.VCMT/VBMT/VNMG..
	13: P12.WNMG..
	14: P13.Thread Turning Tool
	15: P14.Cut-Off/Grooving/Back
	16: P15.External Grooving
	17: P16.Inner Hole Grooving
	18: P17.MGMN Grooving/Cut-Off
	19: P18.End Face/Inner Hole Grooving
	20: P19.CNC Turning Tool
	21: P20.CNC Turning Tool Parts
	22: P21.APMT Right-Angle Milling Cut
	23: P22.RPMW Round Nose Milling Cut
	24: P23.R Face Milling
	25: P24.Insert Type Quick Drill
	26: P25.Boring Tool
	27: P26.Boring Toolholder
	28: P27.ER/FMB Toolholder
	29: P28.GSK/MT/APU/SDC/SLN
	30: P29.CNC Tool Holder Accessories
	31: P30.Lathe Chuck Accessories
	32: Contact Us

